Toomoco(Shenzhen) Precision Technology Co.,Ltd

Add : Room 902-905, Chang 'an building, no. 56, Houting Second
Industrial Zone, Sha Jing Street, Bao 'an district, Shenzhen City,518104
Web : www.toomoco.com

TEL : 0755-2300 6153

E-mali:liao@toomoco.com

0>0WoO0L

colld

®

P
(

N
)

T™C

TOOMOCO



Il Qur Faithfulness:
Profession,Reliability,Detailing.

Il Our Goals:

Devoted to mouldmakeing industrial and
aimed to be a reliable brand from China.

Trust——Dericed from Safetu,Reliability,High Quality and Cost-effective



SHESERT
Guide pins guide bush 1
series

EMNRF o
Location series

T4 % 51
Ejectorn pins

B A RE R R4

General mould components 4

fii ¥ 2 51 -
Demoulding series 5

REAS
::oling series




Nr./No. B Designation T Seite / Page
C1000 HASCO 200 S Guide pins 1.02
C1001 HASCO Zz01 S Guide pins 1.12
C1002 HASCO Z010 S Guide pins 1.15
C1004 HASCO Z011 NeF Angle guide pins 1.16
C1006 HASCO Zz013 S Guide pins 1.18
C1007 HASCO 2016 Neg Angle guide pins 1.19
C1010 HASCO Zz02 S Guide pins 1.20
C1011 HASCO z03 S Guide pins 1.22
C1012 HASCO Z04 S Guide pins 1.31
C1500 HASCO z10 SE Guide bush 1.40
C1501 HASCO Z1000W SE Guide bush 1.43
C1510 HASCO Z11 ] Guide bush 145
C1511 HASCO Z1100W SE Guide bush 1.51
C1513 HASCO Z13W g€ Guide bush 1.55
C1514 HASCO Z14W SE Guide bush 1.56
C1700 MEUSBURGER E1330 WHSE Steel ball guide bush 1.57
C1800 HASCO z12 MHKSE Steel ball guide bush 1.58
C1850 HASCO 713 WHRSE Steel ball guide bush 1.59
C2050 HASCO Z09...1 E IR Square interlocks 2.08
C2051 HASCO Z09.../3 ELR Square interlocks 2.09
C2100 HASCO Z060 E LR Square interlocks 2.10
C2102 HASCO Z080 ENLBR Square interlocks 2.1
C2103 HASCO Z082 E LR Square interlocks,DLC 2.12
C2105 HASCO Z085.../1 E LR Square interlocks 2.13
C2106 HASCO Z085.../2 E IR Square interlocks,DLC 2.14
C2200 HASCO z07 EALHR Square interlocks 2.15
C2201 HAscoO z17 ELBR Square interlocks 2.15
2202 HASCO Z071.../1 EfLHR Square interlocks 2.16
2203 HASCO Z072...11 TE LR Square interlocks 217
C2204 HASCO Z071.../12 E LR Square interlocks,DLC 2.18
C2205 HASCO 2072.../12 ELR Square interlocks,DLC 2.19
C2300 STRACK Z50 TR Square interlocks 2.20
C2301 STRACK z51 EIR Square interlocks,DLC 222
C2310 HASCO z18 E LR Square interlocks 224
C2311 HASCOZ19 E LR Square interlocks 2.25
C2320 STRACKZ46 E LR Square interlocks 226
C2400 MEUSBURGERE1304 ELBR Square interlocks 227




Nr./No. B Designation ¥ Seite / Page
C2401 MEUSBURGERE1304 ELBR Square interlocks,DLC 2.28
C2403 MEUSBURGERE1306 E LR Square interlocks,DLC 2.29
C2404 MEUSBURGERE1306 E LR Square interlocks,DLC 2.30
C2405 MEUSBURGERE1308 E LR Square interlocks,DLC 2.31
C2406 MEUSBURGERE1308 ELHR Square interlocks,DLC 2.32
C2410 MEUSBURGER E1320 EALHR Square interlocks 2.33
C2910 HASCO Z05 EE Round locating units 2.52
C3000 HASCO Z40 Tt Ejector pins 3.02
C3100 HASCO z44 B4 Ejector pins 3.06
C3101 HASCO z441 B4 Ejector pins 3.07
C3200 HASCO z46 mIRE Flat jector pins 3.09
C3201 HASCO 7465 RIE Flatjector pins 3.10
C3600 HASCO z45 ikl Ejector sleeves 3.13
C4000 HASCOZ48 BHE Date stamps 4.02
C4010 HASCO 4861 AHE Date stamps 4.03
C4020 HASCO z4800 gHiE Date stamps 4.04
C4400 STRACKZ7600 FRALFF 5% Limit switch 4.07
C4500 HASCO z491 =T Air valves 4.08
C4503 CUMSA VA | Air valves 4.11
C4810 HASCO Z38 =524 Shoudler bolt screwsvalves 4.13
C5120 HASCO z73 Z4£H Tool safety devies 5.07
C5200 STRACK 75130 PR 4 % Slide retainers series 5.08
C5201 STRACK 75134 PR 4 % Slide retainers series 5.09
C5210 STRACK Z5140 PR Az 3k Slide retainers series 5.10
C5220 HASCO z189 PRz 3% Slide retainers series 5.11
C5221 MEUSBURGER E3044 PR 4z % Slide retainers series 5.12
C5225 CUMAS RC PR 4 % Slide retainers series 5.13
C5226 CUMAS RM PRz 3% Slide retainers series 5.13
C5300 HASCO Z170 B Latch locks 5.19
C5301 HASCO Z170 BEH Latch locks,DLC 5.20
C5310 HASCO Z171 B Latch locks 5.21
C5311 HASCO z171 iR Latch locks,DLC 5.22
C5315 CUMAS GS SN Latch locks 5.23
C5320 HASCO Z174 BEH Latch locks 5.24
C5321 HASCO Zz174 M Latch locks,DLC 5.25




Nr./No. =x i Designation T¥ Seite / Page
C5325 MEUSBURGER E1809 R Latch locks 5.26
C5326 MEUSBURGER E1808 BiEH Latch locks 5.27
C5327 MEUSBURGER E1820 g Latch locks 5.28
C5330 STRACK z4 BEM Latch locks 5.29
C5335 STRACK Z5 BEM Latch locks 5.35
C5338 RABOURDIN REF M Latch locks 5.36
C5342 PROGRESSIVE PLC BB Latch locks 5.42
C5343 PROGRESSIVE PLC PIHEN Latch locks 5.42
C5410 STRACK Z3 WEiEN Latch locks 5.51
C5420 HASCO z173 RBiE Latch locks 5.54
C5430 MEUSBURGER E1840 PR Latch locks 5.55
C5500 CUMAS EP IR H Accelerated ejectors 5.56
C5510 CUMAS AE BEHH Early return mechanism 5.57
C5520 STRACK Z141 i3 TR Accelerated ejectors 5.59
C5550 HASCO Zz181 ) 4 & Slide units 5.60
C5551 HASCO Z1810 0 38 78 Slide units 5.61
C5552 HASCO Z1811 ) 4 785 Slide units 5.62
C5553 HASCO Z1812  #S Slide units 5.63
C5554 HASCO Z1813 ) 480 75 Slide units 5.64
C5600 STRACK Z4290 ) 4 Slide units 5.65
C5780 CUMSA BG RS AEEEE Angle pin housing 5.76
C5781 CUMSA GR RNEREEE Angle pin housing 5.77
C5800 HASCO Z169 —RTR Two-stage ejectors 5.85
C5810 HASCO 21691 TR Two-stage ejectors 5.86
C5825 MEUSBURGER E1860 ZRT Two-stage ejectors 5.87
C5830 CUMAS DX ZRTH Two-stage ejectors 5.88
C5840 HASCO 7163 SN Round latch locks 5.89
C5841 HASCO Z164 SuHE Round latch locks 5.89
C5860 CUMAS LR R BR AL HLAG Two-stage ejectors 5.92
C5861 CUMAS AL IREBR A AL Two-stage ejectors 5.92
C5880 HASCO 21500 RELMF Helical spindle 5.93
C5881 HASCO 71520 RELKE Helical spindle 5.95
C5900 CUMAS PW B S5TR Sprung cores 5.97
C5901 CUMAS PF 58 510 Sprung cores 5.98
C5902 CUMAS MP HSTR Sprung cores 5.99
C5910 MEUSBURGER E3200 ST Sprung cores 5.100
C5911 MEUSBURGER E3202 Hilss SN Sprung cores 5.101
C5920 CUMAS EE ik ST Slide stopers 5.102




Nr./No. EWR Designation ¥ Seite / Page
C7003 HASCO z94 HRE Pressure plugs 7.03
C7005 HASCO Z941 MR ZE Pressure plugs 7.04
C7006 HASCO 7942 HBRE Pressure plugs 7.04
C7100 HASCO z511 TED 0 Straight pivgbaffles 7.07
C7101 HASCO z512 T Surue bushing 7.09




®

TOOMOCO

»
2
—
(<))
(0p)
<
»
>
m
(V)
=
=]
o
o3
»
=
o

Guide




NN N NN A A

C1000
S

Guide pins
HASCO Z00

C1001

SH
Guide pins
HASCO Z01

C1002

S
Guide pins
HASCO Z010

C1004
Angle guide pins
HASCO Z011

C1006

S
Guide pins
HASCO Z013

c1007

FEE

Angle guide pins
HASCO 7016

Cc1010

S
Guide pins
HASCO 702

C1011
S

Guide pins
HASCO Z03

1.02

1.12

1.15

1.16

1.18

1.19

1.20

1.22

Cc1012 1.31
S

Guide pins

HASCO Z04

C1500 1.40
sx

Guide bush

HASCO z10

C1501 1.43
SE

Guide bush
HASCO Z1000W

C1510 1.45

SE
Guide bush
HASCO Z11

C1511 1.51
SE

Guide bush

HASCO zZ1100W

C1513 1.55

SE
Guide bush
HASCO Z13W

C1514 1.56
SE

Guide bush

HASCO Z14W

C1700 1.57

NHRSE
Steel ball guide bush
MEUSBURGER E1330

Seite/page

C1800
NHRSE

Steel ball guide bush
HASCO Z12

C1850

NHSE
Steel ball guide bush
HASCO 213

TOoOMOCO

1.58

1.59

1.01



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-2 O | N | | I | | A
L4 L5 +0.05
-0.5
L2 L1

Code L1 D1|L2 | D2|D3|L3|L4|L5 Code L1|D1| L2 |D2|D3|L3|L4| L5

€1000-9 -9- 20 20 C1000-17-10- 50 | 50

9 35 70

50 €1000-22-10- 25 25

€1000-12-9- 25 25 35

12 45 22 55

65 75

€1000-17-9- 20 20 95

" | 30 | €1000-27-10- 20 20

50 30

70 27 50

C1000-22-9- 25 25 10 | 70
35 g | 14|16 3| 43

22 55 C1000-36-10- 25 25

75 45

95 % 65

€1000-27-9- 20 % 20 85

30 C1000-46-10- 30 30

27 50 46 45

70 70

g0 | 4|16 343 C1000-56-10- 35 | o 35

C1000-36-9- 25 25 60

45 C1000-66-10- 45 | 66 45

36 65 C1000-17-14- 35 35

85 17 55

C1000-46-9- 30 30 75

46 45 95

70 C1000-22-14- 30 30

C1000-56-9- 35 35 50

% 60 70

C1000-66-9- 45 | 66 45 22 |14 [ 90
€1000-9-10- 20 20 110 20| B | 9T |6

9 35 125

50 150

€1000-12-10-25 25 C1000-27-14- 30 30

12 10 a5 45

65 27 65

€1000-17-10-20 | 20 85

30 105

1.02

TOOMOCO



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-3 O | U | R | R | A
(=] [m) 8 o 8
L4 L5 +0.05
-0.5
L2 L1
Code L1 | D1| L2 | D3 |D4 | L3 | L4 | L5 Code L1 |D1| L2 [D3 | D4 | L3 | L4 | L5
C1000-27-14-125 125 €3000-22-15- 70 70
27 145 90
165 22 110
C1000-36-14- 35 35 125
55 150
75 C3000-27-15- 30 30
36 o5 45
125 | 65 |
155 85
C1000-46-14- 35 35 27 105
45 125
65 145
46 85 165
105 C3000-36-15- 35 35
125 55
145 75
C1000-56-14- 35 4 35 36 95
55 125
56 75 155
951201259 | 7|6 C30004615- 35 15 5512025 9|76
135 45
C1000-66-14- 55 55 65
65 46 85
g6 95 105
125 125
C1000-76-14- 55| 55 145
95 C3000-56-15- 35 35
C1000-86-14- 55 86 55 55
95 56 75
C1000-96-14- 55| o 55 95
95 135
C1000-116-14-75 | 116 75 C3000-66-15- 55 55
C1000-17-15- 35 35 66 65
55 95
17
15 15 125
95 C3000-76-15- 55 | 55
C1000-22-15- 30| ,, 30 95
50 C3000-86-15- 55 | 86 55

1.03

TOoOMOCO



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-2 O | N | | I | | A
[m] [m)] 8 [m] 8
L4 L5 +0.05
-0.5
L2 L14

Code L1|D1|L2 | D2|D3|L3|L4|L5 Code L1|D1| L2 |D2|D3|L3|L4|L5
C1000-86 -15-95 | 86 95 C1000-46 -18- 85 85
C1000-96 -15-55 o6 | 15 55 | 0 | 9 46 105
95 135
C1000-116-15-75 | 116 75 165
C1000-17 -18-35 35 245
55 C1000-56 -18- 35 35
7 75 56 55
95 75
120 95
C1000-22-18- 35 35 135
45 155
65 C1000-66 -18- 35 35
22 85 55
115 66 75
135 95
C1000-27-18- 35 35 18 | 145
45 C1000-76 -18- 55 55
18 ["65 75
85 76 95

105 9|7 |86 a5 26 31| 9|7 |6
27 125 C1000-86 -18- 55 55
125 | 26 | ¥ 86 75
165 95
195 125
225 €1000-96 -18- 55 55
245 75
C1000-36-18- 35 35 96 95
55 115
75 135
36 95 C1000-116-18- 75 | 75
115 115
135 C1000-136-18-135 | 136 135
165 C1000-17 -20- 35 35
225 55
255 17| 075
C1000-46-18- 35 35 95
46 45 120
65 C1000-22 -20- 35 | 22 35

1.04

TOOMOCO



C1000

Si

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
=3 | | | R || A =
) o a el 8
L4 L5 +0.05
-0.5
L2 L1
Code L1 |D1|L2|D2|D3|L3|L4| L5 Code L2 |D1|L1|D2|D3|L3|L4| L5
C1000-22-20- 45 45 C1000-56 -20-155 | 56 155
65 C1000-66 -20- 35 35
22 85 55
115 66 75
135 95
C1000-27-20- 35 35 145
| 45 | C1000-76 -20- 55 55
65 75
85 76 95
105 135
27 125 C1000-86 -20- 55 55 | 26 | 31
145 20 75
165 8 95
195 125
225 C1000-96 -20- 55 55
245 75
C1000-36-20- 35 35 96 95
55 115
75 135
20 g5 263119716 C1000-116-20- 75 75 S| 7| ¢

36 116
115 115
135 C1000-136-20-135 | 136 135
165 C1000-17 -22- 35 35
225 17 55
255 75
C1000-46-20- 35 35 C1000-22 -22- 35 35
45 55
65 75
46 85 = 95

105 5y | 10530 | 35

135 130
165 C1000-27 -22- 35 35
245 45
C1000-56-20- 35 35 65
55 27 85
56 75 105
95 125
135 165

1.05

TOoOMOCO



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO 200

L3
A
-2 O | N | | I | | A
[m] [m)] 8 [m] 8

L4 L5 +0.05

-0.5

L2 L14

Code L1 |D1| L2 D2 |D3|L3|L4|L5 Code L1 |D1|12|D2|D3|L3|L4| L5
C1000-27-22-205 205 C1000-76 -22- 95 95
27 245 76 115
285 145
C1000-36-22- 35 35 C1000-86 -22-55 55
55 75
75 95
95 115
36 115 8 135
135 155
165 195
205 C1000-96 -22-55 55
245 75
285 95
C1000-46-22- 35 35 9 125
45 2 55
65 195
85 C1000-116 -22- 75 75
46 105 95
125 115
22 130359 |7 6 116 fag| 30| 3| 9|7 |6

205 155
245 195
C1000-56-22- 35 35 C1000-136 -22- 95 95
55 136 115
75 135
56 95 155
115 C1000-156-22-115 115
165 156 155
205 C1000-17 -24- 35 35
C1000-66-22- 35 35 17 55
55 75
75 C1000-22 -24- 35 35
66 95 55
125 % 75
155 2 95
195 105
C1000-76-22- 75| o 55 130
75 C1000-27 -24- 35 | 27 35

1.06

TOOMOCO



C1000

S8

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-3 O | U | R | R | A
[a} la) N [a]
L4 L5 £0.05
0.5
L2 L14
Code L1 | D1 | L2 D2 D3| L3 | L4 | L5 Code L1 | D1| L2 D2 | D3| L3 | L4 | L5
C1000-27-24-45 45 C1000-66 -24-95 95
65 125
85 66 155
105 195
27 125 C1000-76 -24-55 55
165 75
| 205 | 76 95
245 115
285 145
C1000-36-24-35 35 C1000-86 -24- 55 55
55 75
75 95
95 86 115
115 135
36 135 155
165 195
205 C1000-96 -24- 55 55
245 24 75 30 | 35
285 95
C1000-46-24-35 24 35 30 |35 9 7 6 96 125 ° 7 6
45 155
65 195
85 C1000-116-24- 75 75
46 105 95
125 115
165 116 135
205 155
245 195
C1000-56-24-35 35 C1000-136-24- 95 95
55 115
75 136 135
56 95 155
115 C1000-156-24-115 115
165 156 155
205 C1000-22 -30- 35 35
C1000-66-24-35 35 22 75
66 55 30 130 42| 47
75 C1000-27 -30- 45 | 27 45

1.07

TOoOMOCO



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-2 O | N | | I | | A
o o N ol g
L4 L5 +0.05
05
L2 L1
Code L1 |D1| L2 | D2 |D3 |L3| L4 | L5 Code L1 | D1| L2 |D2|D3|L3|L4|L5
C1000-27-30- 65 65 C1000-66 -30-205 205
105 66 245
o7 165 295
185 C1000-76 -30- 55 55
245 75
285 76 95
C1000-36-30- 55 | 55 | 115
75 | 155
95 225
115 C1000-86 -30- 55 55
36
155 75
205 95
245 86 115
285 155
C1000-46-30- 45 45 195
65 225
85 C1000-96 -30- 55 55
105 75
46 125 95
30 165 42 |47 | 9 | 7 | 6 % 30 15 42| 471 9 | 7 | 6
205 155
245 175
285 205
C1000-56-30- 55 55 C1000-116-30- 75 75
75 95
95 116 115
115 155
56 135 195
175 C1000-136-30- 95 95
205 115
245 136 155
295 195
C1000-66-30- 55 55 C1000-156-30- 95 95
75 156 115
66 95 155
115 C1000-176-30-135 135
176
135 175
175 C1000-196-30-115 | 196 115

1.08

TOOMOCO



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-3 O | U | R | R | A
[a} la) N [a]
L4 L5 £0.05
0.5
L2 L14
Code L1 | D1| L2 | D2 | D3 | L3 | L4 | L5 Code L2 | D1 | L1 | D2 | D3| L3 | L4 | L5

C1000-196-30-155 155 C1000-66 -32- 55 55
196 | 30 195 75

C1000-22 -32- 35 35 95
22 75 115

130 66 135

C1000-27 -32- 45 45 175
65 205
1105 | | 245 |

27 165 295

185 C1000-76 -32- 55 55

245 75

285 95

C1000-36 -32- 55 55 76 115
75 155

95 225

36 115 C1000-86 -32- 55 55

155 75

205 95

32 245 42 | 47 9 7 6 8 32 118 42 | 47 9 7 6

285 155

C1000-46 -32- 45 45 195
65 225

85 C1000-96 -32- 55 55

105 75

46 125 95

165 96 115

205 155

245 175

285 205

C1000-56 -32- 55 55 C1000-116-32- 75 75
75 95

95 116 115

115 155

56 135 195

175 C1000-136-32- 95 95

205 115

245 136 155

295 195

1.09

TOoOMOCO



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-2 O | N | | I | | A
[m] [m)] 8 [m] 8
L4 L5 +0.05
-0.5
L2 L1
Code L1 | D1 |12 | D2 | D3|L3|L4|L5 Code L2 |D1| L1 D2 |D3|L3|L4 | L5
C1000-156-32- 95 95 C1000-136-40-155 155
156 115 136 195
155 215
C1000-176-32-135 176 | 32 185 5 la7l ol 716 C1000-156-40-115 115
175 156 155
C1000-196-32-115 115 215
196 155 C1000-176-40-135 135
195 176, 1155 |
C1000-36 -40- 75 75 175
36 135 €1000-196-40-115 115
C1000-46 -40- 95 95 155
46 165 196 195
C1000-56 -40- 75 75 235
115 C1000-246-40-165 165
56 155 246 215
195 245
C1000-66 -40- 75 | 4o 75 C1000-36 42- 75 | o 75
135 135
C1000-76 -40- 75 20 -7 54 6o | 12 | 10 | 10 C1000-46 -42- 95 | % | Lol 1210 10
95 165
76 115 C1000-56 -42- 75 75
135 115
175 56 155
C1000-86 -40- 75 | o 75 195
135 C1000-66 -42- 75 75
C1000-96 -40- 75 75 66 135
95 C1000-76 -42- 75 75
96 115 42 o5
155 76 115
195 135
C1000-116-40- 95 95 175
116 115 C1000-86 -42- 75 86 75
135 135
155 C1000-96 -42- 75 75
195 95
C1000-136-40- 95 95 96 115
136 115 155
135 195

1.10

TOOMOCO



C1000

S

Guide pins

Mat : =1.0401/690+70HV30
Compability:HASCO Z00

L3
A
-3 O | U | R | R | A
L4 L5 +0.05
-0.5
L2 L1
Code L2 |D1|L1|D2|D3|L3|L4| L5 Code L2 |D1|L1|D2|D3|L3|L4| L5
C1000-116-42- 95 95 C1000-136-50-115 115
115 136 155
116 135 195
155 C1000-156-50-135 135
195 156 | . [155
C1000-136-42- 95 95 195
1115 | C1000-17650195 | 195 |
136 135 235
155 C1000-196 -50-195 195
195 196 235
215 C1000-76 -52- 95 95
C1000-156-42- 11
0-156 5 156 | 42 1;2 54 | 60 76 1;2
215 175
C1000-176-42-135 135 C1000-86 -52- 95 95
176 155 86 115
175 135
C1000-196-42-115 115 C1000-96 -52- 95 95
196 135 12| 10| 10 96 M8 e6 | 71| 12 | 10 | 10
195 155
235 195
C1000-246-42-165 165 C1000-116-52-115 115
246 215 116 155
245 195
€1000-76 -50- 95 95 C1000-136-52-115 52 15
76 115 136 155
135 195
175 C1000-156-52-135 135
C1000-86 -50- 95 95 156 155
86 115 195
135 C1000-176-52-195 195
C1000-96 -50- 95 50 g5 | %6 7 176 235
96 115 C1000-19662-195 | o 195
155 235
195
€1000-116-50-115 115
116 155
195

1.11

TOoOMOCO



C1001

S
Guide pins

Mat : =1.0401/70HV30

Compability:HASCO Z01

L2 L1 L4-02
© / /‘ Ni N
< -1 o <
a \ 1 3
L2
L3
Code DI | L |D2|D3|L1 |L2]|L3|L4 Code DI | L | D2|D3|L1 |L2|L3|L4
C1001-8 - 40 40 C1001-12- 70 70
50 80
60 90
70 100
8 go M40 8 | 12 12 [ 110 16 6
90 120
100 140
120 160
C1001-9 - 40 40 180
60 C1001-14- 60 60 | o 2 | 17
70 70
9 [80 | M5 80
90 4 3 90 ,
100 100
120 14 [110
C1001-10- 40 40 12 120
50 10 | 15 140
60 160 18 8
70 180
10 | 80 200
90 | M6 C1001-15- 60 60
100 80
120 100
140 15 o0 M8 16 | 22
C1001-12- 40 40 140
12 o 167 1217 6 160

1.12

TOOMOCO




C1001

S

Guide pins

Mat : =1.0401/70HV30
Compability:HASCO Z01

L
L2 L1 L4 02
of (117 Ni o
< -1 - [
a \ 1
L2
L3
Code DI | L | D2|D3|L1 |L2|L3 | L4 Code DI| L [D2|D3|L1|L2|L3] L4
C1001-15-180 | 15 | 180 18 C1001-18-220 220
C1001-16- 40 40 16 5 | 240 -
60 260
70 15 280
80 16 C1001-20- 60 60
920 15 80
100 16 90
110 | M8 15 | 22 100
16 20 2 110
140 120
160 16 140
180 160
20 24 8
200 180
7 8
520 ” 200 M10 7 | 20| 27
240 220
C1001-18- 60 60 240
70 260
80 280
90 300
100 20 320
18 [110 | M10| 22 27 C1001-22- 80 80
120 100
140 120
160 2 26 15
180 160
200 180

1.13

TOoOMOCO



C1001

S
Guide pins

Mat : =1.0401/70HV30

Compability:HASCO Z01

L2 L1 L4-02
© T/ | Nl o
< —| - o <
a \ e
L2
L3
Code D1 | L [D2|D3|L1 |L2|L3 | L4 Code Di| L | D2|D3|L1|L2|L3 | L4
€1001-22-200 200 C1001-30-240 240
220 260
240 280
22 | 260 | M10| 26 20 | 27 30 | 300
280 320
300 360
320 400 % | 7
€1001-24- 80 80 €1001-32-100 100
100 120
120 160
140 32 | 200
160 240
180 300
7
24 | 200 | M12| 28 24 |32 |1 360 | M1 32 41115
220 C1001-40-160 160
240 200
260 40 | 290 48
280 300
300 360
320 400 0
€1001-30-100 100 €1001-50-160 160
120 200
160 240
M16| 36 32 | 41 58
%0 80 %0 500
200 360
220

1.14

TOOMOCO




C1002

S

Guide pins

Mat : =1.0401
Compability:HASCO Z010

L js15
L1 L2
(| %
s 5 =
r / ol 33 [
7 - - al =%
9 A e )
&
/ L5 L3
L4
Code D1 | L |D2|L1|L2 |L3|L4|L5 Code DI| L | D2|L1|L2|L3|L4|L5| M
C1002-10- 60 60 C1002-20- 60 60
10 | 80 4 70
100 80
C1002-12- 60 60 20
80 100
12 Moo 120
120 20 140
C1002-14- 50 50 | M6 5 150
60 160
2 ol ] o M0 15 | 22| 7 | 7|8 |8
14 |10 180
75 190
80 210
90 C1002-22- 70 70
100 80
€1002-15- 50 50 22 | 90
60 100
15 | 70 120
80 C1002-24- 70 70
90 80
C1002-16- 80 80 7 20
90 | M8 6 100
100
18l 24 Eg M12 10| 10
16 | 12 |18 55
6 20 160
132 180
140 200
160 220 18| 25
C1002-18- 60 60 €1002-30- 80 80
70 90
80 30 | 100
90 120
100 140
18 25| M10 15 | 22 6 |8 C1002-32- 80 go | W16 1414
140 90
150 32 100
170 120
200 140

TOoOMOCO

1.15




C1004

RS

Angle guide pins

Mat : =1.0401/70HV30
Compability:HASCO Z011

—
k) I | R | I A - | I A=
[a] ‘5 g
——
L3 k1+0.1
L2
L1
Code D1 L1 D3 L2 L3 K1 Code D1 L1 D3 L2 L3 K1
C1004-10-40 40 17 C1004-18- 80 80 27
10 60 12 4 3 100
80 22 120 36
100 27 18 140 29 6
C1004-12-60 60 17 160
80 22 180
100 27 200 56
1
12 120 6 6 220 s
140 36 C1004-20- 80 80 27
160 100
C1004-14-60 60 17 120 36 7
80 22 140
14 100 18 27 7 2 160 2 46
120 36 180
140 200 56
160 46 8 220
C1004-16-60 60 22 C1004-22-100 100 36
80 120
16 100 20 “ 22 140 26 * 15
120 36 160 56
140 46 180
160 200 76

1.16

TOOMOCO




C1004

Angle guide pins 1
Mat : =1.0401/70HV30
Compability:HASCO Z011

I I | B | I e -7 A |
a a N
L3 k1+0.1
L2
L1
Code D1 L1 D2 L2 L3 K1 Code D1 L1 D2 L2 L3 K1
C1004-22-220 220 C1004-32-120 120
22 240 26 76 140
280 160 56
C1004-24-100 100 36 180
120 46 32 200 36 7
140 220
160 56 240
24 180 28 280 76
200 320 15
220 76 360
240 7 15 C1004-40-200 200 56
280 40 240 48 76
C1004-30-120 120 300 %
140 360 10
160 56 C1004-50-200 200 56
180 50 240 58 76
200 300 96
36
80 220 C1004-60-240 240 76
240 300 96
280 76 60 360 68 116 12 20
320
360

TOoOMOCO



C1006

S

Guide pins

Mat : =1.0501
Compability:HASCO Z013

C1800

=
\C1850 L2

D1h4
| -
‘\&"
\

3
L1
Code D1 L1 L2 Code D1 L1 L2
C1004-12-100 12 100 C1004-30-160 160
125 C1004-30-240 240
C1004-18-125 18 125 6 % !
160

1.18

TOOMOCO



C1007
T

Angle guide pins
Mat : =1.0401 /720 HV30
Compability:HASCO 2016

18°
7% ‘7\\
y
$ / / S
o - - 8
N
L2 K1-0.2
Code D1 L1 D2 L2 K1 Code D1 L1 D2 L2 K1
C1007- 8-40 40 C1007-16-100 100
50 120
8 60 10 140
80 16 160 2
100 180
C1007-10-40 40 4 3 200
60 C1007-18-100 100
10 80 12 120
100 140
120 18 160 22 7 8
C1007-12-60 60 180
80 200
100 240
12 120 16 6 C1007-20-100 100
140 120
160 7 140
C1007-14-60 60 160
80 20 180 24
100 200
14 120 18 8 240
140
160

TOoOMOCO

1.19



C1010

S

Guide pins

Mat : =1.0401 /720 HV30
Compability:HASCO Z02

e = < ral
L \swi H2
.
L1502
Code D1 L1 D2 H H1 SWi1 Code D1 L1 D2 H H1 SW1
C1010-10-60 60 C1010-18-80 80 12 20
70 100
80 16 9 120
10 100 M 6 9 18 140 M10
120 160
140 180 20 12 14
160 9 16 200
C1010-14-60 60 220
70 240
80 340 12 20
1(2)8 16 11 C1010-20-70 ;g 14 25
14 140 M8 12 100
160 20 [ 120 | M12 o
180 140 25 14
200 1 16 160
300 180
C1010-18-70 18 70 M10 12 20 14 200

1.20

TOOMOCO




C1010

S

Guide pins 1
Mat : =1.0401 /720 HV30

Compability:HASCO Z02

S N¢ ] — N — { N¢
=8 = < i a
H SW1 H2
L1392
Code D1 L1 D2 H H1 SW1 Code D1 L1 D2 H H1 SWi1
C1010-20-220 220 25 14 C1010-30-160 160 16 30
20 240 16 180 30 16
340 200 16 30
C1010-24- 70 70 14 25 30 220 M16 24
80 | . 260 30 | 16
100 300
120 19 340 16 30
140 C1010-40-160 160
160 25 14 180
2 M0 200
200 220
220 14 25 240
240 25 14 40 260 M20 20 40 36
260 300
380 14 25 340
C1010-30-100 100 380
30 120 M16 16 30 24
140

1.21

TOoOMOCO



C1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
S S @ 3
al T T e T 8
L3 K1+0.05
05
L2 L1-1
Code 1 | D1 | L2 | D2 | D3 | L3 | K1 Code L1 | D1 | L2 | D2 | D3 | L3 | K1
C1011- 9- 9-20 | 20 | C1011-56-10-35 56 35
9 35 10 | 60 | 14 | 16 | 4 3
50 C1011-66-10-45 66 45
C1011-12- 9-25 25 C1011-17-14-35 35
12 45 55
65 7 75
C1011-17- 9-20 17 20 95
30 C1011-22-14-20 20
C1011-22- 9-25 25 35
22 35 40
9 | 55 45
C1011-27- 9-30 30 50
7 50 2 55
C1011-36- 9-25 36 25 65
45 70
C1011-46- 9-30 30 90
46 45 110
75 C1011-27-14-20 20
C1011-56- 9-35 35 35
%6 60 | 14 | 16 | 4 3 40
C1011-66- 9-45 66 45 o7 | 14 45 20 | 25 | 7 6
C1011- 9-10-20 20 55
9 35 65
50 85
C1011-12-10-25 25 105
12 45 C1011-36-14-20 20
65 35
C1011-17-10-20 17 20 40
30 36 45
C1011-22-10-25 10 25 55
22 35 65
55 75
C1011-27-10-30 o7 30 95
50 C1011-46-14-20 20
C1011-36-10-25 36 25 35
45 46 45
C1011-46-10-30 30 65
46 45 85
75 105

1.22

TOOMOCO



c1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
sl | S| I | | = | Y
e} a = a
L3 K10.05
05
L2 L1-1
Code L1 D1 L2 D2 | D3 L3 K1 Code L1 D1 L2 D2 | D3 L3 K1

C1011- 56-14-20 20 C1011- 36-15-40 40
35 45
56 55 55
75 36 65
95 75
C1011- 66-14-55 55 95
66 65 C1011- 46-15-20 20
14 95 35
C1011- 76-14-55 55 45
76 o5 46 65
C1011- 86-14-55 86 55 85
95 105
C1011- 96-14-55 96 55 C1011- 56-15-20 20

95 15 35 20 25
C1011-116-14-75 116 75 56 55
C1011- 17-15-35 35 75
17 55 95
75 C1011- 66-15-55 55
95 66 65

C1011- 22-15-20 20 95 7 6
35 C1011- 76-15-55 55
2 2 7

40 0 5 6 76 %5
45 C1011- 86-15-55 86 55
29 50 95
55 C1011- 96-15-55 06 55
65 95
15 70 C1011-116-15-75 116 75
90 C1011- 17-18-35 35
110 17 55
C1011- 27-15-20 20 75
35 95
40 C1011- 22-18-20 20
45 35

27 55 18 20 26 31
65 45
85 2 50
105 55
C1011- 36-15-20 36 20 60
35 65

1.23

TOoOMOCO



C1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
8 s © s
a a N 8
L3 K1+0.05
-0.5
L2 L1
Code L1 D1 L2 D2 | D3 L3 K1 Code L1 D1 L2 D2 | D3 L3 K1
C1011-22-18-70 70 C1011- 46-18-165 46 165
22 80 C1011- 56-18- 20 20
85 35
115 56 55
C1011-27-18-20 20 75
35 95
40 C1011- 66-18- 55 55
| 45 | 66 75
50 95
55 C1011- 76-18- 55 18 55
60 76 75
o 65 95
70 C1011- 86-18- 55 55
80 86 75
85 95
105 C1011- 96-18- 55 55
125 % 95
155 C1011-116-18-115 | 116 115
C1011-36-18-20 20 C1011-136-18-135 136 135
18 35 26 31 7 6 C1011- 17-20- 35 35 26 31 7 6
40 55
45 7 75
50 95
55 C1011- 22-20- 20 20
60 35
36 65 40
70 45
75 50
80 55
95 22 20 50
115 65
135 70
155 80
C1011-46-18-20 20 85
45 115
65 C1011- 27-20- 20 20
46
85 27 35
105 40
135 45

1.24

TOOMOCO



c1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
sl | . | I | | O
a a N N
L3 K10.05
0.5
L2 L1-1
Code L1 D1 L2 D2 | D3 | L3 K1 Code L1 D1 L2 D2 | D3 | L3 K1

C1011-27-20-50 50 C1011- 66-20- 95 66 95
55 C1011- 76-20- 55 55
60 76 75
65 95
27 70 C1011- 86-20- 55 55

80 86 20 75 26 31
85 95
105 C1011- 96-20- 55 %6 55
125 95
155 C1011-116-20-115 116 115
C1011-36-20-20 20 C1011-136-20-135 | 136 135
35 C1011- 17-22- 35 35
40 17 55
45 75
50 C1011- 22-22- 35 35
55 55
36 60 22 75
65 105
70 130

20 75 26 31 7 6 C1011- 27-22- 25 25 7 6

80 45
95 50
115 60
135 65
155 27 70

C1011-46-20-20 20 2 80 30 %
45 85
46 65 105
85 125
105 165
135 C1011- 36-22- 25 25
165 45
C1011-56-20-20 20 50
35 55
56 55 36 60
75 70
95 75
C1011-66-20-55 66 55 80
75 95

1.25

TOoOMOCO



C1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
8 s © s
a a N 8
L3 K1+0.05
-0.5
L2 L1
Code L1 D1 L2 D2 | D3 | L3 K1 Code L1 D1 L2 D2 | D3 L3 K1

C1011-36-22-115 115 C1011- 96-22- 95 95
135 115

36 165 % 135

195 155

C1011-46-22- 25 25 C1011-116-22- 75 22 75
45 116 115

50 155

60 C1011-136-22-135 136 135

65 C1011-156-22-155 156 155

70 C1011- 17-24- 35 35

46 80 17 55

85 75

105 C1011- 22-24- 35 35

115 55

125 22 75

165 105

195 130

C1011-56-22- 25 25 C1011- 27-24- 25 25
45 45

22 55 30 35 7 6 50 30 35 7 6

75 60

56 95 65

115 27 70

165 80

195 24 85

C1011-66-22- 55 55 105
66 75 125

95 165

C1011-76-22- 25 25 C1011- 36-24- 25 25
45 45

55 50

76 75 55

95 60

115 36 70

C1011-86-22- 55 55 75
86 75 80

95 95

C1011-96-22- 75 % 55 115
75 135

1.26

TOOMOCO




c1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
sl | . | I | | O
a a N N
L3 K10.05
05
L2 L1-1
Code L1 D1 L2 D2 | D3 L3 K1 Code L1 D1 L2 D2 | D3 L3 K1
C1011-36-24-165 36 165 C1011- 96-24-135 %6 135
195 155
C1011-46-24- 25 25 C1011-116-24- 75 75 | 30 | 35
45 116 | 24 | 115
50 155
60 C1011-136-24-135 | 136 135
65 C1011-156-24-155 156 155
70 C1011- 22-30- 35 35
46 80 22 75
85 130
105 C1011- 27-30- 45 45
115 65
125 o 105
165 165
195 C1011- 36-30- 55 55
C1011-56-24- 25 25 75
45 36 95
55 115
75 155
% 24 95 30 35 7 6 C1011- 46-30- 45 45 7 6
115 65
165 85
195 46 105
C1011-66-24- 55 55 30 125 42 47
66 75 165
95 195
C1011-76-24- 25 25 C1011- 56-30- 55 55
45 75
55 95
6 75 56 115
95 135
115 175
C1011-86-24- 55 55 195
86 75 C1011- 66-30- 55 55
95 75
C1011-96-24- 55 55 95
66
96 75 115
95 135
115 175

1.27

TOoOMOCO



C1011

S
Guide pins

Mat : =1.0401 / 690+70 HV30

Compability:HASCO Z03

A
S S @ 3
al T T Sl T &
L3 K1+0.05
05
L2 L1-1
Code L1 | D1 | L2 | D2 | D3 | L3 | K1 Code L1 | D1 | L2 | D2 | D3 | L3 | K1
C1011- 66-30-195 66 195 C1011-36-32-75 75
C1011- 76-30- 55 55 36 95
75 115
76 95 155
115 C1011-46-32-45 45
155 65
195 85
C1011- 86-30- 55 55 46 105
75 | 125 |
86 95 165
115 195
155 C1011-56-32-55 55
C1011- 96-30- 55 55 75
75 95
95 56 115
% 30 | 115 135
155 175
195 195
C1011-116-30- 75 75 C1011-66-32-55 55
116 95 | 42 | 47 | 7 6 32 | 75 | 42 | 47 | 7 6
115 95
155 66 115
C1011-136-30- 95 95 135
136 115 175
155 195
C1011-156-30-115 156 115 C1011-76-32-55 55
155 75
C1011-176-30-135 176 135 76 95
175 115
C1011-196-30-155 196 155 155
195 195
C1011- 22-32- 35 35 C1011-86-32-55 55
22 75 75
130 86 95
C1011- 27-32- 45 32 45 115
27 65 155
105 C1011-96-32-55 55
165 96 75
C1011- 36-32- 55 | 36 55 95

1.28

TOOMOCO




c1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
8 s © s
a| T T —rer s T 8
L3 K10.05
-0.5
L2 L1-1
Code 11 |D1| 12| p2| D3| L3 | Ki Code 11 |D1| L2 | D2| D3| L3 | KI
C1011- 96-32-115 115 C1011-136-40-115 115
9% 155 136 135
195 215
C1011-116-32- 75 75 C1011-156-40-115 115
95 155
116 15 156 108
155 215
C1011-136-32- 95 w2 Bl 7 e C1011-176-40-135 40 | 135 |
136 115 176 155
155 175
C1011-156-32-115_| 115 C1011-196-40-155 155
155 196 195
C1011-176-32-136 | 135 235
175 C1011- 36-42- 75 75
C1011-196-32-115 155 36 135
196 195 C1011- 46-42- 95 95
C1011- 36-40-75 | o 75 46 165
135 C1011- 56-42- 75 75
C1011- 46-40- 95 95 115
46 165 %6 155 | 54 | 60 | 10| 10
C1011- 56-40- 75 75 195
115 C1011- 66-42- 75 75
56 155 % 135
195 C1011- 76-42- 75 75
C1011- 66-40- 75 | 75 76 115
135 175
C1011- 76-40- 75 75 C1011- 86-42- 75 | 75
76 | 40 | 115 | 54 | 60 | 10| 10 42 35
175 C1011- 96-42- 75 75
C1011- 86-40- 75 | oo 75 9 115
135 185
C1011- 96-40- 75 75 C1011-116-42- 95 95
% 115 115
155 116 135
C1011-116-40- 95 95 195
115 C1011-136-42- 95 95
116
135 115
195 136 135
C1011-136-40- 95 | 136 95 215

1.29

TOoOMOCO



C1011

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z03

A
S S @ 3
al T '_' e T 8
L3 K1+0.05
-0.5
L2 L1-1
Code L11|D1| 2| D2| D3| L3 | Ki Code 11 |D1| 2| D2| D3| L3 |Ki
C1011-156-42-115 115 C1011- 76-52-135 135
155 155
156 195 76 175
215 195
C1011-176-42-135 o 135 54| 60 C1011- 96-52-115 115
176 155 o 155
175 175
C1011-196-42-155 | 155 | 195
196 195 C1011-116-52-135 135
235 155
C1011- 76-50-115 115 116 175
135 195
76 155 C1011-136-52-135 135
175 52 [155 | 66 | 72 | 10 | 10
195 136 175
C1011- 96-50-115 115 195
155 C1011-156-52-155 155
9% 175 175
195 156 195
C1011-116-50-135 135 215
155 C1011-196-52-175 175
116 e 66| 72| 10| 10 ro
195 196 215
C1011-136-50-135 s |13 245
136 155 C1011-246-52-195 195
175 246 215
195 245
C1011-156-50-155 155 C1011- 96-60-115 | 96 115
156 175 C1011-116-60-135 | 116 135
195 C1011-136-60-135 | 136 135
215 C1011-156-60-155 | 156 155
C1011-196-50-175 175 C1011-196-60-175 | 196 175
106 195 C1011-246-60-195 | 246 | . [195| . | . i
215
245
C1011-246-50-195 195
246 215
245
C1011- 76-52-115 | 76 | 52 | 115

1.30

TOOMOCO



C1012

S

Guide pins 1
Mat : =1.0401 / 690+70 HV30

Compability:HASCO Z04

L3
) % B
sl T - | mral g
L4
L2 113°

Code L1 | D1|L2 | D2 D3| L3 | L4 | K1 Code L1 | D1 | L2 [D2 | D3 | L3 | L4 | K1
C1012-22- 9-25 22 25 C1012-46-14-35 35
35 46 45
C1012-27- 9-30 27 30 65
50 85
C1012-36- 9-25 36 9 25 C1012-56-14-35 35
45 56 55
C1012-46- 9-45 46 45 75
C1012-56- 9-60 56 60 14 | 95
C1012-66- 9-45 66 45 | 14 | 16 3 4 3 C1012-66-14-55 55
C1012-22-10-25 2 25 66 65
35 95
C1012-27-10-30 27 30 C1012-76-14-55 76 55
50 95
C1012-36-10-25 10 25 C1012-86-14-55 55
36 s 86 -

C1012-46-10-45 46 45 C1012-22-15-30 30 20125 9 7 6
C1012-56-10-60 56 60 22 50
C1012-66-10-45 66 45 70
C1012-22-14-30 30 90
50 C1012-27-15-30 30

22

70 27 45
90 65
C1012-27-14-30 30 15 | 85
o7 14 | 45 | 20 | 25 9 7 6 C1012-36-15-35 35
65 36 55
85 75
C1012-36-14-35 35 95
26 55 C1012-46-15-35 35
75 46 45
95 65

1.31

TOoOMOCO



C1012

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z04

L3
© ~ 5 o
=] () <
3 ] mral g
L4 K1+0.05
05
L2 L14
Code L1 (D1 | L2 | D2 | D3 | L3 | L4 | K1 Code L1 | D1 | L2 | D2 | D3 | L3 | L4 | K1
C1012-46-15-85 46 85 C1012- 56-18- 75 56 75
C1012-56-15-35 35 C1012- 66-18- 55 55
55 75
56 75 66 %5
95 145
C1012-66-15-55 15 55 20 | 25 C1012- 76-18- 55 55
66 65 76 | 18 | 95
95 135
C1012-76-15-55 76 55 C1012- 86-18- 55 55
95 86 95
C1012-86-15-55 86 55 125
95 C1012- 96-18- 95 96 95
C1012-27-18-35 35 C1012-116-18-115 | 116 115
45 C1012- 27-20- 35 35
2 65 9 7 6 45 26 | 31 9 7 6
85 27 65
105 85
C1012-36-18-35 35 105
55 C1012- 36-20- 35 35
75 55
36
95 75
2 1
18 115 63 % 20 | 95
135 115
C1012-46-18-35 35 135
45 C1012- 46-20- 35 35
46 65 45
85 46 65
135 85
C1012-56-18-35 56 35 135
55 C1012- 56-20- 35 | 56 35

1.32

TOOMOCO




C1012

S

Guide pins 1
Mat : =1.0401 / 690+70 HV30

Compability:HASCO Z04

L3

© ~ 5o

=] ) <

Y | - Mrel s

L4
-0.5
L2 L1.4
Code L1 |D1| L2 |D2 | D3| L3 | L4 | K1 Code L1 | D1|L2 D2 D3| L3 | L4 | K1
C1012- 56-20- 55 56 55 C1012-46-22-35 35
75 45
C1012- 66-20- 55 55 65
75 46 85
€6 95 105
145 125
C1012- 76-20- 55 55 165
76 0 95 26 | 31 C1012-56-22-35 35
135 55
C1012- 86-20- 55 55 75
86 95 56 95
125 115
C1012- 96-20- 95 | 96 95 165
C1012-116-20-115 | 116 115 9 7 6 205
- 27-22- C1012-66-22-35
C1012- 27-22- 35 35 22 35 30|35 9 7 6

45 55
65 66 75
85 95
27 105 155
125 C1012-76-22-55 55
165 75
205 76 95
C1012- 36-22- 35 2 35 30 | 38 115
55 145
75 C1012-86-22-55 55
95 75
% 115 8 95
135 135
165 C1012-96-22-55 %6 55
205 75

1.33

TOoOMOCO



C1012

S
Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z04

L3

© ~ 5 o

=] () <

= | ] NIEE

L4 K1+0.05
05
L2 L14
Code L1 | D1|L2 | D2 | D3 | L3 | L4 | K1 Code L1 (D1 | L2 | D2 | D3 | L3 | L4 | K1
C1012- 96-22- 95 06 95 C1012- 56-24- 35 35
125 55
C1012-116-22- 75 75 75
116 | 22 | 115 56 95
155 115
C1012-136-22-135 | 136 135 165
C1012-156-22-155 | 156 155 205
C1012- 27-24- 35 35 C1012- 66-24- 35 35
45 55
65 66 75
85 95
7 105 155
125 C1012- 76-24- 55 55
165 75
205 76 95
7 7
C1012- 36-24- 35 35 30| 3% o 6 24 115 30| 3% ° 6

55 145
75 C1012- 86-24- 55 55
24 | 95 75
36 115 8 95
135 135
165 C1012- 96-24- 55 55
205 %6 75
C1012- 46-24- 35 35 95
45 125
65 C1012-116-24- 75 75
46 85 116 115
105 155
125 C1012-136-24-135 | 136 135
165 C1012-156-24-155 | 156 155

1.34

TOOMOCO




C1012

S

Guide pins 1
Mat : =1.0401 / 690+70 HV30

Compability:HASCO Z04

L3

© ~ 5o

=] ) <

Y | - Mrel s

L4
-0.5
L2 L1.4
Code L1 |D1| L2 |D2 | D3| L3 | L4 | K1 Code L1|D1| L2 |D2 D3| L3 | L4 | K1
C1012-36-30-55 55 C1012- 86-30-115 115
75 86 155
%6 155 225
245 C1012- 96-30- 75 75
C1012-46-30-65 65 95
85 96 115
105 155
46 125 205
165 C1012-116-30- 75 30 | 75
245 116 115
C1012-56-30-55 55 155
75 C1012-136-30- 95 95
95 136 115
%6 135 155
175 C1012-156-30-115 115
30 245 42 | 47 | 9 7 6 156 155 42 | 47 | 9 7 6

C1012-66-30-55 55 C1012-196-30-155 | 196 155
75 C1012- 36-32- 55 55
95 75
€6 115 % 155
175 245
295 C1012- 46-32- 65 65
C1012-76-30-55 55 85
75 32 | 105
76 95 46 125
115 165
155 245
225 C1012- 56-32- 55 55
C1012-86-30-75 86 75 56 75
95 95

1.35

TOoOMOCO



C1012

S

Guide pins

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z04

L3
g % 5
=~ B | mral g
L4 K1+0.05
L2 113°
Code L1 D1| L2 | D2 |D3|L3|L4| K1 Code 11D L2
C1012-56-32-135 135 C1012-136-32-155 | 136 155
56 175 C1012-156-32-115 156 32 115
245 155
C1012- 66-32-55 55 C1012-196-32-155 | 196 155
75 C1012- 76-40-115 | 76 115
95 C1012- 96-40-155 96 155
66 115 C1012-116-40-135 135
175 116 40 | 195
295 C1012-136-40- 95 95
C1012- 76-32-55 55 136 135
75 C1012-196-40-155 155
95 196 195
76 115 C1012- 76-42-115 76 115
155 C1012- 96-42-155 | 96 155
225 C1012-116-42-135 135
C1012- 86-32-75 32 75 42\ 47 9 ’ 6 116 195
95 C1012:136-42- 95 | | 4 | 95
86 115 135
155 C1012-196-42-185 | 155
225 195
C1012- 96-32-75 75
95
9% 115
155
205
C1012-116-32-75 75
116 115
155
C1012-136-32-95 95
136 o

1.36

TOOMOCO



C1500

S
Guide bush

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z10

-0.5
L3 L1 -1 L
| __K1:0.05 A TR
| L2 '
I 0 o
EER I E |
gl a E‘ I a8 8§ e I
e, =
L L4
Typ 1 Typ 2
Code D1 | L2 |D2|D3|L1|L3|L4 |KI|Typ Code D1 | L2 |D2|D3|L1|L3|L4 |KI|Typ
C1500-9 - 9 9| 12 [12] C1500-14-116 | 14 [116 125 |56 |2 |
112 | |15 |15 C1500-15- 12 112 | 121 21
117 | 120 20| 1 117 | |26 26|
122 | 125 |25 122 | 131 31 1
9127 180 30| 15127 | 136 |36
| 36 | 189 189 | | | 36 | 145 145 ]
| 46 | | 49| 146120125 55, |85, | |
56 59 46 2 | 56 | | 65 |
66| 169 L 66 75 |
C1600-10- 9 o | M 2] 2] 6 I3 P I
12 15 15 86 | 95 |
G| [ (o] |, | ios]
22 25 25 116 125 | | ||
10 [ 27| 30| [30] C1500-18- 17 117 | 126 | |26
36 | 139 [39] 22 131 9 [31] 6
|46 | 49 | | | | |27 | 136 |36
56 | 59| |46 2 36 | 145 |45 1
66 | | 69 | 146 | 155 155
C1500-14-12 112 | 2ty 2ty 18 | 56 165 | 65]
17 26 26 | 66 | | 75 | 75 |
27 36 36 | 86 | |95 |
36 | 45| [ 45] | 96 | 1105] | 76 2
14 (46|20 |25 [55]9 [55| 6 1116 125
| 56 | 5| | | | | 136 145 | |||
| 66 | |75 | C1500-20- 17 17 26| |26
76 E1 . 2 |22 EINNEIE
86| 195 27 136 |36
| 96 | 105 | 36 45 45

TOoOMOCO

1.40




C1500

SE
Guide bush

Mat : =1.0401 / 690+70 HV30
Compability: HASCO Z10

-0.5
L3 L1 L
K1£0.05 L1 9
L2 '
1 o
slalg L N o %2 1
g8 5‘ T 8] o LT T T [
A, .
L L4
Typ 1 Typ2
Code D1 |L2 D2 D3| L1|L3|L4|KI|Typ Code D1 L2 |D2 D3| L1|L3|L4|KI|Typ
C1500-20 -46 | 46 | 55| [55] C1500-24 -86 | 86 | 95| | 95| 1
56 65| |65 1 % | 05| f1os| | |
66 | 75| (s 24 [116] 30 | 35 125
86 | |95 | 156 s || ||
9 | 105 | 76 2 C1500-30 22 22 31| [81)
116 [125] 27 (36| |36
136 ws| || 36| (45| |45 ]
C1500-22 -17 17 26 26 | 46 | 55| |55]
22 31 31 156 (65| [e5| |
27 %| |36 66 75| |75
E3 45| |45 0 |75 85| |85
| 46 | 185 | |55 1 1 86 | |95 | |95
56 65| |65 19 05| [105]
22 | 66 | 75| 9 [75] 6 116 125| 9 [125] 6 | |
76 85| |85 136 145
86 95 95 156 165
9% 05| [105) e Y es M0 2
[116] 30 | 35 [125] | | [ | 196 | | 205 |
1136 | 145| | 96 2 C1500-32 -22 |22 | ElInREINE
156 165 27 (36| |36
C1500-24 -17 17 26| [26] | | 36 45| | 45]
2 ENmNED 46 55| |55
27| EJNED a2 | 58 65| 65| |
ECE 45| 45| | 66 75| |75
46 5| |55 76| 85| |85
156 (65| |65 86 (95| |95
66 | 75| |75 96 | [105]  [105]
|76 | 85| [85] 116 125 125

1.41

TOOMOCO



C1500

S

Guide bush

Mat : =1.0401 / 690+70 HV30
Compability:HASCO Z10

-0.5
3, L1-1 L
! __ K1:0.05 A T
| | L2 '
Il e
HERL |
g8 E‘ T 3] o LT T T T [
/r —
L L4
Typ 1 Typ2
Code D1|L2 |D2 | D3| L1|L3|L4|K1|Typ Code D1|L2 (D2 | D3| L1|L3|L4|K1|Typ
C1500-32-136 1136 | 1145 | C1500-42-176 1176 | 1188 | 136
156 165 196 208
32 E 42 |47 E 9 |116| 6| 2 42 216 54 | 60 228, P
196 205 1236 | 248 |
C1500-40- 36 | 36 | 48| |48 246 258 I
46 158 | | 58] C1500-50- 56 | 56 | 68| |68
56 68 | |68 66 78| |78
66 | 78| (78] |1 76 | ‘88| |88 |,
76 88| |88 86 (98| |98
86 (98| |98 %6 108 108
%6 08|  [108) % 116 28]  [128] | |
40 (116 28| [128] | | 136 148
1136 48] [ 156 168
——— —— 1 66 | 72 ——
196 208 136 2 1216 | 228 |
1216 54 |60 |228) 12 10 236 248 | | ||
1236 | 1248 C1500-52- 56 56 68 68
245 258 66 | 78| |78
C1500-42- 36 36 48] 48] | | |76 | 88| [8s8]
| 46 | 58] |58] | 86 | 98] [98] 1
56 (68| |68 9% 108 108
66 | I RN 116 28] [128]
76 88 88 52 | 136 148 | L
2 g6 o8| |98 156 168
96 | o8] [108] 176 88| |
116 128 128 196 | 208 2
136 148 216 228
156 e8| | 2 236 248

1.42

TOoOMOCO



C1501

SE
Guide bush
Mat : =2.0975

Compability:HASCO Z1000W

0.5
L2 -1
L3
K1+0.05
5| 5| & e 2. ° I 5] e
& 5 t+He-o-0-0L Bl d| s
la}
o O O O
L4
L1
Code D1 (L2 D3 | D3| L4 | L3 | L1 |KI1 Code D1 (L2 |D2 |D3 | L1 | L3 | L4 | K1
C1501- 9-12 12 17 17 C1501-18-27 27 35 35
17 22 22 36 44 30
22 27 46 54
27 32 56 64
1
® 36 41 20 8 66 74
46 51 76 84 40
56 61 86 94
66 14 | 16 71 5 3 96 104
C1501-10-12 12 17 17 116 124
17 22 22 C1501-20-17 17 2 | 31 25 25
22 27 22 30 30
10 27 32 27 35 35
36 41 20 36 44 30
46 51 20 | 46 54
56 61 56 64
66 71 66 74 40
C1501-14-17 17 23 23 76 84
22 28 28 86 94 8 6
27 33 33 96 104
36 42 28 116 124
14 | 46 52 C1501-22-22 22 30 30
56 62 27 35 35
66 72 30 36 44
76 82 46 54 36
86 92 56 64
20 | 25 6
C1501-15-17 17 23 23 6 22 | 66 74
22 28 28 76 84
27 33 33 86 94 49
36 42 28 96 301 3% 104
15 | 46 52 116 124
56 62 136 144
66 72 30 156 164 49
76 82 C1501-24-22 22 30 30
86 92 2 27 35 35
C1501-18-17 17 25 25 36 44 36
18 26 | 31 8
22 30 30 46 54 36

1.43

TOOMOCO




C1501

SE
Guide bush
Mat : =2.0975

Compability:HASCO Z1000W

05
L2 -1
L3
K1+0.05
o] 5| 2 ° o ° 5 o] o
2l sl 5 tHeeeoh a8 o
al @ o o o o
L4
L1
Code D1 (L2 D2 D3| L1 | L3 | L4 | K1 Code D1|L2 |D2 | D3 | L1 | L3 | L4 | K1
C1501-24-56 56 64 C1501-40-96 96 106
66 74 116 126
76 84 40 | 136 146 80
86 94 156 166
4
B 96 30135 104 o 196 206
116 124 C1501-42-36 36 46 46
136 144 46 56 56
156 164 56 54 | 60 66 66
C1501-30-27 27 35 | g 35 66 76 76
36 44 44 76 86 86
46 54 54 42 | 86 96 76
56 64 96 106
66 74 116 126
30 | 76 84 136 146 80
86 94 156 166
96 104 641 6 196 206
116 124 C1501-50-56 56 66 66
136 76 76
144 66 10 10
156 12 | a7 164 76 86 86
C1501-32-27 27 35 35 86 96 76
36 44 44 50 | 96 106
46 54 54 116 126
56 64 64 136 146 80
66 74 54 156 166
32 | 76 84 196 206
86 94 C1501-52-56 56 66 | 72 66 66
96 104 64 66 76 76
116 124 76 86 86
136 144 86 96 96
156 164 96 106
C1501-40-36 36 46 46 52 | 116 126
46 56 56 136 146
56 66 | 10 66 156 166 80
40 54 | 60 10
66 76 76 196 206
76 86 86
86 96 76

TOoOMOCO

1.44




C1510

S

Guide bush

Mat : =1.0401/690+70HV30
Compability:HASCO Z11

-0.5
L1-1
+0.2
L3 +0.1
K1:0.05 @ REN
as| ]
S EINE ||
al e o =] - -
yd _\?
y L
NI L2
Typ 1 Typ 2
Code D1 L1 D2 D3 L2 L3 K1 Typ
C1510- 9- 9 9 9 -
12 12 55
17 17 10.5
22 22 15.5 1
9 27 27 20.5
36 36 29.5
46 39.5
56 46 49.5 2
66 14 16 595 3
C1510-10- 9 9 9 -
12 12 55
17 17 10.5
22 22 15.5 !
10 27 27 20.5
36 36 29.5
46 39.5
56 46 49.5 2
66 59.5
C1510-12-12 12 12 -
17 17 7
22 22 12
12 27 18 23 27 17
36 36 26
46 46 36
56 56 46 ;
C1510-14-12 12 12 - 6
17 17 7
22 22 12
27 27 17
14 36 20 25 36 26
46 46 36
56 46
66 56 56 )
76 66

1.45

TOOMOCO



C1510

SE

Guide bush

Mat : =1.0401/690+70HV30
Compability:HASCO Z11

0.5
L1-1
+0.2
L3 +0.1
0.5
K1+0.05 I_A__I L1-1
- 1
[IoRaN]
N 9
°¢| = g || 3 5 || ||
ol Q - — 7 - -
o [m) L —X
e
y —-)
N L2
Typ 1 Typ 2
Code D1 L1 D2 D3 L2 L3 K1 Typ
C1510-14-86 86 76
14 96 56 86 2
116 106
C1510-15-12 12 12 -
17 17 7
22 22 12
27 27 17 1
36 20 25 36 26
46 46 36
1
5 56 46
66 56
76 66
56
86 76 2
96 86
116 106
C1510-16-17 17 17 7
22 22 12 6
27 27 17 1
36 36 26
16 46 22 27 46 3
56 46
66 56
76 56 66 2
86 76
96 86
C1510-18-17 17 17 7
22 22 12
27 27 17
36 36 26 1
18 46 26 31 46 36
56 56 46
66 66 56
76 76 66
86 76 2

1.46

TOoOMOCO



C1510

S5

Guide bush

Mat : =1.0401/690+70HV30
Compability:HASCO Z11

-0.5
L1
+0.2
L3 +0.1
K1:0.05 @ REN
Syl s E |
8 D - g ] D /_X - -
/] \{
y L4
NI L2
Typ 1 Typ 2
Code D1 L1 D2 D3 L2 L3 K1 Tpy
C1510-18-96 96 86
18 116 76 106 2
136 126
C1510-20-17 17 17 7
22 22 12
27 27 17
36 36 26 .
46 26 31 46 36
56 56 46
2 66 66 56
76 66
86 76
96 76 86 9
116 106
136 126
C1510-22-17 17 17 -
22 22 1M 6
27 27 16
36 36 25
46 46 35
2 56 56 45 1
66 66 55
76 76 65
86 86 75
96 30 35 85
116 105
136 % 125 2
156 145
C1510-24-17 17 17 -
22 22 1"
27 27 16 1
24 36 36 25
46 46 35
56 56 45

1.47

TOOMOCO



C1510

SE

Guide bush

Mat : =1.0401/690+70HV30
Compability:HASCO Z11

-0.5
L1
+0.2
L3 +0.1
K1:0.05 LA—J RN
' b
8 D - 8 ] D /_X
yd '\f
Z
NI L2
Typ 1 Typ 2
Code D1 L1 D2 D3 L2 L3 K1 Typ
C1510-24-66 66 66 55
76 76 65 1
86 86 75
24 96 30 35 85
116 105
136 % 125 2
156 145
C1510-30-22 22 22 -
27 27 14
36 36 23
46 46 33
56 56 43 1
66 66 53
76 76 63
3 86 86 73
96 96 83
116 103 6
136 123
156 116 143
176 163 2
196 42 47 183
C1510-32-22 22 22 -
27 27 14
36 36 23
46 46 33
56 56 43
66 66 53
32 76 76 63 1
86 86 73
96 96 83
116 103
136 116 123
156 143 2
176 163

1.48



C1510

SE

Guide bush

Mat : =1.0401/690+70HV30
Compability:HASCO Z11

05
L1-1
+0.2
L3 +0.1
-0.5
K1+0.05 I__A_| L1-1
{ 0o ]
o eF
°c| I e || 3 5
™| n N/ A - -
[m] o /—X
e
y bl
_/ L2
Typ 1 Typ 2
Code D1 L1 D2 D3 L2 L3 K1 Tpy
C1510-32-196 32 196 42 47 116 183 6 2
C1510-36- 40 36 36 18
46 46 28
56 56 38
66 66 48
76 76 58 1
86 86 68
96 96 78
40 116 116 98
136 118
156 138
176 158
196 136 178 2
216 198
236 218
246 228
4
C1510-42- 36 36 s 60 36 18
46 46 28 10
56 56 38
66 66 48
76 76 58 1
86 86 68
96 96 78
42 116 116 98
136 118
156 138
176 158
196 136 178 2
216 198
236 218
246 228
C1510-50- 56 56 56 38
50 66 66 72 66 48 1
76 76 58

1.49

TOOMOCO



C1510

SE

Guide bush

Mat : =1.0401/690+70HV30
Compability:HASCO Z11

-0.5
L1
+0.2
L3 +0.1
K1:0.05 D RN
. :
£0, A
. 1
[YoXaN]
oo
oS = © || 5 ta || ||
' — X 1 « [m)]
(92] a) — N|— e} - -
e} () L—X
/] '\{
Z
L4
NI L2
Typ 1 Typ 2
Code D1 L1 D2 D3 L2 L3 K1 Tpy
C1510-50-86 86 86 68
96 96 78 1
116 116 98
136 118
156 138
50 176 158
196 136 178 )
216 198
236 218
246 228
C1510-52-56 56 56 38
66 66 72 66 48 10
76 76 58
86 86 68 1
96 9 78
116 116 98
52 136 118
156 138
176 158
196 136 178 )
216 198
236 218
246 228
C1510-60-96 96 96 68
116 116 88 1
136 108
156 128
196 168
60 246 80 86 218 20
136 )

1.50

TOoOMOCO



C1511

S
Guide bush
Mat : =2.0975

Compability:HASCO Z1100W

L1
+0.15
K10.05 L3 +0.05
[A]
.| 8 SKERE 5
| o =| =
3 A 50RO 5 8
2a2=0
\\,
uxu ®001
L2
Code D1 L1 D2 D3 L2 L3 K1
C1511-9 -12 12 12 6.6
17 17 11.6
22 22 16.6
9 27 21.6
36 30.6
20
46 40.6
56 50.6
C1511-10-12 12 14 16 12 6.6 3
17 17 11.6
22 22 16.6
10 27 21.6
36 30.6
46 20 40.6
56 50.6
C1511-12-17 17 17 8.3
22 22 13.3
27 27 18.3
12 36 18 23 273
46 24 37.3
56 47.3
C1511-14-17 17 17 8.3
22 22 13.3
27 27 18.3
14 36 28 27.3 6
46 37.3
0
56 20 25 8 47.3
C1511-15-17 17 17 8.3
22 22 13.3
15 27 27 18.3
36 28 27.3
46 30 37.3
56 47.3

1.51

TOOMOCO




C1511

S
Guide bush
Mat : =2.0975

Compability:HASCO Z1100W

05
L1-1
+0.15
K1:0.05 L3 +0.05
(Al
.| & SKEE s .
o o b OO o N
8 OO | °
fep) \
11 1.1 1 : 1
\ 1
\\,
uxn ¢001
L2
Code D1 L1 D2 D3 L2 L3 K1
C1511-16-17 17 17 8.3
22 22 13.3
27 18.3
22 27 27
16 36 27.3
46 37.3
56 32 47.3
C1511-18-17 17 17 8.3
22 22 13.3
27 27 18.3
36 36 27.3
18 46 37.3
56 47.3
66 40 57.3
76 67.3
C1511-20-17 17 % 31 17 8.3
22 22 13.3 6
27 27 18.3
36 36 27.3
2 46 37.3
56 47.3
66 40 57.3
76 67.3
C1511-22-22 22 22 12.6
27 27 17.6
36 26.6
46 36 36.6
22 56 30 35 46.6
66 56.6
76 48 66.6
86 76.6
96 86.6

TOoOMOCO

1.52




C1511

SE
Guide bush
Mat : =2.0975

Compability:HASCO Z1100W

05
L1-1
+0.15
K1+0.05 L3 +0.05
(Al
2 O@ @CT%
o~ — @ Tl e
38t Zosody |
1 9 1 1 : \\
N D
"X
L2
Code D1 L1 D2 D3 L2 L3 K1
C1511-24-22 22 22 12.6
27 27 17.6
36 26.6
46 36 36.6
24 56 30 35 46.6
66 56.6
76 48 66.6
86 76.6
96 86.6
C1511-30-27 27 27 15.85
36 36 24.85
46 46 34.85
56 56 44.85
30 66 54 54.85 6
76 64.85
86 74.85
9% &4 84.85
116 104.85
C1511-32-27 27 42 4 27 15.85
36 36 24.85
46 46 34.85
56 56 4485
32 66 54 54.85
76 64.85
86 74.85
96 64 84.85
116 104.85
C1511-40-36 36 36 20.15
46 46 30.15
40 56 4 60 56 40.15 10
66 66 50.15

1.53

TOOMOCO




C1511

8E

Guide bush

Mat : =2.0975
Compability:HASCO Z1100W

05
L1-1
+0.15
K110.05 L3 +0.05
(Al
2 P _ P
o — o © |l e
g 8 pAbmeney 5 &
: 6521,
\\,
" (DOO,]
L2
Code D1 L1 D2 D3 L2 L3 K1
C1511-40-76 76 76 60.15
86 70.15
40 96 80.15
116 80 100.15
136 120.15
C1511-42-36 36 36 20.15
46 46 30.15
4
56 ° & 56 40.15
66 66 50.15
42 76 60.15
7
86 6 70.15
96 80.15
116 80 100.15
136 120.15
C1511-50-56 56 56 40.15
66 66 50.15 10
76 76 60.15
50 86 70.15
96 80.15
116 80 100.15
136 120.15
C1511-52-56 56 56 40.15
66 66 72 66 50.15
76 60.15
86 76 70.15
96 80.15
52 116 100.15
120.15
136 80

1.54

TOoOMOCO



C1513

SE

Guide bush

Mat : =2.0975
Compability:HASCO Z13W

L1
- K1+0.05
| ~ C o 1 o
Sloe| s X s
58|83 ez o 0] S
‘ (=) o
L2708 L3708
Code D1 L2 D2 D3 L1 L3 K1
C1513-12-10 12 21
C1513-17-10 10 14 16 26 o
12 17 18 23 29 12
26 9
C1513-22-14 14 22 20 25 39 17
C1513-17-15 15 26 9
7 29 12
C1513-22-18 18 22 39
C1513-27-18 27 26 31 44 17
C1513-22-20 22 39
C1513-27-20 2 27 49 22 6
C1513-22-22 22 39 17
C1513-27-22 2 27 49 22
C1513-22-24 22 30 35 39 17
C1513-27-24 24 27 49 22
C1513-36-24 36 63 27
C1513-27-30 27 49 22
C1513-36-30 30 36 63
C1513-46-30 46 42 47 73 27
C1513-36-32 32 36 63
C1513-46-40 40 46 54 60 82 36

1.55

TOOMOCO



C1514

SE

Guide bush

Mat : =2.0975
Compability:HASCO Z14W

L1
L2 L3
K1+0.05
D ®
3 e 5% . 5
38 & o =
@ @
L) L)
Code D1 L2 L3 D2 D3 L1 K1
C1514-24-17- 9 9 26
24 17 12 30 35 2
36-17- 26
C1514-36-17- 9 a6 9 m 49 6
C1514-48-22-17 4 2 7 58 63 3
27 22 49

TOoOMOCO

1.56




C1700

PMURSE

Steel ball guide bush

Mat : =1.0401/690+70HV30
Compability:MEUSBURGER E1330

L

Code D L oS D1 D2 D3 L1 L2 L3 L4
C1700-12- 80- 35 80 25 %
C1700-12-100- 35 100
C1700-12-100- 55 55 48
C1700-12-120- 35 35 36
170012120 85 12 120 i 22 17 25 17 748 9 2.5
C1700-12-140- 55 140
C1700-12-140- 80 % 60
C1700-12-160- 80 160
C1700-18- 80- 45 80 45
C1700-18-100- 45 100 48
C1700-18-120- 45 120
C1700-18-120- 65 65 60
C1700-18-140- 45 18 140 45 30 24 33 22 48 12
C1700-18-140- 65
C1700-18-160- 65 8 60
C1700-18-160- 90 160 % -
C1700-18-180- 90 180 .
C1700-24-100- 45 100
C1700-24-120- 45 120 45 52
C1700-24-140- 45
C1700-24-140- 75 140 75 70
C1700-24-160- 45 24 160 45 38 30 41 27 52 17
C1700-24-160- 75
C1700-24-180- 75 & 70
C1700-24-180-105 180 105 o
C1700-24-200-105 200
C1700-30-140- 55 140 70
C1700-30-160- 55 160 55
€1700-30-180- 55 30 180 46 38 49 32 22 3.8
C1700-30-180- 55

95 90

C1700-30-200- 95 200
C1700-30-250-135 250 135 110

1.57

TOOMOCO



C1800
ARSE

Steel ball guide bush

Mat : =1.3505

Compability:HASCO Z12

L1+15
L5 6:0.05
o]
N © ~ (o]
:‘., NMES HHE - —HHF - - lo9] E‘ a - _El _______ 7%_
a|lo| o 00| O
o0 y .
L3 L4 H =
L2
H = Hub
Stroke
Course
C = dynamische Tragzahl gesamt
dynamic load factor total
Indice de charge dynamique
complet
Code D1 L1 D2 D3 L2 L3 L4 L5 max.H CIN]
C1800-12-40 40 50 1680
12 56 22 26 24 18 6 2.1 0 2280
C1800-18-45 45 44 3450
18 56 30 35 34 23 11 3 66 4200
71 96 5100
C1800-30-56 56 32 7600
30 75 46 52 54 33 21 4.8 70 9800
95 110 11900

1.58

TOoOMOCO



C1850

MH%KSE

Steel ball guide bush

Mat : =1.7131/60-62HRC
Compability:HASCO Z13

L1
04 -0.4
L2-08 L3-08
2
N
S 9% o %
ol Ny Nl «
Al O o
1N000000000000¢ I
K1+0.05
Code D1 L2 L3 D2 D3 L1 K1
-10-12- 21
C1850-10-12- 9 10 12 20 o4
C1850-10-17- 9 9 %
C1850-12-17- 9 17
C1850-12-17-12 12 12 24 8 29
C1850-18-22-12 34
1 32 36
C1850-18-22-17 8 2 17 39
C1850-24-17-12 17 12 29 6
C1850-24-27-17 24 27 17 39 43 44
C1850-24-27-22 22 49
C1850-30-22-17 22 17 39
C1850-10-32-22 30 32 22 50 54 54
C1850-10-36-27 36 27 63
C1850-36-22-17 36 56 60
C1850-48-22-17 48 2 17 70 74 3

1.59

TOOMOCO



T™C

TOOMOCO

Locating Parts Series




/7

%

%

%

TOOMOCO

C2050 2.08
EfLR

Square interlocks,DLC
HASCO Z09.../1

C2051 2.09
ELR

Square interlocks,DLC
HASCO Z09.../3

C2100 2.10
EfLR

Square interlocks

HASCO Z060

C2102 2.1
EfLR

Square interlocks

HASCO Z080

C2103 2.12

EALR
Square interlocks,DLC
HASCO 7082

C2105
TE AL

Square interlocks
HASCO Z085.../1

2.13

C2106 2.14

TEfrk

Square interlocks,DLC
HASCO Z085.../2

C2200
TEfLHR

Square interlocks
HASCO z07

2.15

%

I

<
2

C2201 2.15
EALHR

Square interlocks

HASCO z17

C2202

EALR
Square interlocks
HASCO Z071.../1

2.16

C2203
TE AR

Square interlocks
HASCO Zz072.../1

2.17

C2204

EALR
Square interlocks,DLC
HASCO Z071.../2

2.18

C2205
TE{LHR

Square interlocks,DLC
HASCO Z072.../2

2.19

C2300 2.20
EfLR

Square interlocks

STRACK Z50

C2301 2.22
ELR

Square interlocks,DLC
STRACK Z51

C2310 2.24
EALHR

Square interlocks

HASCO Z18

" e

Seite/page

C2311

TEALHR

Square interlocks
HASCO Z19

2.25

C2320 2.26
TE LR

Square interlocks

STRACK Z46

C2400 2.27
ELR

Square interlocks
MEUSBURGER E1304

C2401 2.28
EALR

Square interlocks,DLC
MEUSBURGER E1304

C2403

EALR
Square interlocks,DLC
MEUSBURGER E1306

2.29

C2404

TEALR
Square interlocks,DLC
MEUSBURGER E1306

2.30

C2405 2.31

EALHR
Square interlocks,DLC
MEUSBURGER E1308

C2406

TEALHR
Square interlocks,DLC
MEUSBURGER E1308

2.32



C2410 2.33
TE R

Square interlocks
MEUSBURGER E1320

C2910 2.52
EfE

Round locating unitsaa
HASCO Z05

TOoOMOCO

2.02




C2050
Efik
_\'

Square interlocks
Mat : 1.2379 / 58-62HRC/DLC |

Compability:HASCO Z09.../1

L4 L2 L2 L4

—

w
-
w

D-0.01
|
D3:35%
1
D4 001'
D1 -0.005
T
i
N
Z
|

L1

D2-0.01

L1

d1
L

Code D H L Typ D1 D2 D3 D4 H1 L1 L2 L3 L4 d d1
C2050-16-8 -73 -1 | 16 8 73 ] 6 8.97 9 4.6 40 4.5 3 20 8 4.5
C2050-20-12-109-1 | 20 12 109 9 11.97 12 6.9 60 6.5 5 30 11 6.5
EfrR
Square interlocks
Mat : 1.2379 / 58-62HRC/DLC
Compability:HASCO Z09.../2

L4 L2 ) L4

D-0.01
|
D3:55%
1
|
D4-0.01
D1 -0.005
T
i
gﬁ
L/
|

L1 &
a L1
d |z .05
d1
L
Code D H L Typ D1 D2 D3 D4 H1 L1 L2 L3 L4 d d1
C2050-16-8 -73 -2 16 8 73 2 6 8.97 6 9 4.6 40 4.5 3 20 8 4.5
C2050-20-12-109-2 | 20 12 109 9 11.97 9 12 6.9 60 6.5 5 30 1" 6.5

2.08

TOOMOCO




C2051

EALR

Square interlocks _‘Q

Mat : 1.2379 / 58-62HRC/DLC
Compability:HASCO Z09.../3

L2 L2
L3 L3
= 58 J ] |
: —gll—3 : | -
e DB a QJ:: L ’ 2
L1 N
o L1 J
.05
C"I _
L
Code D H L Typ D1 D2 D3 D4 L1 L2 L3
C2051-16-8 -73 -1 16 8 73 1 6 8.97 6 9 40 45 3
C2051-20-12-190-1 20 12 109 9 11.97 9 12 60 6.5 5
EALR
Square interlocks
Mat : 1.2379 / 58-62HRC/DLC
Compability:HASCO Z09.../4
L2 L2
L3 L3 )
- 5s A 2
- -—gll—3 s -
e DB a QJ:: L
L1 N
o L1
0.5
qI _
L
Code D H L Typ D1 D2 D3 D4 L1 L2 L3
C2051-16-8 -73 -2 16 8 73 ) 6 8.97 6 9 40 45 3
C2051-20-12-190-2 20 12 109 9 11.97 9 12 60 6.5 5

2.09

TOoOMOCO



C2100

TEALIR

Square interlocks

Mat : 1.2343 / 50-54HRC
Compability:HASCO Z060

NN —
NI,
),
L ke H1 HA1
v | =
0.25 |
! 0.25
H3 H H2
Code D L H H1 H2 H3 H4 F M K

C2100-20-20 20 20 28 13.75 12 4 5 M 5 M4 10
C2100-25-25 25 25 32 15.75 13 8 M 6 M5
C2100-32-32 32 32 36 17.75 15 12 M 8 M6 30
C2100-40-40 40 40 45 22.25 17 14 11 M10 M8

2.10 TMC

TOOMOCO




C2102
Ak

Square interlocks
Mat : 1.2343 50-54HRC
Compability:HASCO Z080

H4

sl 1 LA A - .

5 T~ oo X
A ’ B L i Rl =

a P } a

* »\ a T A) |
0.25
0.25 L ke
H3 H1 HA1 H2

Code D L D1 H H1 H2 H3 H4 M F
C2102-20-20 20 20 10 28 14 10 55 M 5 M4
C2102-25-25 25 25 12 32 16 13 8 7.5 M 6 M5
C2102-32-32 32 32 16 36 18 15 12 9.5 M 8 M6
C2102-40-40 40 40 20 45 22.5 17 14 1.5 M10 M8

TOoOMOCO



C2103

EfLHR

Square interlocks

Mat : 1.2343 / 50-54HRC / DLC
Compability:HASCO Z082

H4
|
11
gel 1 [ W* L A 1 g o
?F U—%—«*— TEIT T = 3 &
o e P A T ¢
} a T ,
[
| S
0.25
0.25 L K6
H3 H1 H1 H2
H
M
Code D L D1 H H1 H2 H3 Ha4 R v =

©2103-20-20 20 20 10 28 14 10 4 55 4 M 5 M4
C2103-25-25 25 25 12 32 16 13 8 75 5 M 6 M5
©2103-32-32 32 32 16 36 18 15 12 95 . M 8 M6
©2103-40-40 40 40 20 45 225 17 14 115 M10 M8

2.12

TOOMOCO



C2105

EfLR

Square interlocks

Mat : 1.2379/ 58-62HRC
Compability:HASCO Z085.../1

0
L.os
0 0
H-0.05 H1 i H-0.05 | L/2
=g — T
= ———+1—7T1 3 Tk
I e B [ ===~ Y|
sh [ g _

- H2 os| +—-4—-—-—1 oo/ O] +—-—-—-—F
a1t U ol | Lo

— — — — 1 B _ = = = / ~

Code D L Typ D1 D2 H H1 H2 H3 R M M1
C2105-30-28-1 30 28 20 10 19.8 9 10 4.6 6 8 M 5
C2105-50-33-1 50 33 1 35 20 29.8 16.5 17.5 6.8 8 11 M 8
C2105-75-38-1 75 38 52 30 39.8 24 25 9 10 15 M10

2.13

TOoOMOCO



C2106

EfLR

Square interlocks

Mat : 1.2379 / 58-62HRC / DLC
Compability:HASCO Z085.../2

L.os
HS H1 H.J
-0.05 i -0. 05 | L/2 ‘
b o - 2N
s o051 3 === :
T*:::i%:: %fzzzg %iii\ iiiii
gt [ 8| _
—- H2 os| +—-+—-—-—+ od B +——-——-——F
i a L ol | L_______]
————- ] s8 L ——— A
1 &S I ——— )
::::i% +(\-‘|- %f:::: Ny
o)
—{H3[= G
Code D L Typ D1 D2 H H1 H2 H3 R M M1
C2106-30-28-2 30 28 20 10 19.8 9 10 46 6 8 M 5
C2106-50-33-2 50 33 2 35 20 29.8 16.5 17.5 6.8 8 11 M 8
C2106-75-38-2 75 38 52 30 39.8 24 25 9 10 15 M10

2.14

TOOMOCO



C2200/01

EALR

Square interlocks

Mat : 1.2510/ 58-62HRC
Compability:HASCO Z07/217

0.5 -0.5
Loy L1 L3
R L2 L3| R
77r + @
- —r—rr— /
o ol [ YU
Y| - [ == o 3
O)D 4 - 1 i S — N o))
o I oy B ol 5
o L A
N - * Ll 1 ~
S )
M ™M
L3 L2
L 0d_ 04
N[ } T L T ~N _
g WAl L T
b oA - I [ -
ﬂ/ °T o_o0 ] o7
| 2T T ° N T
L1
| o O I \ ‘
0
od1 =} dd1
C2201 C2200
Code L D2 L1 | L2 L3 D D1 H H1 H2 R d d1 M
C2200-22-16- 20 20
2 | 16 15 40126 | 2 | 1
C2200-22-16- 40 40
7 6 M6X25
C2200-27-20- 25 25
27 20 19 45 31 2 | 13 6.9 11 6.6
C2200-27-20- 50 50
C2200-36-25- 32 32
36 25 27 9 50 35 25 | 14 M6X30
C2200-36-25- 63 63 8
C2200-46-32- 40 40
46 32 35 11 63 45 32 19 9 15 9 M8X40
C2200-46-32- 80 80
C2200-56-40- 50 50
56 40 40 15 85 60 36 | 22 1 18 11 | M10X45
C2200-56-40-100 100 0
C2200-66-50- 56 56
66 50 48 18 100 | 74 40 | 24 13 20 13 | M12X50
©2200-66-50-112 112
Code L D2 D D1 L2 L3 H H2 H3 R d d1 M
C2201-22-16 1 4 26 15 20 12
2 6 0 7 6 M6X25
C2201-27-20 27 20 45 31 19 22 7.0 14 1 6.6
C2201-36-25 36 25 50 35 27 9 25 15 8 M6X30
C2201-46-32 46 32 63 45 35 1 32 9 20 15 9 M8X40
C2201-56-40 56 40 85 60 40 15 36 1 23 10 18 1 M10X45
C2201-66-50 66 50 100 74 48 18 40 13 25 20 13 M12X50

TOoOMOCO

2.15




C2202

EfrR

Square interlocks

Mat : 1.2379 / 58-62HRC
Compability:HASCO Z071.../1

|
= Co " B
F— LT 7] T F——+ C2203/... ﬁ}
———— J R — —

—1_
\
\
\
\
T

T % I
I ! \
el ‘ \
H
4\
|
D2—8 005
|
{
Sl
1
|
D1
D -0 005

ol =
| 8 | H3
%iiJA

Code D2 L L1 Typ D D1 H H1 H2 H3 d d1 R
C2202-20-22-22 -1 22
20 22 47 34 27 13.5 13.5 6
C2202-20-22-40 -1
40 7 1" 6.6
C2202-25-27-40 -1
25 27 52 39 30 15 14.5
C2202-25-27-63 -1 63
8
C2202-32-36-40 -1 40
32 36 1 67 49 40 20 19.5 9 15 9
C2202-32-36-80 -1 80
C2202-40-46-50 -1 50
40 46 88 63 50 23 225 1" 18 11
C2202-40-46-100-1 100 10
C2202-50-50-56 -1 56
50 56 100 75 55 27.5 245 13 20 14
C2202-50-56-112-1 112

2.16 TMC

TOOMOCO



C2203
Efik

Square interlocks
Mat : 1.2343 / 50-54HRC
Compability:HASCO Zz072.../1

&

L-0.1 g S H1
C2202 ‘
e T
e I e 4 @
i i SO A O s ’
S R I B I
| |
| | ~oy 0
! ! 88 =
— - - 1—-— 9| B|es
| | | N [a)
| | | °
| |
O = T =T I -
—— | = — /
4 R J4 - — L
1) LE——+ 4
S oL
Code D2 L Typ D D1 H H1 H2 L1 R d d1
C2203-20-22-1 20 22 47 34 27 13.5 14 6 " 66
7 .
C2203-25-27-1 25 27 52 39 30 15 15 8
C2203-32-36-1 32 36 1 67 49 40 20 20 9 15 9
C2203-40-46-1 40 46 88 63 50 23 23 11 10 18 11
C2203-50-56-1 50 56 100 75 55 27.5 25 13 20 14

TOoOMOCO

2.17



C2204

TEALIR

Square interlocks

Mat : 1.2379 / 58-62HRC / DLC
Compability:HASCO Z071.../2

i ] &
| cms.
{

T % T
I ! ||
1T
B i (T
ool
! \
b“u{““a
L
D2—8 005
|
{
oL
1
|
D1
D -0 005

T
i S R S sl \
R
ol =
| 8 | H3
%iiJA

Code D2 L L1 Typ D D1 H H1 H2 H3 d d1 R

C2204-20-22-22 -2 22

20 22 47 34 27 13.5 13.5 6
C2204-20-22-40 -2

40 7 11 6.6

C2204-25-27-40 -2

25 27 52 39 30 15 14.5
C2204-25-27-63 -2 63

8

C2204-32-36-40 -2 40

32 36 2 67 49 40 20 19.5 9 15 9
C2204-32-36-80 -2 80
C2204-40-46-50 -2 50

40 46 88 63 50 23 22.5 11 18 11
C2204-40-46-100-2 100 10
C2204-50-50-56 -2 56

50 56 100 75 55 275 24.5 13 20 14
C2204-50-56-112-2 112

2.18

TOOMOCO



C2205

EfLR

Square interlocks

Mat : 1.2343 / 50-54HRC/DLC
Compability:HASCO Z072.../2

(@]
N
N
o
~
4]:_
)
dd1
dd
X
T
N

7777777 o -
et e —
I i B A B s e 7
[ — 4,77g___‘7,7%ﬁ %
\ | 0
| | | - .
} } } se - 8
T 1 T T 7 | 9%
: : : ° °
U S
Bt B A I ity | @
Cortd BT /
R

Code D2 L Typ D D1 H H1 H2 L1 R d d1
C2205-20-22-2 | 20 22 47 34 27 13.5 14 6
C2205-25-27-2 | 25 27 52 39 30 15 15 ! 8 " 60
C2205-32-36-2 | 32 36 2 67 49 40 20 20 9 15 9
C2205-40-46-2 | 40 46 88 63 50 23 23 11 10 18 11
C2205-50-56-2 | 50 56 100 75 55 275 25 13 20 14

2.19

TOoOMOCO



C2300
AR

Square interlocks

Mat : 1.2343 / 50-54HRC
Compability:STRACK Z50

C2300-0

C2300-1

C2300-02

C2300-05

2.20

TOOMOCO

+0. 002

D +0. 007

:,%,7 §§
=L _| 10
]

H1+0.1
M
== fss
N g9
== _| )

——

H1+0.1

R5

0
s e}
N e .
el | F==7" -
LT 5
‘ H3+0.1 L120.1
w -
H2+0.1 Lz0.1
©
S| o
A
OEIIF 2
A N
o) ;I—j—F a
‘ H30.1 L1+0.1
[
H2+0.1 L+0.1
0
| :
1 == @ -2
S \/ N
OE 3 L__» L1:0.1
- H3z0.1 | & | ==
° L0
H2z:0.1
g ,_,— f g \
a1 L= s |\ &

4.2

L1+0.1

L+0.1




C2300

EALR

Square interlocks

Mat : 1.2343 / 50-54HRC
Compability:STRACK Z50

=
=

=

C2300-2

R8
oa | of o g -
88 - © = oo o
g9 © N
[m)] [a )]
E— : )
°¢ e
] Hi:o01 3 % H3:0.1 L+0.1
Hz0.1 H2+0.1
C2300-3
R8
: ¢ —
g8 - = os|3
g 8= o &
[m)] [a )]
e »
°¢ e
] Hi:o01 5 % H3:0.1 L0.1
Hz0.1 H2+0.1
Code D D1 D2 H H1 H2 H3 L L1 R M
C2300- 0 18 10
16 16 30 26 14.8 30 15.5 8 M8
C2300- 1 38 22
C2300-02 12 6 -
9 9 16 16 6 15.8 10 M5
C2300-05 22 1 5
C2300- 2 20 20 50 29.8 20 48.8 29.8 35 8 M8
38
C2300- 3 30 30 75 39.8 25 63.8 39.8 52 M10

2.21

TOoOMOCO



C2301

EALHR
Square interlocks

Mat : 1.2343 / 50-54HRC / DLC
Compability:STRACK Z51

C2301-0

C2301-1

C2301-02

C2301-05

2.22

TOOMOCO

+0. 002

D +0. 007

- |8
L 10
]

| H1z0.1
H+0.1
== fes
N g9
= _| [a)

——

H1+0.1

N

0
S e}
[fo) %—‘ © = [te3
oilffi -
SRS .
‘ H3z0.1 L1:0.1
‘ -
H2+0.1 Lz0.1
©
8|
w %—‘ 2 v
OEIJTW o5
- J — T
‘ H3+0.1 L1+0.1
H‘2101 L+0.1
wn
! 5
[ =3
== N -
=1 N
oé : L__» L1+0.1
- H3z0.1 | & | ==
° Lg
H2z:0.1
_,_ R5
p_;—g 2 lEd
RN==—= TP

4.2

L10.1

L+0.1




C2301

EfLR

Square interlocks

Mat : 1.2343 / 50-54HRC / DLC
Compability:STRACK Z51

C2301-2

N\

R8
o © eo‘ 8| _ 2
38 ol = oo o
s9 & M
a [a )]
: - © )
o9
| H1+0.1 a — H3zx0.1 L+0.1
Hx0.1 H2:0.1
C2301-3
R8
ey oo gl _
38 ©o| = oo o
oo 8|= NE
a [a )]
— z
| : — )
O?  S—
| H1+0.1 a — H3zx0.1 L+0.1
H+0.1 H2:0.1
Code D D1 D2 H H1 H2 H3 L L1 R M
C2301- 0 18 10
16 16 30 26 14.8 30 15.5 8 M8
C2301- 1 38 22
C2301-02 12 6 -
9 9 16 16 6 15.8 10 M5
C2301-05 22 11 5
C2301- 2 20 20 50 29.8 20 48.8 29.8 35 M8
38 8
C2301- 3 30 30 75 39.8 25 63.8 39.8 52 M10

2.23

TOoOMOCO



C2310

TEALIR

Square interlocks

Mat : 1.2510 / 56-58HRC
Compability:HASCO Z18

vt 4+4—-—-—-—-—-—-— —7

D g5

o e
A Ly \VaY4

T
Code D H L D1 H1 L1 L2 Typ R d d1
C2310-20 -18- 50 50
C2310-20 -18- 75 20 18 75 7 5.7 9 8 1 10 55
C2310-20 -18- 90 90
C2310-32 -22- 70 70
C2310-32 -22- 90 90 °
C2310-32 -22-112 32 22 112 14 6.8 18 9 11 6.6
C2310-32 -22-125 125
C2310-32 -22-150 150
C2310-50 -30- 90 90
C2310-50 -30-125 125
C2310-50 -30-150 50 30 150 24 9 21 12 8 15 9
C2310-50 -30-175 175
C2310-50 -30-200 200
C2310-63 -32-112 112
C2310-63 -32-150 150
C2310-63 -32-175 63 32 175 30 10
C2310-63 -32-200 200 2
C2310-63 -32-250 250
C2310-80 -35-112 112 " 2 1 8 "
C2310-80 -35-150 150
C2310-80 -35-175 80 35 175 44 12
C2310-80 -35-200 200
C2310-80 -35-250 250
C2310-100-50-175 175
C2310-100-50-200 100 50 200 55 32 18
C2310-100-50-250 250
13 15 20 13.5
C2310-120-65-200 200
C2310-120-65-250 120 65 250 75 35 20
C2310-120-65-300 300

2.24

TOOMOCO




C2311

EfLHR °°
Square interlocks

Mat : 1.2510 / 56-58HRC
Compability:HASCO Z19

H-o1 | L1
H1 L2

dd1

f:3| BE|

|

\

| |
N L ]

I
I
I
I
I
I
I
(@]
N
w
o

Code D H L1 L2 D1 H1 R d d1
C2311-18-18-27 18 18 27 12 8 5.7 6 10 55
C2311-20-22-36 20 22 36 16 10 6.8 11 6.6
C2311-25-30-46 25 30 46 24 11 9 8 15 9
C2311-32-32-56 32 32 10

56 30 16 11 18 11
C2311-35-35-56 35 35 12
C2311-40-50-76 40 50 76 40 17
13 15 20 13.5
C2311-45-65-86 45 65 86 50 20

2.25

TOoOMOCO



C2320

TEALIR

Square interlocks

Mat : 1.2343 / 50-54HRC
Compability:STRACK Z46

Hz0.1 Hz0.1
0
H1 H1 | R 3 T Lot T Lo1 | @
- |
[ — L 1 = — —
/ 1 = = == = =
CRlE: —ET [
Y F=+4 | | F==4——
T S
53 8 1) 3
831 8 < 8 S
T T 99|o% T~ T 08les - - - -—r °9%
N H3 a a
L _T_ | A
7 = — { 7 B = = o
& T e
Y 1 C— T 4 | [ p——
R
H2 L1
Code D2 L L1 D D1 H H1 H2 H3 R d M
C2320-16-20- 20 20
16 20 45 30 22 11 12 11.5 8
C2320-16-20- 40
40 6.8 M 8
C2320-30-26- 40
30 | 26 60 46 35 175 20 19.5 10
C2320-30-26- 63 63
C2320-48-36- 32 32
C2320-48-36- 50 50
48 36 100 74 46 23 26 255 12,5 10.3 M12
C2320-48-36- 63 63
C2320-48-36- 80 80
C2320-77-56- 50 50
C2320.77-56- 71 | 77 | 56 | T 150 114 60 30 36 355 16 14| m16
C2320-77-56-100 100

2.26

TOOMOCO




C2400
Efik

Square interlocks
Mat : 1.2379 / 54-58HRC
Compability: MEUSBURGER E1304

777777 r 7
\
L
L
0 N N O
88| 8 88 g -
a,o a a
777777 = B h
I IR
L \ A [
L M M L _

H3 H2 H152 L1

02 0
Ho4 L.o2
Code D D1 D2 H H1 H2 H3 H4 L L1 R M
C2400-34 34 22 10 18 10 12 11 12.5 18 9 8 M4
C2400-40 40 26 12 22 12 14 13 14.5 22 1 M5
C2400-50 50 34 18 30 15 18 17 18.5 30 15 M6
C2400-64 64 42 22 40 18 24 23 24.5 40 20 10 Vs
C2400-72 72 48 26 46 20 28 27 28.5 52 26
C2400-96 96 66 36 57 22 36 31 36.5 56 28 M10

2.27

TOoOMOCO



C2401

EALR

Square interlocks

Mat : 1.2379 / 54-58HRC / DLC
Compability: MEUSBURGER E1304

—
o
]
L_—
N AN
8] g 22 3 -
T~ 1T H4 T og S| T~~~ oo e )
8,0 8 a
777777 = I —
| I I
L \ / L
L M M o |

H3 H2 H132 L1

02 0
Hoz L.o2
Code D D1 D2 H H1 H2 H3 H4 L L1 R M
C2401-34 34 22 10 18 10 12 1 12.5 18 9 8 M4
C2401-40 40 26 12 22 12 14 13 14.5 22 1 M5
C2401-50 50 34 18 30 15 18 17 18.5 30 15 M6
C2401-64 64 42 22 40 18 24 23 24.5 40 20 10 Vs
C2401-72 72 48 26 46 20 28 27 28.5 52 26
C2401-96 96 66 36 57 22 36 31 36.5 56 28 M10

2.28

TOOMOCO



C2403

ELR

Square interlocks

Mat : 1.2379 / 54-58HRC
Compability:MEUSBURGER E1306

S
r— F— &
::‘ §§ §§ Fr======5 —
—+ 11— 1 9 | +—yr—t-——"-——91 S
L H3 |'S - I S
L ) o WA }
M/
02 02
H1%% H2 H1 04
/B
F - . q
I N
8 ! /7 \ \
o3 [ y —
) \ N \
t - . j
-0.05
L2015
Code D D1 L H1 H2 H3 R max. M M1
C2403-16 16 8 16 12 6 6.5 3.25 M3 M4
C2403-20 20 10 20 14 7 7.5 4.5 M4 M5
C2403-25 25 12 25 16 8 8.5 55 M5 M6
C2403-32 32 16 32 20 10 10.5 7.2
M6 M8
C2403-40 40 20 40 23 12 12.5 8.2

2.29

TOoOMOCO



C2404

TER

Square interlocks

Mat : 1.2379 / 54-58HRC / DLC
Compability: MEUSBURGER E1306

T
\

‘ |

|

|

::‘ §§ §§ FE======5 —
— o — = — oo (?(? -t —t - V- - — o —— 2
\ H3 |%% - L _ 1 |
— :L . D D |/ Jf T T T T T ] j
M/
0.2 0.2
H1%4 H2 H1 04
R
F/ N — \gi
o T A |
S /7
= - N —
e A\ //
] \ N \
t\ N — /j
-0.05
Lo15
Code D D1 L HA1 H2 H3 R max. M M1
C2404-16 16 8 16 12 6 6.5 3.25 M3 M4
C2404-20 20 10 20 14 7 7.5 4.5 M4 M5
C2404-25 25 12 25 16 8 85 55 M5 M6
C2404-32 32 16 32 20 10 10.5 7.2
M6 M8
C2404-40 40 20 40 23 12 12.5 8.2

2.30

TOOMOCO



C2405
REfisk

Square interlocks DLC

Mat : 1.2379 / 54-58HRC / DLC
Compability: MEUSBURGER E1308

o3 I — o3
T | ‘ T
| ! |
L5 L4
Ri03 \‘—; RiS:i
RN _
+ "
+ "
N | N —_—— — —
~ ST g| &2 i~
8 - | o8 o3 F| | m-—-1 8
Oy o Ol A |
R N T
L3 L3 m
L1233 L2 LS
Code D D1 D2 H H1 L L1 L2 L3 L4 L5 R

C2405-40 40 10 26 10 11.5 17 14 1 6 8.5 7 4 M5
C2405-46 46 12 30 12 12.5 22 17 12 7 11 8.5 5 M6
C2405-50 50 14 34 16 16.5 27 22 16 10 13.5 11 6
C2405-60 60 18 40 20 20.5 36 27 20 14 18 13.5 8 M8
C2405-76 76 24 50 25 25.5 40 36 25 18 20 18 10 M10

2.31

TOoOMOCO



C2406

EfLR

Square interlocks

Mat : 1.2379 / 54-58HRC / DLC
Compability:MEUSBURGER E1308

og [ ] og

L5 L4
R3S F R104
’ 9*
: \/
| amf o B ———
~ \ se| 8 g| &9 N
al T "7 T ¥ -3 3| SY| |HIT-—— T ©
| 90 ol 5y M L——_
L1393 L2 Lo
Code D D1 D2 H H1 L L1 L2 L3 L4 L5 R M
C2405-40 40 10 26 10 11.5 17 14 11 6 8.5 7 4 M5
C2405-46 46 12 30 12 12.5 22 17 12 7 11 8.5 5 M6
C2405-50 50 14 34 16 16.5 27 22 16 10 13.5 1 6
C2405-60 60 18 40 20 205 36 27 20 14 18 135 8 M8
C2405-76 76 24 50 25 25.5 40 36 25 18 20 18 10 M10

2.32

TOOMOCO




C2410

EfLHR

Square interlocks

Mat : 1.2510 / 58-62HRC
Compability:MEUSBURGER E1320

L1 L1204

&
I\
W
T
Hi
Y
Il

D1

D2

I
©

I

I

I
0338

D303
(ENTIN
T ! T T ‘ T
K L] L]
£ | )
L L
Code D H1 L D1 D2 D3 H L1 L2 L3 M
C2410-16-10- 44 4
C2410-16-10- 54 | 16 10 54 36 26 14.2 14 26 14 6 M 4
C2410-16-10- 64 64
C2410-25-12- 54 54
C2410-25-12- 74 | 25 12 74 49 37 223 22 34 18 M 5
C2410-25-12- 94 94
C2410-34-16- 54 54 8
C2410-34-16- 94 94
eyerevwrosvmiiy 16 v 66 50 305 30 44 28 M 6
C2410-34-16-174 174
C2410-46-20- 74 74
C2410-46-20-114 114
yrrorerwrm i 20 - 86 66 38.8 38 62 38 12 M 8
C2410-46-20-194 194
C2410-60-25- 94 %4
C2410-60-25-134 134
C2410-60-25-174 | 60 25 174 110 85 512 50 80 48 16 M10
C2410-60-25-214 214
C2410-60-25-254 254
C2410-80-32-114 114
C2410-80-32-154 154
C2410-80-32-194 194
itosoaras | © 32 -~ 144 112 716 70 98 58 20 M12
C2410-80-23-274 274
C2410-80-32-314 314

2.33

TOoOMOCO



C2910
fii

Round locating unitsaa

Mat : 1.2343 / 50-54HRC

Compability:HASCO Z05

L
L4 S’/
— ; -
—_ |
s . N —t
= Jﬁ a | =
%
\, ; ) .
L3 L2 | L |
\ \
2
Code D L L1 L2 L3 L4 M F
€2910-10 10 115 6.6 4 35 5 M3x12 M3x20
C2910-12 12 9.6 45 8.5 M3x16 M3x25
C2910-14 14 17 6
12.4 6 7 M4x14 M4x25
C2910-16 16 5.8
€2910-20 20 9 10.6 10
C2910-25 25 27 19.7 0 02 " M6x20 M6x40
C2910-26 26 '
€2910-30 30
36 25 14 12.2 16 M8x25 M8x55
C2910-32 32
C2910-42 42 46 27 18 16.8 20 M8x30 M8x70

2.52

TOOMOCO




T™C

TOOMOCO

Ejector Pins Series




3.01

TOOMOCO

C3000
T4t

Ejector pins
HASCO Z40

C3100
BRI

Ejector pins
HASCO 744

C3101

AR
Ejector pins
HASCO Z441

C3200
RIE

Flat jector pins
HASCO Z46

C3201
RINE

Flat jector pins
HASCO 7465

C3600

A

Ejector sleeves
HASCO z45

3.02

3.06

3.07

3.09

3.10

3.13

Seite/page



C3000

Tt

Ejector pins

Mat : 1.2516

Compability: HASCO Z40

©
R+0.2 Dc)
S
a
H -0.05
L+2
3
Code D1 L D H R Code D1 L D H R
C3000-1 -100 100 C3000-3.5-100 100
1 150 150
200 200
250 25 192 250
C3000-1.2-100 100 3.5 300 7
1.2 150 350
200 400
250 450
C3000-1.5-100 100 500
150 C3000-4 -100 100
200 0.2 150
1.5 250 3 1.5 200
300 250
350 300
C3000-2 -100 100 4 350
150 400
200 450
2 250 4 500
300 550 3 0.3
350 600 8
400 2 C3000-4.5-100 100
C3000-2.5-100 100 150
150 200
200 250
2.5 250 5 300
300 4.5 350
350 400
400 450
C3000-3 -100 100 0.3 500
150 550
200 600
250 C3000-5 -100 100
3 300 6 3 150
350 5 200 10
400 250
450 300
500 350

3.02

TOoOMOCO



C3000

Tt

Ejector pins

Mat : 1.2516
Compability:HASCO Z40

R +0.2 Om
s
o
H -0.05
L+2
Code D1 L D H R Code D1 L D H R

C3000-5 -400 400 C3000-6.5-600 6 100
450 C3000-7 -100 100
5 500 150
550 200
600 250
C3000-5.5-100 100 300
150 7 350
| 200 10 3 0.3 400
250 450
300 500
5.5 350 550

400 600 12
450 C3000-7.5-100 100
500 150
550 200
600 250
C3000-6 -100 100 300
150 7.5 350

| 200 | 400 5 0.5

250 450
300 500
6 350 550
400 600
450 C3000-8 -100 100
500 150
550 200
600 12 5 0.5 250
C3000-6.5-100 100 300
150 8 350

200 400 14
250 450
300 500
6.5 350 550
400 600
450 C3000-8.5-100 100
500 8.5 150
550 200

3.03 TMC

TOOMOCO



C3000
Tt

Ejector pins
Mat : 1.2516
Compability:HASCO Z40

S
R *0.2 (=
o
a
H -0.05
L+2
3

Code D1 L D H R Code D1 L D H R
C3000-8.5-250 250 C3000-10 -350 350
300 400
350 450
400 500
85 450 10 550
500 600
550 650
600 700
C3000-9 -100 100 C3000-11 -100 100
150 150

200 200 16 5 0.5
250 250
300 300
9 350 350
400 14 11 400
450 450
500 500
550 550
600 5 0.5 600
C3000-9.5-100 100 650
150 700
200 C3000-12 -100 100
250 150
300 200
9.5 350 250
400 300
450 350
500 12 400

550 450 18 7 0.8
600 500
C3000-10 -100 100 550
150 600
200 650
10 250 16 700
300 C3000-13 -100 100
350 13 150
400 200

3.04

TOoOMOCO



C3000
Tt

Ejector pins
Mat : 1.2516
Compability:HASCO Z40

S
R +0.2 (=}
E
a
H -0.05
L+2
Code D1 L D H R Code D1 L D R
C3000-13-250 250 C3000-16-150 150
300 200
350 250
400 300
13 450 18 350
500 16 400
550 450
600 500
650 550
700 600
C3000-14-100 100 650
150 700
200 C3000-18-100 100 22 0.8
250 150
300 200
350 250
14 400 300
450 350
500 7 0.8 18 400
550 450
600 500
650 550
700 600
C3000-15-100 100 22 650
150 700
200 C3000-20-100 100
250 150
300 200
350 250
15 400 300
450 20 350 26 1
500 400
550 450
600 500
650 550
700 600
C3000-16-100 16 100 650

3.05

TOOMOCO




C3100
B

Ejector pins
Mat : 1.2343

Compability:HASCO Z44

|0]®0.05[ A
S
R1+0.2 B E’
[}
N
< ______.°o(_ JE I,
N «©
a
K1-0.05 10
-1
L2-2
L1+2
Code B L D1 | D2 | L1 H R Code B L D1 | D2 | L1 R
C3100-0.6- 80 80 35 C3100-1.4-125 125 50
100 50 14 160 4 2 75 0-2
0.6 | 125 C3100-1.5- 80 80 35
160 100
7
200 ° 1.5 | 125 50
C3100-0.7- 80 80 35 160 75
100 50 200
0.7 | 125 C3100-1.5- 80 80 35
160 100
200 & 1.6 | 125 %0
C3100-0.8- 80 80 35 160 75
08 100 50 200
: 125 C3100-1.7- 80 80 35
160 75 100 50
C3100-0.9- 80 80 35 1.7 | 125
100 160
0.9 125 50 200 75
160 75 C3100-1.8- 80 80 35
C3100-1 - 80 80 35 100
100 4 2 o 2 0.2 18 [125 ] , 50 s
1 125 160 75 '
160 75 200
200 C3100-1.9- 80 80 35
C3100-1.1- 80 80 35 100 50
1.1 100 50 1.9 | 125
’ 125 160 75
160 75 200
80 35 C3100-2 -100 100 50
C3100-1.2-100 12 100 50 2 125
’ 125 160 75
160 75 200
C3100-1.3- 80 80 35 C3100-2.2-125 125 50
100 2.2 | 160
1.3 | 125 %0 200 &
160 75 C3100-2.5-125 125 50
200 25 160 75
C3100-1.4- 80 14 80 35 200
’ 100 50

TOoOMOCO

3.06




C3101
BT

Ejector pins
Mat : 1.2516

Compability:HASCO Z441

R+0.2 Oc" ;&
A e
a
H-0.05 10
L13
L+2
Code B L D1 | D2 | L1 H R Code B L D1 | D2 | L1 R

C3101-0.5- 80 80 35 C3101-1 - 63 63 25
100 80 35
05 125 %0 100 50

160 75 1 125

C3100-0.6- 80 80 35 160

100 200
0.6 | 125 %0 250 &

160 75 275
200 C3101-1.1- 63 63 25
C3100-0.7- 80 80 35 80 35

100 100
0.7 | 125 %0 11 125 %0

160 160

200 | 4 2 & 2 0.2 200 | 4 2 & 0.2

C3100-0.8- 63 63 25 C3101-1.2- 63 63 25
80 35 80 35
100 50 100 50

0.8 | 125 12 125

160 ’ 160

200 75 200
75

250 250

C3100-0.9- 63 63 25 275
80 35 C3101-1.3- 63 63 25
100 80 35
0.9 125 %0 1.3 | 100 50

160 75 125
200 160 75

3.07

TOOMOCO




C3101
BT

Ejector pins
Mat : 1.2516
Compability:HASCO 7441

3 .
[s2] o
R1+02 & 3
3 "________a&  E——
8 ©
K1-0.05 10
-
L2-2
L1+2
Code D1 | L1 D2 | D3 | L2 K1 R1 Code D1 L1 | D2 | D3 | L2 K1 R1
C3101-1.3-200 1.3 | 200 75 C3101-1.8- 100 100 50
C3100-1.4- 63 63 25 18 125
80 35 160 75
4a 100 4 | 2 | | 2 |02 200
125 C3101-1.9- 80 80 35
160 100
200 & 19 | 125 50
C3100-1.5- 63 63 25 160 75
80 35 200
100 50 C3101- 2- 80 80 35
125 100
1.5 | 160 75 125 S0
200 2 160 75
250 100 200 | 6 3 3 0.3
275 125 250 100
315 160 275 125
C3100-1.6- 80 80 35 315 160
100 6 3 8 03 C3101-2.5- 100 100
1.6 | 125 %0 125 50
160 160
200 & 2.5 | 200 &
C3100-1.7- 80 80 35 250 100
100 50 275 125
1.7 | 125 315 160
160
200 »
C3100-1.8- 80 1.8 | 80 35

TOoOMOCO

3.08




C3200

RINE
Flat jector pins ©
Mat : 1.2343 R+02 [=[0.05/A] =
Compability:HASCO Z46 [a]
p 10
L2-2
= =loogA] £
e T
S 4
- 4+t g
N e
H -0.05 10
L1+2
Code B|H|L|D|[DI|LI|H]|R Code B|H|L|D/|Dl|L1 R
C3200-3.8-0.8- 63 63 30 C3200-7.5 -1.2-100 100 50
80 40 125 60
08 100 50 12 160 80
125 60 200 100
63 30 125 60
80 40 160 80
. . 14
38| 1 |100| 42| 8 | 50 75115 200 8 100
125 60 250 125
160 80 160 80
80 40 2 200 100
12 100 50 250 125
1125 60 315 160
160 80| 3 |03 C3200-9.5 -1.5-160 160 80
C3200-4.5-1 - 80 80 40 15 200 100 05
4 100 50 | 250 125 '
125 60 315 160
160 80 95 200 10|16 100
80 40 250 125
45 | 12 100 s |10 50 315 160
’ =125 60 ) 400 200
160 80 C3200-11.5-2 -200 200 100
100 50 250 125
15 125 60 315 160
1160 80 400 200
200 100 13 200 1218 100
C3200-5.5-1 - 80 80 40 25 250 125
1 100 50 ~ 1315 160
125 60 400 200 0.8
160 80 C3200-15.5-2 -200 200 100 '
80 40 2 250 125
12 100 50 315 160
1125 60 400 200
55 160 6 | 12 | 80 | 5 |05 200 100
100 50 155| 25 250 16 | 22 125
15 125 60 315 160
160 80 400 200
200 100
125 60
2 | 160 80
200 100

3.09

TOOMOCO




C3201

mInEt y
Flat jector pins
Mat : 1.2343
Compability:HASCO Z465
‘lf_)
3
R+0.2 o
A==
p 10
L1-2
3 g 3
o S
T
S \
T - ______e__ I —
3 Vg
H-0.05 10
L+2
Code B H L D | D1|L1|H R Code B H L D [D1|L1| H R
C3201-2.8-0.5- 80 80 40 C3201-3.8-0.8-250 0.8 | 250 125
05 100 50 63 30
125 60 80 40
160 80 100 50
80 40 1 125 60
0.6 100 50 160 80
125 60 38 200 42| 8 100
160 80 250 125
2.8 80 | 3 6 | 40 80 40
100 50 100 50
0.8 | 125 60 12 125 60
160 80 1160 80
200 100 200 100
100 50 250 125
1 125 60 3|03 C3201-4.5-1 - 80 80 40 3|03
160 80 100 50
200 100 125 60
C1200-3.8-0.6- 80 80 40 1 160 80
100 50 200 100
0.6 | 125 60 250 125
160 80 80 40
200 100 45 100] ° | 1% 0
3.8 63 42| 8 | 30 125 60
80 40 1.2 | 160 80
0.8 100 50 200 100
125 60 250 125
160 80 315 160
200 100 1.5 | 100 50

3.10

TOoOMOCO



C3201
T

Flat jector pins
Mat : 1.2343

Compability:HASCO Z465

R+0.2 It
p 10
L1-2
3 3
T
s 1 T T e——
3 Ve
H-0.05 10
L+2
Code B H L D1 | L1 | H R Code L H B D [ D1 | L1 R
C3201-4.5-1.5-125 125 60 C3201-7.5-1.2-125 125 60
160 80 160 80
4, 15 10 3 (03
° 200 100 1.2 | 200 100
250 125 250 125
C3201-5.5-1 - 80 80 40 315 160
100 50 125 8 14 60
1 125 60 75 160 80
160 80 1.5 | 200 100
200 100 250 125
250 125 315 160 0.5
80 40 160 60
100 50 2 200 80
12 125 60 250 100
1160 80 C3201-9.5-1.5-160 160 80
200 100 1.5 | 200 100
55 250 12 | 125 250 | 10 | 16 | 125
100 50 5 105 95 200 100
125 60 250 125
15 160 80 2 315 160
~ 1200 100 C1200-9.5-2 -200 200 100
250 125 250 125
315 160 315 160
100 50 200 100
125 60 11.5 250 | 12 | 18 | 125 0.8
1
2 160 80 25 315 60
200 100
250 125
C1200-5.5-2 -100 | 7.5 | 1.2 | 100 14 | 50

3.11

TOOMOCO




C3600
Gl

Ejector sleeves
Mat : 1.2343
Compability:HASCO z45

[Ye)
R1+0,2 = [A]
©
o
o <)
S T BE———- &
o
H-0,05
L1
1+1
3
Code D L d1 L1 | d2 | H Code D L d1 L1| d2 | H
C3600-2 -50 50 £3600-5.5-175 175
2 75 1 25| 4 | 2 53 00 | 3% 0] 3
100 C3600-6 -60 60
C3600-2.5- 50 50 75
25| 75 1~12 | 25| 5 | 2 100
100 125
C3600-3 -50 50 150
75 175
3 100 1.3~1.6 6 6 200 | 35743
125 225
150 250
C3600-3.5- 50 50 275
75 300 1
3.5 100 | 1.6~2.2 7 325
125 - C3600-7 -75 75
150 100
C3600-4 -50 50 125
75 150
100 ; 175 | 4 o s | 45
4 125 9e25 . 200 5
150 225
175 3 250
200 275
225 300
C3600-5 -50 50 C3600-8 -75 75
75 100
100 125
125 150
5 150 3-3.5 175
175 200
200 45 | 10 8 225 | 4.2~5.5 14
225 250
€3600-5.5- 50 50 275
75 300
55| 100 3.5~4 325
125 350
150 375

TOoOMOCO

3.13



C3600
B}

Ejector sleeves
Mat : 1.2343
Compability:HASCO 745

e}
R1+0,2 = A
©
N
o <o)
I e —— 2
e}
H-0,05
L1
I+1
Code D L d1 L1| d2 | H Code D L d1 L1| d2 | H
C3600-8 -400 8 400 3.5~6 100 C3600-14- 75 75
C3600-9 -125 125 100
150 i 125
9 175 4.5~7 150
200 175
225 200
C3600-10-125 125 225 45
150 14 oo 10~12
175 45 275
200 300
225 325
250 350 22
0 55 6~7 615 375
300 400 100
325 C3600-16- 75 75 .
350 100
375 125
400 100 150
C3600-11-100 100 16 | 175 | 10~13 | 45
150 200
200 45 225
1 250 4.5~9 18 250
300 275
350 C3600-20-100 100 100
400 100 125
C3600-12-125 125 150
150 20 [ 175 | 12~16 | , | 26
175 200
200 225
225 250
12 | 250 P L e €3600-25-100 100 100
275 125
300 150
325 25 [ 175 | 14~16 | , | 32 | 10
350 200
375 225
400 100 250

3.14

TOOMOCO




T™C

TOOMOCO

General mould components




C4000
AfE

Date stamps
HASCO 748

C4010
AME

Date stamps
HASCO 4861

C4020
AAE

Date stamps
] HASCO 74800

C4400

PR FF 5%
Limit switch
STRACK 27600

C4500
KM

Air valves
HASCO Z491

C4502
||

Air valves
DME VA

4.01

TOOMOCO

C4503
KM

Air valves
CUMSA VA

C4810

584

Shoudler bolt screws
HASCO Z38

4.02

4.03

4.04

4.07

4.08

4.1

Seite/page



C4000

BHE
Date stamps

Mat : 1.2083 / 50-55HRC
Compability: HASCO 248

I
N
o5 S
P — — - - — a
g &
N
°
‘ L1+0.02 (?
o~ <—>}7
E L1:0.02 8
©
©
C4000-1 C4000-2 C4000-3 C4000-4
Code Code Code D D1 L L1 H D2 d1 d2
C4000-1- 6 C4000-2- 6 C4000-3- 6 10 14 5 0.9 5 15 3.5
C4000-1- 8 C4000-2- 8 C4000-3- 8 12 17 6 ’ 6 ’ 4.5
C4000-1-12 C4000-2-12 C4000-3-12 12 20 22 10 35 8 ) 6.5
C4000-1-16 C4000-2-16 C4000-3-16 16 23 27 11 ' 9.25 9
C4000-1-20 C4000-2-20 C4000-3-20 20 28 36 14 4 115 3 10.5

TOoOMOCO

4.02



C4010

HHE
Date stamps

Mat : 1.2083 / 50-55HRC
Compability: HASCO 4861

®D g6

L+0.02

L1

C4010-1 C4010-2 C4010-3 C4010-4 C4010-5 C4010-6 C4010-7
Code Code Code Code Code D L L1 M

C4010-1- 4 C4010-2- 4 C4010-3- 4 C4010-4- 4 C4010-5- 4 4 125 25 M2x 20
C4010-1- 5 C4010-2- 5 C4010-3- 5 C4010-4- 5 C4010-5- 5 5 14 M2.5x20
C4010-1- 6 C4010-2- 6 C4010-3- 6 C4010-4- 6 C4010-5- 6 6 16 3.0

C4010-1- 8 C4010-2- 8 C4010-3- 8 C4010-4- 8 C4010-5- 8 8 18 M3x20
€4010-1-10 C4010-2-10 €4010-3-10 C4010-4-10 C4010-5-10 10 22

C4010-1-12 C4010-2-12 C4010-3-12 C4010-4-12 C4010-5-12 12 25 5 M4x20

4.03

TOOMOCO




C4020

AME
Date stamps \ . /,-"4

Mat : 1.2083 / 50-55HRC i _
Compability: HASCO Z4800 & o
-0.01
D003
R
|
[ K | \{
|
53 | + ¢
i ——7777771;@7\?777, L
7N —
- / 0
R
W s
! (N [\sE”
D1
] 4
[
T
3 ?
S5
i
Y
T I
| I N | I
-
| I | I
M|
—— |-

Code D L D1 L1 L2 H H1 R M
C4020-18-10 18 10 2.5 2 5 1.2 3.2
C4020-25-20 25 20 45 4 3.2 M3

4 12.7 3.5
C4020-35-25 35 25 8 6.5

4.04

TOoOMOCO



C4400
RALFF%

Limit switch
Compability: STRACK Z7600

12
| i | ‘
[Te] = |
. g | _ N !
N : gD 8 o
| | — |
~] e N | o L] -
=l | el |
g | :1‘ ) = | !
2 10 T@ B | R5@) O | Ihe
o 12 ; !
NN : Y J
‘ |
T |
.8 60.2+0.3
21+0.3 68
80.2+0.1
Code M Max
C4400-1 - 48V.2A
C4400-2 M5x16 80°C/24V.2A

4.07

TOOMOCO



C4500

KN
Air valves
Max : 250°C

Compability: HASCO Z491

20

+0.02
L2

+0.03
q)D+0. 02

Code D D1 L L1 L2
C4500- 8 8 6 8 16
C4500-12 12 8 13 21 °
C4500-16 16 10 12 22 6

TOoOMOCO

4.08



C4503

|

Air valves

Mat : 1.2083 / 50-55HRC
Max : 150°

Compability: CUMSA VA

Code D L
C4503-065212
C4503-086512
C4503-100812 10 12
C4503-121012 12
C4503-161320 16
C4503-201720 20 20

4.11

TOOMOCO




C4810
sERY

Shoudler bolt screws
Mat : SCM435 / 33-38HRC
Compability: HASCO Z38

2
o SwW g
oy
@) 1 HE—I5:
L1
. H L1+0.25
Code D1 | L1 | D2 | D3 | L2 | K1 |SW1 Code D1 | L1 | D2 | D3 | L2 | K1 |SW1
C4810- 6- 8 8 C4810-12-25 25
10 30
12 40
16 50
6 20 M5 10 | 95 | a5 3 12 | 60 | M10 | 18 16 9 6
25 70 4
30 80
40 90
50 100
60 C4810-16-20 20
C4810- 8- 8 8 25
10 30
12 40
16 50
20 16 | 60 | M12 | 24 18 11 8
25 70
8 30 M6 13 11 | 55 4 80
40 90
50 100
60 120
70 C4810-20-30 30
80 35
C4810-10-10 10 40
12 50
16 60
20 20 | 70 | M16 | 30 22 14 10
25 80
30 90
10 | 40 | M8 16 13 7 5 100
50 120
60 140
70 C4810-24-50 50
80 60
90 70
100 24 | 80 | M20 | 36 27 16 12
C4810-12-12 12 90
12 16 | M10 | 18 16 9 6 100
20 120

4.13

TOoOMOCO



T™C

TOOMOCO

Demoulding series




C5120

z£M

Tool safety devices
HASCO 773

C5200

_ "&
a

PR3 %
Slide retainers
STRACK 25130

C5201

PR 4 3R
Slide retainers
STRACK Z5134

C5210
PR i 3%

Slide retainers
STRACK 25140

C5220

PR 3R
Slide retainers
HASCO 7189

C5221

PR 4 %
Slide retainers
MEUSBURGER E3044

C5225
PR %

Slide retainers
CUMAS RC

C5226

PR 4 3%
Slide retainers
CUMAS RM

5.07

5.08

5.09

5.12

5.13

C5300
HHEM

Latch locks
HASCO Z170

C5301
BHEM

Latch locks
HASCO z170

C5310
BHEM

Latch locks
HASCO z171

C5311
B

Latch locks
HASCO z171

C5315
BHEM

Latch locks
CUMAS GS

C5320
B

Latch locks
HASCO 2174

C5321
BHEM

Latch locks
HASCO Z174

C5325
R

Round locating unitsaa
MEUSBURGER E1809

5.20

5.21

5.22

5.23

5.24

5.25

5.26

Seite/page

C5326 5.27

BHEM
Latch locks
MEUSBURGER E1808

C5327

BHEM
Latch locks Links
MEUSBURGER E1820

5.28

C5330 5.29
BB
Latch locks Links

STRACK z4

C5335 5.35

BB
Latch locks Links
STRACK Z5

C5338

BiHEH
Latch locks Links
RABOURDIN REF

5.36

C5410 5.51

BEH
Latch locks Links
STRACK Z3

C5420 5.54

BiEH
Latch locks Links
HASCO z173

C5430 5.55

BB
Latch locks Links
MEUSBURGER E1840

5.01

TOoOMOCO



C5510

P

5.02

TOOMOCO

C5500
3R TR

Accelerated ejectors
CUMAS EP

5.56

5.57
FEHNA

Early return mechanism
CUMAS AE

C5520
O3 T

Accelerated ejectors
STRACK Z141

5.59

C5550 5.60
LUUE::: Do

Slide units

HASCO 2181

C5551 5.61
Rk Do

Slide units

HASCO 71810

C5552 5.62
FUUE::: Do

Slide units

HASCO 71811

C5553 5.63
LR Do

Slide units

HASCO 71812

C5554 5.64
FUUE::: R

Slide units

HASCO 71813

-t

C5780

V4

C5600

JUTE:: P

Slide units
STRACK Z4290

5.65

5.76

RS EEE
Angle pin housing
CUMAS BG

C5781

MNEEEEE
Angle pin housing
CUMAS GR

5.77

C5800 5.85

SR
Two-stage ejectors
HASCO Z169

C5810 5.86
SR

Two-stage ejectors

HASCO Z1691

C5825 5.87
R

Two-stage ejectors
MEUSBURGER E1860

C5830 5.88
R

Two-stage ejectors

CUMAS DX

C5840

SRR
Two-stage ejectors
HASCO 7163

5.89

NN

B

® N

N

.\\

N\

Seite/page

C5841
a4

Round latch locks
HASCO Z164

C5860

SRR AL LA
Two-stage ejectors
CUMAS LR

C5861
SRR A

Two-stage ejectors
CUMAS AL

C5880
B LA

Helical spindle
HASCO 21500

C5881
RELE

Helical spindle
HASCO 71520

C5900
#SM

Sprung cores
CUMAS PW

C5901

BSN
Sprung cores
CUMAS PF

C5902
®EM

Sprung cores
CUMAS MP

5.89

5.92

5.92

5.93

5.95

5.97

5.98

5.99



C5910 5.100
#IR

Sprung cores

MEUSBURGER E3200

C5911 5.101
Wil S]m

Sprung cores
MEUSBURGER E3202

C5920 5.102
i S T

Sprung cores
CUMAS EE

TOoOMOCO

Seite/page

5.03




C5120

Z&H

Tool safety devices

Mat : 1.2312
Compability: HASCO Z73

L1
™
&
L2 Q‘Q
- o
£
L
L |
T [
| . T
i | ! |
| | |
L 9 “ ! S
Pos.2 Pos. 3 | Pos. 4
Code H D L L1 L2 L3 L4 L5 R Pos.2 Pos.3 Pos.4
C5120-12-20-50 12 20 50 24 10 0.9 8 9 30 M6x 6 M5x 12 M6x 14
C5120-16-25-63 16 25 63 30 13 1.5 11 11 38 M8x 10 M8x 26 M8x 18
C5120-20-32-80 20 32 80 35 15 2 13 13 48 M10x12 M10x20 M10x22

5.07

TOOMOCO



C5200
RA%

Slide retainers
Mat : 1.2344 / 52-54HRC

Max: 100°C

Compability: STRACK Z5130

C5201

F-j» D1+0.05
_ | 2 . P1
\ [ [ 1 P2
lomm o |
o \.@90 ‘
ks lQf: - \
) |
A \ T1 '
} T
90°
Code D D1 D2 L L1 L2 L3 T T1 d R M P1(N) | P2(N)
C5200-13 13 6.6 7 10 43 1.4 1 16 | 035 | 2.2 | 0.35 |M2x16| 28 34
C5200-18 18 9.6 10 14 6 2 1.8 2 05 3.2 0.5 |M3x20 - 42
C5200-27 27 14.4 15 21 9 3 2.8 3 ’ 43 | 0.75 |M4x25 92

TOOMOCO

5.08




C5201
RfiR

Slide retainers

Mat : 1.2344 / 52-54HRC

Max: 100°C

Compability: STRACK 75134

* T P2 _
g |
$7 I I 8 3
— o _ oo
Sy OTof & ¢ . 2
| | - o
8 % | | 7
oo
D2 oD3
Code D D1 D2 D3 L1 L2 L3 L4 L5 L6 R P2(N)
C5201- 7 7 6.6 8.4 5.3 7 1 1.4 12 7.5 6.3 0.35 34
C5201-10 10 9.6 12 8.3 10 1.8 2 16 10 9 0.50 42
C5201-15 15 14.4 18 12.4 15 2.8 3 18 16 13.5 0.75 92

509

TOOMOCO




C5210

PRA R

Slide retainers

Mat : 1.2343 / 52-54HRC

Max : 100°C

Compability: STRACK 25140

P2 P1
n o
o
co
[
T o
o
- »
Ro.5
Code D H L L1 L2 R d M P1(N) P2(N)
C5210-0 14 12 38 28 16.5 6 8 M4-16 62 70
C5210-1 18 14 53 43 32 8 M4-25 114 126
PRz R
Slide retainers
Mat : 1.2343 / 52-54HRC
Max : 100°C
Compability: STRACK 25140
+0
3 447, , od @
\ — <
[ E—— A
sef [ 1 g
al ! ! 4 >
53 ‘io? | ! ::ﬁ § \RO0.5
o o ~ ! | j |
© 1 ,|:3€ M5
< i
|| ]
L=
= T
\ RS @42 I —
o 3
N
Z N
N
(o]
b4
Code M P1(N) P2(N)
C5210-2 M4-25 228 252

5.10

TOoOMOCO



C5220
IbE

Slide retainers

Mat : 1.2379 / 58-62HRC
Max: 100°C

Compability: HASCO 2189

Slider
o
Code H D D1 H1 H2 L L1 L2 M F(N)
C5220-10 10 215 18 5.1 9.5 40 17.5 7 M5 100
C5220-12 12 255 22 6.1 " 43 18 75 150
M6
C5220-16 16 315 28 3.1 50 20.5 9.5 250

5.11

TOOMOCO



C5221
RAR

Slide retainers
Mat : 1.2842 / 58-60HRC

Max: 180°C
Compability: MEUSBURGER E3044

oD2 %%

N b L1
R 'K T
4 .
90°

Code D1 D D2 D3 H HA1 H2 L L1 R M F(N)
C5221- 8 8 12 9 5 11 3 1.2 30 18 0.35 M4 28
C5221-12 12 16 13 8 14 4 2.2 38 22 0.5 38
C5221-16 16 20 18 12 22 5 3.2 50 30 0.8 M5 44

5.12

TOoOMOCO



C5225
IVES

Slide retainers

Mat : 1.2344 / 40-45HRC
Compability: CUMAS RC VR

D
:“|H 0 [ M
[ . L
RN i - O\ \ll
\%7‘ Fo
[ ﬁ V] 5
~ S
g | :

Code D L R H L1 L2 L3 d M F(N)
C5225-123006 12 30 6 4.7 21 16 4 6%x20 M5x 16 49
C5225-164008 16 40 8 5.7 28 15 5 8x20 M6x 20 69
C5225-205010 20 50 10 7.7 34 17 6 10%24 M8x 25 137
C5225-246012 24 60 9.7 42 23 7 12x32 M10x30 206

12
C5225-328012 11.7 27 M12x35 274
C5225-328016 16 15.7 25 M12x50 372
PRz R ‘
Slide retainers ) ‘Y
-
Mat : 1.2344 / 40-45 HRC =

Compability:CUMAS RM

‘ 65 =
60 © @
o~ I
16 8 L TERR
R [ I, ‘ﬁ ]
T f NI
© T
B 7 -— _bhe 1 | 8
. T M8 v ‘
| |
|
F(N)
Code
W1 w2 W3 W4
C5226-651608 74 147 220 294

5.13

TOOMOCO



C5300
i

Latch locks
Mat:1.2379
Compability: HASCO 2170

L8 | Lo
‘ / L10
(\J | /i u '51 | / =
| 'y © i
‘ 7Ff DT // | 7
I L6 ] ‘ - 7/
(| § ,’(_ - E N.L // : -
[ 7 — N 7/ ;
= v T T 77 ™
T / ﬁ‘ /—I ~
Control bar L#-l L11 _F Latch bar

D

Code D D1 D2 D3 D4 D5 D6 D7 D8 L L1 L2 L3 L4 L5 L6
C5300-1 | 22 14 5 8 6 5 7 12.5 12.5 63 49 40.5 8 28.5 4 100
C5300-2 | 34 24 8 18 8 16 20 16 90 69 62 13 45 6 140
C5300-3 | 42 31 9 22 9 7 20 25 20 110 80 80 15 55 7 200

L7 L8 L9 L10 L11 T T T2 T3 T4 T5 |H(min.) |H(max.)| F(N) ®d d1

63 16 125 13.8 80 6.5 6 6 6.5 22 6 5.5 80 7800 | d5x28 | M5x25
100 225 160 17.7 125 8 12.5 12.5 8 325 7.5 9.5 110 | 13700 | P6x50 | M6x40
25 250 17.6 12.5 16 16 12.5 44 12 10.5 190 | 23500 | ®8x60 | M8x45

5.19

TOoOMOCO



C5301

BN

Latch locks

Mat:1.2379 / DLC
Compability: HASCO 2170

Control bar

D8

T2

~ =

, L9
| KL10 ]
vy
75 D
f’f" L
/L

; t
Iy | ™
7 L11 l_f"_ Latch bar

Code D D1 D2 D3 D4 D5 D6 D7 D8 L L1 L2 L3 L4 L5 L6
C5301-1 | 22 14 5 8 6 5 7 12.5 12.5 63 49 40.5 8 28.5 4 100
C5301-2 | 34 24 8 18 8 16 20 16 90 69 62 13 45 6 140
C5301-3 | 42 31 9 22 9 7 20 25 20 110 80 80 15 55 7 200

L7 L8 L9 L10 L11 T ™ T2 T3 T4 T5 |H(min.) |H(max.)| F(N) dd d1

63 16 125 13.8 80 6.5 6 6 6.5 22 6 5.5 80 7800 | ®5x28 | M5x25

100 225 160 17.7 125 8 12.5 12.5 8 325 7.5 9.5 110 | 13700 | P6x50 | M6x40

25 250 17.6 12,5 16 16 12.5 44 12 10.5 190 | 23500 | ®8x60 | M8x45

5.20

TOOMOCO




C5310

BIEM

Latch locks

Mat:1.2379

Compability: HASCO Z171

L7 L9

an
o0

L13

™

i
- L] !
T

L10

'_
Latch bar Controlbar |~ ‘

©
1
T S p
I  E— ‘
Lo
\’ r1 - ~
I F; i [ ‘
\‘ I |
N I s ~
[}
=
=)
D2

Code D D1 D2 D3 D4 D5 D6 D7 D8 L L1 L2 L3 L5 L6 L7 L8

C5310-1 22 16 17.5 6 135 | 125 | 155 16 12.5 75 69 60 6 10 30.5 | 140 63
C5310-2 | 31.5 24 25 8 19 16 20 20.5 16 90 83 73 7 12 38 180 100
C5310-3 40 30 32 10 25 20 25 255 20 112 | 103 88 9 16 48 250 | 125

L9 L10 L11 L12 L13 T T T2 T3 T4 T5 |H(min.) [H(max.)| F(N) @d d1

140 63 20 5.2 12 6 6.5 6 6.5 22 6 5.5 80 6500 | ®5x28 | M5x25
180 100 27 6.95 16 12.5 8 12.5 8 325 75 7 110 15500 | ®6x50 | M6x35
250 125 36 8.7 20 16 12.5 16 12,5 43.5 12 9 160 | 22000 | ®8x50 | M8x45

5.21

TOoOMOCO



C5311

BN

Latch locks

Mat:1.2379 /DLC
Compability: HASCO 2171

L7

Latch bar

L9

i !
&
Ll --d }—fﬂ:A*'**:>j
| e == T -
=9 e 12 \ L11 ‘ S
4| ala _ ~T77T77~~—# L | L
r [ ‘ |
i : [ J [ |
i [
L TR B
S _F NI ~ |
[} ]
==
=)
wr\ T
=\
NE
D2 >\ i
9]
% '_ i
o =Pd
E-E
Code D D1 D2 D3 D4 D5 D6 D7 D8 L L1 L2 L3 L5 L6 L7 L8
C5311-1 22 16 17.5 6 135 | 125 | 155 16 12.5 75 69 60 6 10 30.5 | 140 63
C5311-2 | 315 24 25 19 16 20 20.5 16 90 83 73 7 12 38 180 100
C5311-3 40 30 32 10 25 20 25 255 20 112 103 88 9 16 48 250 125
L9 L10 L11 L12 L13 T T T2 IS T4 T5 H(min.) |H(max.)| F(N) dd d1
140 63 20 5.2 12 6 6.5 6 6.5 22 6 5.5 80 6500 | ®5x28 | M5x25
180 100 27 6.95 16 12.5 8 125 8 325 7.5 7 110 15500 | ®6x50 | M6x35
250 125 36 8.7 20 16 12,5 16 12.5 43.5 12 9 160 22000 | d8x50 | M8x45

5.22

TOOMOCO




C5315

B 4 /
Latch locks p e
Mat:1.2379 y

Compability: CUMAS GS / //(

D2 ’—EL
|
i
i;
w,
D1
D

D3

o B Bl 8 g
e e e e

f

I
1

Pos
D1{D2 D3| L [L1|L3|L4|L5|L6
Code L2/ D H Pos.5 Pos.7 Pos.8 Pos.9 ALY

C5315-226616 |22 |66 | 16 | 32 | 38 | 15 |105| 75 | 30 | 25 | 10 | 38 | @6x 20 @6x 30 M6x 30 M6x 35 1960

C5315-368619 | 36 | 86 | 19 |42.7| 46 | 20 {153|102| 43 | 32 | 12 | 50 | @8x 24 8% 36 M8x 36 M8x 40 3920

C5315-421024 | 42 (106 | 24 |50.2| 56 |24.5(190|124| 51 | 40 | 15 | 60 | @10%30 @10x40 M10x40 M10x45 7840

5.23

TOoOMOCO



C5320

BiEN

Latch locks

Mat:1.2738

Compability: HASCO Z174

‘ L2
AR
J | o
334 B —: -
I
Lo mm e m e e . L ] o~
T 2 g I 2 T
ITe 3 .
1 T . T | ! L4 ‘
L7 ! ! L8
L )
Code D rax [max|HY [D1| D2 |D3| H | H1|H2 H3|H4 |H5|L1| L2| L3 |L4 L5 |L6 (L7 |L8 | F(N) Dowelpin M
C5320-50-90- 0 0 20
90 —— 140(140 —
C5320-50-90- 20 20 40
50 —— 4 —140(30.05/1522.3/16 |16 | 10| 9 |9.3 9.75—— 10 | 20 | 20 | 10 | 16000 M4X12
C5320-50-130- 0 0 20
130 — 180|180 —
€5320-50-130- 50 50 70
»6x20
C5320-80-117- 0 0 34
117 — 200|200 —
C5320-80-117- 32 32 66
80— 5.5 ——160/40.05/20(30.3| 22 | 21 | 13 | 12 [12.3 16.75— 16 | 34 | 34 27000 M4X16
C5320-80-167- 0 . 0 34
C5320-80-167- 75 75 109
250|250 15
C5320-100-145- 0 145 0 45
€5320-100-145-50 50 95
100 7 —80|60.05| 2537.5| 27 | 27 | 16 | 15 15.5 22.25—— 22 | 45 | 45 48000| ®8x24 |M8X18
€5320-100-195- 0 0 45
195 o] 300|300 ]
€5320-100-195-80 80 125

5.24

TOOMOCO



C5321
L s

Latch locks
Mat:1.2379 / DLC

Compability: HASCO Z174

- _} S s
T _: TS ’8 0 T L - - [a)
- - ==
|
R =]
N
EEeE T [
T : ? T
I | P2 .
— T L4
L7 |
Code D1| D2 H2 L1 L2 L4 | L5 L8 Dowel pin| M
C5321-50-90- 0 20
140(140 —
C5321-50-90- 20 40
4030.05 16 —1 10 10 M4X12
C5321-50-130- 0 20
180(180 —
C5321-50-130- 50 70
®6x20
C5321-80-117- 0 34
200{200 —
C5321-80-117- 32 66
60140.05 21 —116 M4X16
C5321-80-167- 0 34
C5321-80-167- 75 109
250|250 15
C5321-100-145- 0 45
C5321-100-145-50 95
8060.05 27 22.25—— 22 ®8x24 |M8X18
C5321-100-195- 0 45
300{300 —
C5321-100-195-80 125

TOoOMOCO

5.25



C5325
BE
Latch locks

Mat : 1.2085
Compability: MEUSBURGER E1809

L1
H1
4810/8X40
by
10x9.3x1
N
I (=]
. t")r
spring a
[=)
R4
H
a3t a7
I
I
| o
| N
Keine Fase! ; T
No chamfer! ‘
- - ~< - -~ Keine Fase!
No chamfer!
g
ﬂ
Code L | D2 [FINN\| D | D1 [ D3 | H | HI | H2 | L1 | L2 |L3 d d1 d2 | d3 spring
C5325-62-31- 400 400 Il 16x32
(C5325-62-31- 700 62 31 | 700 | 45 29 11 28 (144 | 6 36 28 | 16 M8 | M6 10 8 B 16x32
C5325-62-31-1050 1050 Il 16x32

5.26

TOOMOCO




C5326
i

Latch locks
Mat : 1.2344
Max: 250°C

Compability: MEUSBURGER E1808

L1
7 H1
| |
N
N 8 D e
d <« &
] | 8~
| [m]
fa) 4 _
a =
S ol
T, D3(x4)
L3 F11 H
s [E<F —
F3"
L
dH7 M
oN
T
D6+ 0.01
D
5| OO t1-g o
-}
Code L D D1 | D2 | D3 D4 | D5 | D6 H H1 | H2 L1 L2 L3 L4 d M F1[N] F2 [N] F3 [N]
C5326-135- 1 1 2211 15.6
135 28 19 7 25 9 38 | 60 | 30 | 25 | d5 |M 6 750 1000
C5326-135-40 40 61.1| 54.6
8 25 450
C5326-140- 2 2 28.1 23.1
140 32 | 22 10 32 11 | 64 | 70 | 100 | 35 | ®6 | M10 1000 1500
C5326-140-40 38.2 64.3 | 59.3

5.27

TOoOMOCO




C5327
L g

Latch locks

Mat : 1.2738

Max: 180°C

Compability: MEUSBURGER E1820

L ANN
&
MR L130-03

Code D L |HVv | D1|D2 D3 D4 D5/D6| H |H1|L1|L2 | L3 |L4 | L5 |L6 |L7 |[Hub1| d M
C5327-54-130- 0 0 130
C5327-54-130-15 130 | 15 - 460
C5327-54-130-25 25
54 322|124 | 23 | 14 7 | 22 |124]326] 15 156105 | 34 | 22 M 6
C5327-54-160- 0 0 130
C5327-54-160-15 160 | 15 160 90
C5327-54-160-25 25 ; )
C5327-64-146- 0 0 150
C5327-64-146-18 146 | 18 200 5.80
C5327-64-146-32 32
64 382|164 | 25 163 10 | 25 |15.4 | 35 | 16 17 | 12 | 40 | 26 M 8
C5327-64-198- 0 0 150
C5327-64-198-18 18 200 5120
C5327-64-198-32 32
198
C5327-80-198- 0 0 200
C5327-80-198-25 25 o 6-110
C5327-80-198-50 50
80 49220430 | 19 | 12 | 12 | 30 |164 | 42 | 20 20 | 14 |52 | 32 5 | M10
C5327-80-248- 0 0 200
C5327-80-248-25 25 - 6-160
C5327-80-248-50 50
248
C5327-94-248- 0 0 250
C5327-94-248-30 30 200 7-140
C5327-04-248-55 55
o 622|254 | 38 | 24 | 15 | 14 | 36 | 23 | 54 | 27 25 | 16 | 66 | 40 6 | M12
C5327-94-298- 0 0 250
C5327-94-298-30 208 | 30 w00 7-190
C5327-04-298-55 55
3) 4)
D (2x) F(max) F(max) Fz Y
max max
54 246 246 20 kN 15kN
64 396 396 35 kN 20kN
80 646 646 50 kN 3.0kN
94 796 996 80 KN 40KN

5.28

TOOMOCO



C5330
i

Latch locks
Mat : 1.2379 / 900HV
Compability: STRACK 74

C5330-15

D2
D4
Tt :’T

o
1_|-1
]

_

wW
I
<

}
[6)]
oo
(6]
w
w
?
[ré
N
2]

[ &)
[0 ) Y
+—r—-8H 45 R e < |
R - |y |
| .
| L |
! b ar— T

T e B 21 \ﬂ;
I
%

Code D |HV D1|D2|D3|D4 |D5|H |[H1|H2 | H3| L L1 | L2 | L3 | L4 | L5 | L6 |Dowel pin| M
C5330-1 -0-0 0
C5330-1 -25-0 25
50 30 |40 |15 | - | 10 |22.3|93 | 16 (175|146 | 96 | 146 | 10 | 21 | 20 | 10 @5%x16  |M4x12
C5330-1 -50-0 50
C5330-1 -75-0 75
C5330-15-0-0 0
C5330-15-25-0 25
7% 45 | 65 | 20 | 56 30.3|12.3| 21 |23.5/196 | 121|196 | 15 | 31 | 30 | 20 @5x20 |M8x16
C5330-15-50-0 50
C5330-15-75-0 75 15
C5330-2 -0-0 0
C5330-2 -25-0 25
90 60 | 74 | 25 | 74 37.5(155| 27 | 29 | 246|159 | 246 | 18 | 38 | 36 | 25 @6x20 |M8x20
C5330-2 -50-0 50
C5330-2 -75-0 75

5.29

TOoOMOCO



C5330
L s

Latch locks

Mat : 1.2379 / 900HV
Compability: STRACK Z4

g
L5_,  C5330-1 (e af
L6
T T T
] g
| | | L4
-— = -
| N | | -~
- N o T [ oo L2 ‘
== [ - |
S 1|
| |
| A @I L3
LY
/_T—|—
M=
} L } ‘—L——————grrrrj
T F—
T|¥ |
. L5 U—L“—‘
L7 L4+HV |
Code D | HV D1|D2|D3|D4|D5| H |H1|H2|H3|H4| L |L1|L2|L3|L4 | L5 |L6 | L7 | Dowel pin M
C5330-1 -0 -41 0
C5330-1 -25-41 25
50 30|40 15| - [10(22.3/9.3 |16 |17.5/ 16 |146| 96 |146| 10 | 21 | 20 | 10 | 146 @5%x16 M4x12
C5330-1 -50-41 50
C5330-1 -75-41 75
C5330-15-0 -41 0
C5330-15-25-41 25
75 45 | 65 | 20 | 56 30.3[12.3| 21 |23.5| 21 {196 |121|196| 15 | 31 | 30 | 20 | 196 @5x20 M8x16
C5330-15-50-41 50
C5330-15-75-41 75
15
C5330-2 -0 -41 0
C5330-2 -25-41 25
90 60 | 74 | 25| 74 37.5[15.5| 27 | 29 | 27 | 246|159 |246| 18 | 38 | 36 | 25 | 246 @6x20 M8x20
C5330-2 -50-41 50
C5330-2 -75-41 75

5.30

TOOMOCO




C5330
i

Latch locks
Mat : 1.2379

Compability: STRACK Z4

L2

\
23

D4 Hs

f
o

| L |
[ |
T U—U]_LI]_‘
L4+HV |
Code D |Hv|D1|D2 D3 |D4 | D5/ H | H1/H2 H3|H4 |H5| L |L1|L2|L3|L4|L5|L6 M

C5330-11-0 -0 0
C5330-11-25-0 25

50 30 | 38 | 15 |22 | 10 [223| 93| 16 (175 4 3 [146| 91 | 146 | 10 | 21 | 20 | 10 | M6x20
C5330-11-50-0 50
C5330-11-75-0 75
C5330-16-0 -0 0
C5330-16-25-0 25

75 45 | 56 | 20 | 30 30.3|12.3| 21 |235| 5 | 45196 | 116 | 196 | 15 | 31 | 30 | 12 | M8x25
C5330-16-50-0 50
C5330-16-75-0 75 15
C5330-21-0 -0 0
C5330-21-25-0 25

90 60 | 72 | 25 | 38 37.5|1565| 27 | 29 | 6 6 | 246|154 | 246 | 18 | 38 | 36 | 14 |M10x30
C5330-21-50-0 50
C5330-21-75-0 75

5.31

TOoOMOCO



C5330
L s

Latch locks
Mat : 1.2379
Compability: STRACK z4

/
—————————— 7 ]
| I 7, %I
!/
L4 5 —
L2 ‘
T
L3 HV
»‘ |———]|
/ /
/1 7 T |
/1l
L 7 7
I I / /
T
—ti !/
/ 1
L7 L4+Hv ,/ ,/
Code D Hv D1 |D2 |D3|D4 |D5| H |H1|H2|H3|H4 | H5| L |L1|L2 |L3|L4 |L5|L6 |L7 M
C5330-11-0 -41 0
C5330-11-25-41 25
50 30|38 |15|22 |10 |22.3/93 |16 (17.5/16 | 4 |146| 91 (146 | 10 | 21 | 20 | 10 | 146 | M6x20
C5330-11-50-41 50
C5330-11-75-41 75
C5330-16-0 -41 0
C5330-16-25-41 25
75 45 |56 | 20 | 30 30.3{12.3| 21 1235/ 21 | 5 |196 116196 | 15 | 31 | 30 | 12 | 196 | M8x25
C5330-16-50-41 50
C5330-16-75-41 75
15
C5330-21-0 -41 0
C5330-21-25-41 25
90 60 | 72 | 25| 38 37.5/155| 27 | 29 | 27 | 6 |246|154 246 | 18 | 38 | 36 | 14 | 246 |M10x30
C5330-21-50-41 50
C5330-21-75-41 75

5.32

TOOMOCO



C5330
LS

Latch locks
Mat : 1.2379

Compability: STRACK Z4

D4 Hs
|

| |
T
=
T
o T €5330-17-31
S = ~ i
Jich I S e ' EE | T "
~ . M5 5
40
Code D |HV | D1 |D2|D3|D4|D5| H |HI|H2|H3 |H4 |H5 | L | L1 |2 13|14 |L5|L6| M
C5330-12-0 -0 0
C5330-12-25-0 25
50 30 | 38 | 15 | 22 | 10 22393 (175 22 | 3 | 4 |146| 91 |146| 10 | 21 | 20 | 10 | M6x20
€5330-12-50-0 50
C5330-12-75-0 75
C5330-17-0 -0 0
C5330-17-25-0 25
75 45 | 56 | 20 | 30 30.3/12.3|235| 27 |45 | 5 |196 116|196 | 15 | 31 30 | 12 | M8x20
€5330-17-50-0 50
C5330-17-75-0 75 15
C5330-22-0 -0 0
C5330-22-25-0 25
90 60 | 72 | 25 | 38 37.5/15.5| 29 | 33 6 6 |246|154 | 246 | 18 | 38 | 36 | 14 | M10x30
C5330-22-50-0 50
€5330-22-75-0 75

TOoOMOCO

5.33



C5330
L s

Latch locks
Mat : 1.2379
Compability: STRACK z4

C5330-30-HV-L3-L4-L5-L6

®103 02 L3 (Max 320)

L5 (Max 350)

1
§7

Iﬁ’—l\uﬁbi 28 |L4 (Min 60) 18

125
101
85
}<—>
|
|
|
|
IR
==
L

|

T

I

I

]

Ei

]

]

]

]

:
VAA‘ﬁAATAA

@
/,/;\]\
L7
N

N
L IR

]

]

L5 (Max 350) |

\ 36 4‘18%

:
0

| 28 | HV | L4 (Min60)

\ ] 28+L3+28+20
Max 100)
®10 %2 0107002
| | -
? FHEEI & u"l < ! AR T
i1 I N i D O i 00 0 L_izJ ﬂ
HL‘F“FH‘H Ak e
| L6 _Ju Q;‘ L ty Le+HV
~
M12 28+HV+L5+18

5.34

TOOMOCO



C5335
B0

Latch locks

Mat : 1.2344

Compability: STRACK Z5

L
L2 L3
L5
L6 &dd L4
: ‘ L1 ©
E=—Tresou || 3@ |}
I l [m)]
. w| o
- — T 5l
8 —-——-4c—3=J > I
[ : L3
s L9 - ‘ & vis |
ki L8:0.02 * <! T ‘ —@—.—G——
| | Lo P | = @ 4‘
- L10
|L10_| - L1 C5335-0
C5335-0 © L10
Pos.19 Pos.18
~ ! n_ T N ! ™
IJ T i | ” T |I| T
RS ' 5
7 1l Pos.21
Pos.4 1020.02 L12 § Pos.20
1
Pos.5 L1 g \\\

Code D D1 D2 D3 D4 D5 H H1 H2 H3 H4 L L1 L2 L3 L4 L5
C5335-0 24.8 15 20 15.8 - 21 24.5 7.5 16 15.8 5 196 137 170 6 16 50
C5335-1 30 16 25 20 10 25.5 40 145 25 20 6 200 170 16.5 8
C5335-2 40 20 30 30 31 56 40 30 8.5 396 256 | 356 | 19.5 10 75
L6 | L7 | L8 | L9 [L10 | L11|L12 | d Pos.4 Pos.5 Pos.9 Pos.14 Pos.18 Pos.19 Pos.20 Pos.21
18 39.8| 35 27 20 15 | 6.2 | @ 6x32 | M 8x40 M 8x25 M4x12 @6x24

M8x30
60 52 40 [30.1| 18 20 | 8.2 | @ 8x40 | M10x55 M4x12 M10x30 M5x12 M4x16 @6x32
20 80 70 55 30 27 [10.2 | @10x60 | M12x70 M16x50 M5x16 M8x40 @6%40

TOoOMOCO

5.35



C5338

BiEN

Latch locks

Mat : 1.2344

Compability: RABOURDIN REF

L |
15
©
- | | ‘
8 e 9
T ——-— - — (@ -
S C 2
30 f
[te)
39
10
%)
I3
L2
20 Pos.13(X2)
19
30
C5338-1
C5338-2
Code L L2 L1 Code L L1 Code L2
C5338-140- 90 140 920 83.5 C5338-140-1 140 83.5 C5338-90 -2 90
C5338-204-170 204 170 152 C5338-204-1 204 152 C5338-170-2 170
C5338-254-220 254 220 194.5 C5338-254-1 254 194.5 C5338-220-2 220
Pos
Pos.1 Pos.4 Pos.7 Pos.9 Pos.11 Pos.13 Pos.16 Pos.20 Pos.22 Pos.23
M10x60 @12x30 M12x40 @12x40 M8 M4x14 M5x20 M5x20 M8x35 @6x40

5.36

TOOMOCO



C5410
P Bt 1 /

Latch locks
Mat : 1.2379
Compability: STRACK Z3

L2
S1 Max 8 25
\ =
i C5410-1
g
¢l o )
§J ©
("Q 1 i i 7<UU\N\N[@V g ;;
== |
A 7—'»
- l
0
16(k6) NG :r) ‘ ‘ L+0.1 |
© =% |
4.5 . ! |
F o rm—rﬁ !i of &
u_u_m:‘ ] El 2=
| S
! 10.8 I
| LL\
L2 |
S1Max 8 25 ‘
\ ==t
[ ]
=3 I
== |
—— 1 |
o ©
x| 0O [&}
& EJ*’ |* B — WU U7 g
L Jwﬂs ©
1 4 % _1
i -
16(k6) = SL‘T‘ C5410-11
=
Code S1 max. L L1 L2
C5410-1-16- 45 45 20
C5410-1-16- 70 16 70 66
C5410-1-16-100
100
C5410-1-40-100
40 40 90
C5410-1-40-125
125
C5410-1-60-125
60 110
C5410-1-60-150 150

5.51

TOoOMOCO



C5410
LTS

Latch locks
Mat : 1.2379

Compability: STRACK Z3

L2
S1 Max 10 34
I | ]
\ =
F i
L i
o
ol=
”_: = T ﬂv\www i C5410-2
« N7 %; |
€ |
1 "‘;—w} % —T ‘
b — I |
b5 o |
‘—‘ q ‘ \ L+0.1 |
- < ‘
4.5 . : ‘ )
_ m]_ﬂt‘ A !i Sf 8
‘F e
| 1 4 I
| _u
L2 |
|
S1Max 10, 34 ‘
\ ==
[ ]
=3 !
== |
— — C5410-21
o
g %
< [ <
™ | P e l‘%
| I N |
% 1
R .
CZO AN
©
|
Code S1 max. L L1 L2
C5410-2-25 -70 70
C5410-2-25 -120 25 120 86
C5410-2-25 -170 170
C5410-2-50 -120 120
50 111
C5410-2-50 -170 170
C5410-2-75 -120 120
75 136
C5410-2-75 -170 170 40
C5410-2-100-220 220
100 161
C5410-2-100-270 270
C5410-2-125-220 220
125 186
C5410-2-125-270 270
C5410-2-150-220 220
150 2
C5410-2-150-270 270

5.52

TOOMOCO




C5410
LT E

Latch locks
Mat : 1.2379
Compability: STRACK Z3

e
g = T T wuu\y\ywww — C541
& = | C54103
|
1 "‘rw} é —T ‘
1 ___ |
o2l |
‘K_ﬂ S ‘ \ L+0.1 |
e \
6 | |® ‘ | |
= |
oL e
_ : ‘ o e
| QS8
! ‘18.4
‘ J, L1
L2 |
|
S1Max 12, 42 ‘
l | |
[ B
= [
== |
— — C5410-31
T
1 T V
. .
cC-o =X q 5
=
Code S1 max. L L1 L2
C5410-3-50 -125 125
C5410-3-50 -175 50 175 130
C5410-3-50 -225 255
C5410-3-75 -175 175
75 155
C5410-3-75 -225 225
C5410-3-100-175 175
100 180
C5410-3-100-225 225 50
C5410-3-125-275 275
125 205
C5410-3-125-325 325
C5410-3-150-275 275
150 230
C5410-3-150-325 325
C5410-3-175-275 275
175 255
C5410-3-175-325 325

5.53

TOoOMOCO



C5420
LS

Latch locks
Mat : 1.2344
Compability: HASCO Z173

oo -
oo X ° 9
: s 5
& TV ©
(e}
(0]
a N \WW@
G [
N
10| ﬁ
0
- H1.5. 05
18 Min ‘ ‘ H Max
+0. 05
L2*
L1-9.2
L7
L5+0.1
L6
N~
[m)
W1 © -
] S © L, | \sw2
[m] +0.
& 8 L319
Code D1 |Hmax.| D5 L7 L1 L2 L3 L5 L6 D3 D4 D5 D6 D7 | D2 SWi1 SW1
C5420-32-28-14- 63 63 56 20
C5420-32-28-14- 80 28 80 | 26 | 40 73
C5420-32-28-14-100 100 93
420-32-28-14-12. 11
€5420-32-28 S 32 14 125 14 8 25 |1 348448 | 14 |322|185| M10 12 15
C5420-32-56-14- 63 63 56
C5420-32-56-14- 80 s 80 | 06 | g8 73
C5420-32-56-14-100 100 93
C5420-32-56-14-125 125 118
C5420-38-36-18- 80 80 73 | 20
C5420-38-36-18-100 36 100 % 70 93
C5420-38-36-18-125 125 118
C5420-38-36-18-140 140 133
38 18 16 30 | 408|518 | 16 |38.2 (235 | M12 15 19
C5420-38-71-18- 80 80 73
C5420-38-71-18-100 71 100 125 | 105 93
C5420-38-71-18-125 125 118
C5420-38-71-18-140 140 133

5.54

TOOMOCO




C5430
Pt T

Latch locks
Mat : 1.2379
Max : 180°C

Compability: MEUSBURGER E1840

Q =
8 pa
P EI\I“\I“\M\II “ -
e $»4 i
I SW2 BT L4
L6 037" == 3T
L2 L7 L8
Hub L5305 {A[0.02/100[1]
L1
Code D1|L1|L2 L3 |D2|D3| D4 |D5|D6|D7|L4 L5 L6|L7|L8 R |SW1/SW2| M1| M2 gubmax/
C5430-23-64 -103-21 103, 2! 5
C5430-23-64 -103-26 26 6 04
C5430-23-64 -183-21 64 1832 5
C5430-23-64 -183-26 26 6
23 14 | 24| MA7x1 | 44 [12.4/ 32 —— 11|19 293/ 10| 3 | 8 | 11 M6
C5430-23-80 -103-21 1032 5
C5430-23-80 -103-26 80 26 6
C5430-23-80 -183-21 183 21 5 40
C5430-23-80 -183-26 26 5 V5
C5430-28-76 -110-26 110,28
C5430-28-76 -110-35 76 35 8 30
C5430-28-76 -220-26 920 28 6
C5430-28-76 -220-35 8
28 35 | 18|28 |M21x1.5| 48 | 16 | 36 - 12 | 22 [33.3 4110 |14 M8
C5430-28-102-110-26 110 26 6
C5430-28-102-110-35 35 8
102 — 56
C5430-28-102-220-26 220/ 28 6
C5430-28-102-220-35 35 8 0
C5430-34-98 -130-26 1301 28 6
C5430-34-98 -130-35 o8 35 8 "
C5430-34-98 -260-26 RES 6
C5430-34-98 -260-35 35 8
34 22|32 |M25x1.5| 58 | 20 | 44 |— | 14 | 30 |42.3 5 | 12 | 17 | M6 [M10
C5430-34-134-130-26 13025 6 |
C5430-34-134-130-35 35 8
134 — 78
C5430-34-134-260-26 260/ 28 6
C5430-34-134-260-35 35 8
C5430-46-132-160-45 16045 10
C5430-46-132-160-55 55 12
132 e 58
C5430-46-132-320-45 a0/ %5 10|
C5430-46-132-320-55 55 12
46 30|40 [M32x1.5| 78 | 26 | 60 || 18 | 40 |56.3) 16 | 7 | 14 | 24 | M8 |M12
C5430-46-180-160-45 16045 10|
C5430-46-180-160-55 180 55 |12 106
C5430-46-180-320-45 a0l 45 10|
C5430-46-180-320-55 55 12

TOoOMOCO

5.55




C5500

DT

Accelerated ejectors
Mat : 1.2379
Compability: CUMAS EP

Nt
I
L2 L3‘
L1
L
| | _
[ il
I I é
! O : S
. 1 T
T T —

Code L1 D3 H1 D D1 max. | D2 max. H H2 L L2 L3 d M F(N)
C5500-200813 20 8 132 | 94 4.4 11.6 15 5 258 | 114 6 @2.5x10 M3x12 1225
C5500-251016 25 10 16 11.8 5.7 15 18.5 6 32.3 | 14.3 7 @3x 12 M4x16 2450
C5500-371522 375 | 15 22 17.7 9.1 23.5 25 8 48.5 | 21.5 | 105 J4x 16 M6x25 3430
C5500-502030 50 20 30 23.6 12.5 32 34 10 |64.6 | 286 | 14 @5x 20 M8x30 7840

5.56

TOOMOCO



C5510
SEHS

Early return mechanism
Mat : 1.2379
Compability: CUMAS AE

05 L6

‘ L1 h‘|_7-005

dd J U
* ( ] -

= [ +<‘«()L mﬂﬂl‘l

—&
CIeEet BRI b -~ Aot - —- - - 8 s
I A

L4

L3 L2

D5
Code D D2 D3 D1 D4 D5 L1 L2 L3 L4 L5 L6 L7 L8 d

C5510-031620 3

16 20 22 12.5 13 14 32 8 17 22 37 -
C5510-041620 4
C5510-052430 5 4 3

16 16

C5510-062430 6 24 30 34 20 44 15 27 36 57
C5510-082430 8 17 17 2
C5510-103036 10

30 36 40 21.5 21 28 62 20 34 46 78 6 4
C5510-123036 12

5.57

TOoOMOCO



C5520
ORI

Accelerated ejectors
Mat : 1.2379
Compability: STRACK 2141

0
Ho D133
H3+0.15 Dtg.15

+0. 05 ‘H‘

L1

L1

H D2
Code D D1 D2 H H1 H2 H3 H4 L L1 R
C5520-3 3 8 16 19 14 10 3 2 26 10 4
C5520-6 6
16 36 34 23 21 5 4 56 21 8
C5520-8 8

5.59

TOOMOCO




C5550
S

Slide units
Mat : 1.2344
Compability: HASCO Z181

L2
~
[a2]
|
~ L1 g C1001
o9
3 T
L3
d1
. , \
|
] | N ?
! T
A j <™
2 1
T 1
. | AN
| |
|
M
I
' L4%0,1
Lg6 Qg; 5
R
Ve J\_ T ) \e
1 T
) HCBeT-
T 1
T Wk
\_ T H1
L1+0,1
Code d |D|H |[DIl|Hl [H2|H3 | L |L1|L2|L3|L4|L5|L6|L7|L8| dl| M POS.1

C5550- 8-12-16| 8 |12 |16 | 28 | 6 | 27 | 8 32 |20 | 22| 8 | 18 |285| 14 | 10 |143| 9 | M5 | C1001- 8-50
C5550-10-16-18 | 10 | 16 | 18 | 32 |65 | 32 | 10 | 40 | 29 | 26 | 10 | 20 [325| 17 | 12 |163| 11 | M6 | C1001-10-60

5.60

TOoOMOCO



C5551

LR RN
Slide units
Mat : 1.2344 |
Compability: HASCO 21810 :
L
L1£0,1
=
‘ // q :\\ S| e
I R JRNE | >
) ! /// — [a]
1 I < e
__w
|
S L2
M4
Q]
~
e bt
I
T (l
! ~
\ C5550
L3
C1001
Code d D D1 H H1 L L1 L2 L3 d1 M
C5551- 8 8 28 18 36 22 32 18 14.2 11 11 M4X25
C5551-10 10 32 20 44 27 40 22 17.2 15 13 M4X30

5.61

TOOMOCO




C5552

#1785

Slide units

Mat : 1.2344

Compability: HASCO Z1811

3
=3 T
! &
I
ol
2l ([
i T [T
May,
20 L3
H1 12+0,1
Ly
. (& -
|- F====f===p====;
g I N |
aly ) AN ) —
\ \\\\ /ﬂl / D 5
| _ _ _E_ ] ;. N e N
= \-@- D
He005 L1+0,1
L g6
Code d D D1 D2 H H1 H2 H3 H4 L L1 L2 L3 L4 R M
C5552-10 10 40 32 20 25 20 8.5 12 10 50 30 27 23 13.5 5 M5
C5552-14 14 48 39 25 35 28 12.5 14 12 70 50 35 35 17.5 6 M6

5.62

TOoOMOCO



C5553
S

Slide units
Mat : 1.2344
Compability: HASCO Z1812

L5g6
D3-0,05
M
|
I
- L6 |
+l
| 0 | | |
T Ol Nal
, T T [se)
I
o 'T'T‘ T L ~
g8 i : g
+< R | /
= (I | I
T [ i
bt 1
bl |
L |
1 ! 5
i L i
| 11 |
10 L1
d
L7+0,2
% B
[m]
C
Code L D H D1 D2 | D3 | H1 H2 | H3 | L1 L2 L3 L4 L5 L6 L7 R d M

C5553-10-16-22 | 10 | 16 | 22 | 40 | 28 | 22 | 30 | 17 | 46 |229| 35 | 20 | 10 | 11 | 46 | 52 6 | 45 | M6

C5553-12-25-30 12 | 25 | 30 | 55 | 40 | 30 | 40 | 20 | 6.8 |338| 50 | 35 | 15 | 13 7 75 7 | 66 | M8

5.63

TOOMOCO



C5554
TS

Slide units
Mat : 1.2344
Compability: HASCO 21813

O
@
o
1)
wv
—
&
o

M,
L8+0,05
s L6 ‘ 9+0,0 8
& w <
JE S\ ol §
I E [ B B ! (VI)
S b LI o AU 5
o il T il =3
g o betmws] ] <
+ S | FE=rEEE=
~ e 1'4 N | | I
T N Heitss i _/ ;
L !
i o
B 1
L :=I_
d 10 L1
L7+0,2
L4
/p
d1H7
) S | i E °
21 & (- © ]
ola 1 T
&
L3+0,1
L2g6
Code L D|H | D1/D2 D3|H1|{H2|H3|H4| L1 L2 |L3|L4|L5|L6|L7|L8|L9|L1OJ R | d |dl| M |M1

C5554-10-16-22 | 10 | 16 |22 | 40 | 28| 22| 30 | 17 | 46| 8 |229/ 35|20 |10 | 11 /46|52 | 18|13 |55| 6 |45 | 4 |M6| M4
C5554-12-25-30 | 12 | 25 |30 | 55 | 40| 30| 40 | 20| 6.8| 10|26.8/ 50 | 35|15 |13 | 7 | 68| 20|16 | 7 | 7 |6.6| 5 |M8| M6

5.64

TOoOMOCO



C5600

a8
Slide units
Mat : 1.2344 h ‘2
Compability: STRACK Z4290
he)
©
D1+0.1 1]
$7i,,,1
’ +
~ K
rop =3
\
a ol 9
0o 8 ©
85 ot_?'
g9 N -5 :
I - 8
M1 © DT —
| m]
D2
D3
D4 o
oo
VR
/ I pr—————
-—1 2 -
GL - o\
C5600-1 | T T J
< ! L . L .|
T | ©] %
8
o9
N
— [Te}
o
=
F
| [Te]
| -
\\//77** M
C5600-2
Code D DI | D2 | D3 | D4 | D5 H L L1 L2 | L3 | L4 | L5 | d M | M1
€5600-0 16 | 36 | 25 | 16 | 12 | 27 | 10 | 44 | 15 | 285 | 16 6 | 125 | | e | M
C5600-1 25 | 328 | 242|139 | 108 | 34 | 11 | 615|265 | 345 | 18 | 25 | 165 M3
C5600-2 40 | 50 | 37 | 20 8 | 64 | 22 | 605| 20 | 40 | 28 8 12 | o4 | M8 | M5

5.65

TOOMOCO




C5780 - d’
HSRETE p -
Angle pin housing e

Mat : 1.2312
Compability: CUMAS BG

/ / ©
/ /
/ Bl s
/ | l - |
/ y T T I Y
7 |
F
K+0.1
Code U X A B C F G K T
C5780-16-15 16 42 30 30 7.5 15 28 M 6x35
C5780-20-15 20 50 36 34 M 8x40
C5780-24-15 24 15 55 40 40 o 2 38 M 8x45
C5780-28-15 28 65 50 45 12 26 45 M10x50
C5780-16-20 16 42 30 30 7.5 15 28 M 6x35
C5780-20-20 20 50 36 34 M 8x40
20 40 9 22
C5780-24-20 24 55 40 38 M 8x45
C5780-28-20 28 65 50 45 12 26 45 M10x50

5.76

TOoOMOCO



C5781

Angle pin housing
Mat : 1.2510
Compability: CUMAS GR

Code U xX° A B C D E F H S T
C5781-10-10 10 18 26 22 12 10.8 7.5 3.8 M5x5 | M5x16
C5781-12-10 12 22 28 26 16 1" 1 4 M6x6 | M6x16
C5781-16-10 16 10 28 34 32 13 13 5
C5781-20-10 20 34 40 38 17 17 5.5
C5781-24-10 24 42 45 46 20 19.5 19.5 6 M8x6 | M8x20
C5781-28-10 28 46 50 50 21 21 7
C5781-10-15 10 18 26 22 12 10.8 7.5 3.8 M5x5 | M5x16
C5781-12-15 12 22 28 26 16 11 11 4 M6x6 | M6x16
C5781-16-15 16 15 28 34 32 13 13 5
C5781-20-15 20 34 40 38 17 17 55
C5781-24-15 24 42 45 46 20 19.5 19.5 6 M8x6 | M8x20
C5781-28-15 28 46 50 50 21 21 7

5.77

TOOMOCO




C5800

SR
Two-stage ejectors

Mat : 1.3503 / 58-60HRC
Compability: HASCO Z169

+0.5
L1 0
L2
H1 L3
L7 L5
L6 K2 | K1
B ‘ ‘ ‘I| ¢ ¢ .
- 0
s o0 % s
@) AN e
SW2
sw3 T : S}
™ <
a
a Q 5
HA H2
Code D1 D2 D3 | D4 | D5 | L1|L2 L3 | L4 |L5|L6| L7 |KI| K2 |SWISW2[SW3I T —1— "t
C5800-16 | 16 | M22x 1 | M32x15| 30 | 20 164 112| 56 | 26 | 11| |1 5 |8 | 13/28]20 |5 30| 3 50
C5800-22 | 22 | M30x1.5 | M42x1.5 | 40 | 28 | 220|148 | 75 | 36 | 16 12 6| 17|38 276 40
C5800-30 | 30 | MAOX1.5 | M6Ox15 | 50 | 38 | 255 170| 80 | | 21| 1113 | 7 24 | 55| 38| 7 |50
C5800-40 | 40 | M52x1.5 | M70x1.5 | 60 | 50 | 270|200 | 98 22|12 |14 | 8 |14 |32 |65|46 | 75|60 | 5 | 80

5.85

TOoOMOCO



C5810
ZIRTAH

Two-stage ejectors

Mat : 1.3503 / 58-60HRC
Compability: HASCO Z1691

L1

L2

H1 L3 ‘
L9 swia “" 0
sw1  [Tsw2 D\ D‘
&
\ \ uuummuml"-’
— il i
7 T
—— )
Sl S
© 1 L4703
B ‘ L5 0
ol O
=k
&8 o
Code D1 D2 D3 D5 | D6 | D7 D8 D9 [D10|D11|D12| H1 |Hz|L1|L2 | L3 |L4|L5|L6 |L7|L9|SW1 SW2SW3
C5810-13| 13 [M20x 1| M28x1.5|18.5| 50 |41.6|M8X0.75(13.4(17.6/4.3|3.2 | 3-20 | 44 |164| 72 |38.8 9| 4 |26(22| 10 | 10 | 17
21
C5810-17 | 17 [M24x1.5M35%1.25| 22 | 60 | 48 (M11x 1|17.4| 22 |5.4| 4 | 4-30 | 65(228(110| 63 121 5 |35|25| 13 | 13 21
C5810-22| 22 (M30%1.5|M45%x1.5| 28 | 75 | 61 [M14x 1| 21|27 |6.5| 5 | 6-42 |80 |270|131| 74 |17 6 |4 30|17 | 17 | 27
17
C5810-30| 30 [M40%1.5|M60%1.5| 38 |100| 82 |[M18x 1| 26 | 33 |8.8| 6 |10-60|95|340|166| 89 | 27 7|5 (38|24 |24 | 36
C5810-40 | 40 [M55%x1.5| M75%x1.5| 52 [125|104 |M25%x1.5| 35 | 43 | 11| 8 |14-86|130(470(232|122 | 41 7 10| 7 |50| 32 | 32 | 46
C5810-52| 52 |M72x1.5| M98x 2| 69 |150|128|M34x1.5| 48 | 58 | 11| 9 l18-1101180/ 583|295 155 | 51 15|11 |60| 41| 41 | 65

5.86

TOOMOCO




C5825

ZIRTRH

Two-stage ejectors

Mat : 1.3503 / 58-60HRC
Compability: MEUSBURGER E1860

D1

u

)

lSck:)h_mi(te_rung” 4
ubrication
lubrication /|| |15 L el

L2

L1

L
Code D1 | D2 | D3 | D4 | D5 D6 D7 D8 | D9 D10 D11 L | L1 | L2 | L3 |L4 | L5 L6 |L7 |L8|L9 | M
C5825-15 | 15 | 38 | 55 | 46 |[18.7| M20x 1/M9x 1|15.5| 20 [M31x1.25|/3.5(157| 90 | 82 |54 | 8 |10 |19 |12 | 5 |36 | M4
C5825-18 | 18 | 50 | 72 | 60 | 24 |M26x1.5|M12x 1|18.5| 23 |M40x 15| 4 [190|101| 92 | 64 | 10 | 8 | 17 6 | 4 | M5
C5825-25 | 25 | 64 | 90 | 76 | 33 |[M35x1.5|M16x 1| 24 | 30 |M52x 15| 5 [241(129(119| 84 | 12 | 10 | 27 v 7 M6
C5825-33 | 33 | 80 |114| 96 | 43 | M45x1.5 M20x1.25| 29 | 37 |M66x 1.5| 6 |315|170|156|111| 13 |15 | 32| 22| 9 ° TB
C5825-44 | 44 |100 (138|118 | 56 |M58x1.5|M28x 1.5/ 40 | 48 | M84x 2| 7 |428|236(220|156| 16 | 20 | 41 | 27 | 11| 6 |M10

TOoOMOCO

5.87



C5830
ZRTAH

Two-stage ejectors
Mat : 1.3503 / 58-60HRC
Compability: CUMAS DX

5| o a4 g
% 5 L5 | S
g °© &
f u - D5
+6 + +0 4»‘
6005 | | .| |B-00s
L1 L2
M
RN H
50 T' S QAgX( e
\
L
\
L2
Code D D1 L1 D2 D3 D4 D5 L L2 L3 L4 L5 M
C5830-142622 14 26 22 30 21 16 7.2 243 34 125 20 4 M6
C5830-163027 16 30 27 34 24 18 8 314 44 152 23 6 M8

5.88 TMC

TOOMOCO




C5840
i

Round latch locks
Mat : 1.2344 / 48-50HRC
Compability: HASCO 7163

+1
~ L1%
?° 0
E L2 5 5 i 9+0.1 8 900HV
IS | i )
~ 1
ST I° - =) _
3 6
[m] -
e by
[Te)
)]
©
Code D3 L1 D1 D2 D4 D5 L2 F(N) max.
C5840-6 -125 6 125 16 18 10 13 73 12000
C5840-10-160 10 160 20 24 12.5 17 100 20000
C5841
SN
Round latch locks
Mat : 1.3503 / 58-60HRC
ility: +0. 15
Compability:HASCO Z164 |_1+0' o8
+0.5
L2 0
. 10<0.02
\
N
o?' ad 7«77 g
o~ o =
a
s \ L&l s
C5841-...
T H Max
Code D3 L1 D1 D2 L2 T H.max
C5841-6 -36 36 31 24
C5841-6 -46 6 46 18 22 41 34
C5841-6 -56 56 51 44
C5841-10-36 36 30 6.7 23
C5841-10-46 46 40 33
10 24 29
C5841-10-56 56 50 43
C5841-10-76 76 70 63

5.89

TOoOMOCO



C5860
RQURAHA

Two-stage ejectors
at : 1.3503 / 58-60HRC
Compability: CUMAS LR

S o %
27 2 & 7o)
2 Y "~
° 3
- . <45 ﬂ | =
| 6 3.5
+0
(ﬂ 8-0.05
9
#N
Q:iy M5x16
- N e,
— ' | <40 | L1<40
“ j5
l
4.5
4.5 - ==
Code D M ] ‘TTS H&‘ 3.5
C5860-061620 6 - »’é Rin @F’é *]: (
C5860-081620 8 C5861 1 0‘77
ol 8
C5860-101620 10 - 2152
C5861
SRL PRI ALAE {
Two-stage ejectors I l
Mat : 1.3503 / 58-60HRC
Compability:CUMAS AL
[Te]
N~
S 8+0.05
% +0.
Code M g
C5861-0800M4 M4x10 I M L
C5861-0800M5 M5x10 b= ‘i:o?
C5861-0800M6 M6x10 T 1 T
C5861-0800M8 M8x10

Connecting:C5860-081620 Connecting:C5900

5.92

TOOMOCO



C5880
RE LA

Helical spindle
Mat : 1.2738 / 900HV
Compability: HASCO Z1500

= S
= g
Code Txh R L1 L L2 D N
C5880-16-50 -R-160 160 240
Tr16x 50
C5880-16-50 -R-250 250 330
50 28 5
C5880-16-63 -R-160 160 240
Tr16x 63
C5880-16-63 -R-250 330
250
C5880-20-63 -R-250 345
Tr2
C5880-20-63 -R-315 0x 83 315 410 6
©5880-20-80 -R-250 250 345
Tr20x 80 63 36
©5880-20-80 -R-315 315 410 .
C5880-20-100-R-250 250 345 3
Tr20x100
€5880-20-100-R-315 515 410
©5880-25-80 -R-315 430
Tr25x 80 8
©5880-25-80 -R-400 400 515
C5880-25-100-R-315 R 315 430
Tr25x100
€5880-25-100-R-400 400 515
80 45 o
©5880-25-125-R-315 315 430
C5880-25-125-R-400 Tr25x125 400 515
C5880-25-160-R-315 315 430
Tr25%160 10
C5880-25-160-R-400 400 515
C5880-32-100-R-355 355 490 o
C5880-32-100-R-450 Tr32%100 450 585
C5880-32-125-R-355 355 490
C5880-32-125-R-450 Tr32x125 450 585
100 56 10
C5880-32-160-R-355 355 490
Tr32x160
©5880-32-160-R-450 450 585
©5880-32-200-R-355 355 490
Tr32x200 11
C5880-32-200-R-450 450 585

5.93

TOoOMOCO



C5880
RELAT

Helical spindle
Mat : 1.2738 / 900HV

Compability: HASCO Z1500

Txh

®D g6

Code Txh L1 L L2 D N
C5880-16-50 -L-160 160 240
Tri6x 50
C5880-16-50 -L-250 250 330
50 28 5
C5880-16-63 -L-160 160 240
Tr16x 63
C5880-16-63 -L-250 330
250
C5880-20-63 -L-250 345
X
C5880-2063 L-315 | 120X €3 315 410 6
C5880-20-80 -L-250 250 345
Tr20x 80 63 36
C5880-20-80 -L-315 315 410 ;
C5880-20-100-L-250 250 345
Tr20x100
C5880-20-100-L-315 s 410
C5880-25-80 -L-315 430
Tr25% 80 8
C5880-25-80 -L-400 400 515
C5880-25-100-L-315 315 430
Tr25%100
C5880-25-100-L-400 400 515
80 45 9
C5880-25-125-L-315 315 430
C5880-25-125-L400 | 1129¥125 400 515
C5880-25-160-L-315 315 430
Tr25%160 10
C5880-25-160-L-400 400 515
C5880-32-100-L-355 356 490 o
C5880-32-100-L450 | 02x100 450 585
C5880-32-125-L-355 355 490
C5880-32-125-L450 | 1102X125 450 585 10
100 56
C5880-32-160-L-355 355 490
Tr32x160
C5880-32-160-L-450 450 585
C5880-32-200-L-355 355 490
Tr32x200 11
C5880-32-200-L-450 450 585

5.94

TOOMOCO




C5881
RELE

Helical spindle
Mat : 2.1247

Compability: HASCO Z1520

L(L1) L
L2 L3 L2 L3 D1
|
\ \ 7 (i g (
: e 1\
JR e T
| e N
l cc
[ +1.5
C l L15,
Type-A Type-B
Code Txh R Type L L1 L2 L3 D D1 H N
C5881-16-50 -R- 50 A 50 28 11
Tr16x 50
C5881-16-50 -R- 80 B 80 40 15
50 28 6 2.8 5
C5881-16-63 -R- 50 A 50 28 11
Tr16x 63
C5881-16-63 -R- 80 B 80 40 15
C5881-20-63 -R- 63 A 63 36 13.5
Tr20x 63 6
C5881-20-63 -R-100 B 100 50 18
C5881-20-80 -R- 63 A 63 36 13.5
Tr20x 80 63 36 8 3.8
C5881-20-80 -R-100 B 100 50 18
7
C5881-20-100-R- 63 A 63 36 13.5 5
Tr20x100
C5881-20-100-R-100 B 100 18
50
C5881-25-80 -R- 80 A 80 15
Tr25% 80 8
C5881-25-80 -R-125 B 125 63 20
C5881-25-100-R- 80 R A 80 50 15
Tr25%x100
C5881-25-100-R-125 B 125 63 20
80 45 12 4.8 9
C5881-25-125-R- 80 A 80 50 15
C5881-25-125-R-125 Tr25%125 B 125 63 20
C5881-25-160-R- 80 A 80 50 15
Tr25x160 10
C5881-25-160-R-125 B 125 20
63
C5881-32-100-R-100 A 100 18.5
Tr32x100 9
C5881-32-100-R-160 B 160 80 25
C5881-32-125-R-100 A 100 63 18.5
Tr32x125
C5881-32-125-R-160 B 160 80 25
100 56 14 5.5 10
C5881-32-160-R-100 A 100 63 18.5
Tr32x160
C5881-32-160-R-160 B 160 80 25
C5881-32-200-R-100 A 100 63 18.5
Tr32x200 11
C5881-32-200-R-160 B 160 80 25

TOoOMOCO

5.95



C5881
RELE

Helical spindle
Mat : 2.1247
Compability: HASCO Z1520

L(L1) L
D1
‘ L2 L3 | L2 L3
—— | |
| | TV [T Ly
©
> < o
ST ] P ¥
| © N
| c-C
| +1.5
] 1 L1%,
Type-A Type-B
Code Txh Type L L1 L2 L3 D D1 H N
C5881-16-50 -L- 50 A 50 28 11
Tr16x 50
C5881-16-50 -L- 80 B 80 40 15
50 28 6 2.8 5
C5881-16-63 -L- 50 A 50 28 11
Tr16x 63
C5881-16-63 -L- 80 B 80 40 15
C5881-20-63 -L- 63 A 63 36 13.5
Tr20x 63 6
C5881-20-63 -L-100 B 100 50 18
C5881-20-80 -L- 63 A 63 36 135
Tr20x 80 63 36 8 3.8
€5881-20-80 -L-100 B 100 50 18 ;
C5881-20-100-L- 63 A 63 36 13.5
Tr20%100
€5881-20-100-L-100 B 100 . 18
C5881-25-80 -L- 80 A 80 15
Tr25x 80 8
C5881-25-80 -L-125 B 125 63 20
C5881-25-100-L- 80 A 80 50 15
Tr25%100
C5881-25-100-L-125 B 125 63 20
80 45 12 48 9
C5881-25-125-L- 80 A 80 50 15
C5881-25-125-L-125 | 1120%125 B 125 63 20
C5881-25-160-L- 80 A 80 50 15
Tr25x160 10
C5881-25-160-L-125 B 125 6 20
C5881-32-100-L-100 A 100 18.5
Tr32x100 9
C5881-32-100-L-160 B 160 80 25
C5881-32-125-L-100 A 100 63 18.5
Tr32x125
C5881-32-125-L-160 B 160 80 25
100 56 14 5.5 10
C5881-32-160-L-100 A 100 63 18.5
Tr32x160
C5881-32-160-L-160 B 160 80 25
€5881-32-200-L-100 A 100 63 18.5
Tr32x200 11
C5881-32-200-L-160 B 160 80 25

5.96

TOOMOCO




C5900

FST
Sprung cores

Mat : 1.2344 / 48-52HRC
Compability: CUMAS PW

Min. 1
ET
% =
2 s
N =
L+2
o o
M - L1+1 ] 2
ot N
é\goo 0.5, T )
e "
—30.5
M ™ ‘—1—5>‘ Mat. Bronze
S T (ﬁ[ -
o
e e S— "N
ol T ——C T P |3
M1
H2-0.05
Code D D1 L1 D2 H H1 H2 H3 L M max. | N max. R M M1
C5900-060622 6.2 22 9 3.5 - 125 16 18
C5900-060630 ' 30 10 4.5 12 175 20 26
6 3.5 5 1.25 M4x36 M4x16
C5900-060822 22 9 3.5 - 125 16 18
C5900-060830 8.2 30 10 12 175 20 26
C5900-080825
25 11.5 - 140 18 21
C5900-081025
102 4.5
C5900-081030 8 30 11.2 4.5 6 12 175 20 26 2 M5x36 M5x16
C5900-081225 122 25 1.5 - 140 18 21
C5900-081230 | 1.2 12
C5900-101430 142
30 175 20 26
C5900-101630 10 16.2 136 55 5.5 8 16 2.5 M6x36 M6x16
C5900-101830 182

TOoOMOCO

5.97




C5901
EE)

Sprung cores
Mat : 1.3343 / 56-58HRC
Compability: CUMAS PF

Qi,Z.S

L+2

L1

i
5

Code H L D D1 L1 R
C5901- 044150 4
150 8 6 24 30
C5901- 054150 5
C5901- 064200
6 12
C5901-0642WB
C5901- 084200
8 14
C5901-0842WB
200 8 30 36
C5901- 104200
10 16
C5901-1042WB
C5901- 124200
12 18

C5901-1242WB

5.98

TOOMOCO



C5902

H5IN

Sprung cores

Mat : 1.2344 / 48-52HRC
Compability: CUMAS MP

1504
8 24
e 0 8| ¢
4 B = . 6-0.05 ?| o
] =T =Y ol e
% v
(53, | |
Nadlk — v
L f f
Code D
©5902-044150 4
5

C5902-054150

TOoOMOCO

5.99



C5910

BSTH >
Sprung cores ‘,.,r-
Mat : 1.3343 / 58-60HRC
Compability: MEUSBURGER E3200
)
S 8
< ocl> [=¥<}
a = S ﬁw:
o 1] [
N - e | e —H— ''''' \
og ] —\j—‘**‘
C CRI = P
. M 6
L4
/ 0
R5 /|D3.90s| L10-0.025 L5%0%°
0 =]
L11.005 e
=
=== e R =
+1 !
Lo
Gud max./
Code D L1 L D1 | D2 D3 | D4 | L2 | L3 | L4 | L5 | L6 | L7 | L8 | L9 |L1O|L11| M S T
C5910-6 -9 -162 | 6.2 4.83|5.94
9 | 162 35 | 22 243 | 88 M4 3.5
C5910-8 -9 -162 | 8.2 5.08 | 6.35
C5910-10-11.5-200 | 10.2
11.5 16 | 16 26 | 30 | 111 | 25 6 12 | 19 4 16
C5910-12-11.5-200 | 12.2
200 | 7.37 | 7.92 4.5 M5 45
C5910-14-12.5-200 | 14.2
12.5 30 |33.1|107
C5910-16-12.5-200 | 16.2

5.100 TMC

TOOMOCO




C5911 a_—9
A% ST A

Sprung cores -
Mat : 1.2344 / 48-52HRC
Compability: MEUSBURGER E3202

0 0
L11
0.05 So
(]
T == e e @
1 0
Code D |L1|L |Df|D2(D3|D4|L2| L3 | L4 | L5 | L6 | L7 | L8 | L9 | Li0 |L11| m |Hubmax/
C5911-6 -0.0-162 | 62 | 9 |162|5.94| 20 48335243 | 2 | 88 45 | 7 | 322 M| 35
C5911-12-115-200 | 12.2 | 115 30 | 26 | 111
16 19| 6 20
C5911-14-12.5-200 | 14.2 200 |7.92| 22 737/ 45 48 | 9 | 343 M5 | 45
125 331 | 30 | 107
C5911-16-12.5-200 | 16.2

T™C 5101

TOoOMOCO



C5920

PO ST
Sprung cores

Mat : 1.3343 / 58-60HRC
Compability: CUMAS EE

175*2

©
o
a |«
© [a)
(<]
85 ®D2 Max.
36+0.05
3 10 3| |60
- ‘ I “‘
f ﬁ _ %-. a o 7
) =] Ve
St s = =
=) I S
) L
IMPOR TANT
R=01
* =
=
' o
N =5
=54 ||
}
Code D D1 D2 H H1 H2 U Balinit C°
C5920-060175 6 10 - 12 12 9
€5920-082175 8 12 2 14 14 11 0s
€5920-103175 10 14 3 16 16 13 ' .
C5920-124175 12 16 4 18 18 15
€5920-168175 16 20 8 22 22 19 1

5.102 TMC

TOOMOCO




T™C

TOOMOCO

7

RENZS

Cooling series




C7003
RE

Pressure plugs
HASCO 794

C7005
HRE

Pressure plugs
HASCO Z941

C7006
=

Pressure plugs
HASCO 7942

C

7.01

TOOMOCO

C7100
L

Surue bushing
HASCO Z511

C7101
T

Surue bushing
HASCO Z512

7.03

7.04

7.04

7.07

7.09

Seite/page



C7003
RE

Pressure plugs

Mat : Messing
Compability: HASCO 794

!
J
A
!

Code L SW R
C7003-5- 0.5 5 5 M5x 0.5
C7003-7- 1 M7x 1
C7003-8 -0.75 4 M8x0.75
C7003-9- 1 8 M9x 1
C7003-10- 1 ° M10x 1
C7003-11- 1 M11x 1
C7003-12-1.5 10 6 M12x1.5
C7003-14-1.5 8 7 M14x1.5
C7003- Rp1/8 5 Rp1/8A
C7003- Rp1/4 7 Rp1/4A
C7003- Rp3/8 10 8 Rp3/8A
C7003- Rp1/2 10 Rp1/2A

7.03

ToOoOMOCO



C7005
RE

Pressure plugs
Mat : Miessing
Compability: HASCO 7941

|
|
¢d
|
i
dd1

Code H HA L L1 sw d d1
C7005-10- 1 1 11 8 5 14 M10x 1
C7005-12-1.5 6 17 M12x1.5

1.5 15 12
C7005-14-1.5 . 8 19 M14x1.5
C7005- Rp1/8 1 11 8 5 14 Rp1/8
C7005- Rp1/4 6 18 Rp1/4
15 12
C7005- Rp3/8 1.5 8 22 Rp3/8
C7005- Rp 1/2 4 18 14 10 26 Rp1/2
C7006

W=

Pressure plugs
Mat : Messing

Compability: HASCO 7942

338
°F
)
©
Code D L L1 M
C7006- 6 6 M3
1.7 8
C7006- 8 8 M4
C7006-10 10
14 10 M6
C7006-12 12
C7006-15 15
16 12 M8
C7006-16 16

7.04

TOOMOCO



C7100
LT

Surue bushing
Mat : 1.2344
Compability: HASCO Z511

dD2 a7

-

B
®D «

:

Code D L D1 D2 H
C7100-12-22-2.5 22
C7100-12-27-2.5 27 25
C7100-12-36-2.5 36
C7100-12-46-2.5 46
C7100-12-22-3.5 12 22 28 13
C7100-12-27-3.5 27
C7100-12-36-3.5 36 35
C7100-12-46-3.5 46
C7100-12-56-3.5 56
C7100-18-27- 3 27
C7100-18-36- 3 36
C7100-18-46- 3 46
C7100-18-56- 3 56
C7100-18-66- 3 66 3
C7100-18-76- 3 76
C7100-18-86- 3 86 7
C7100-18-96- 3 96
C7100-18-116- 3 116

18 38 18

C7100-18-27- 4 27
C7100-18-36- 4 36
C7100-18-46- 4 46
C7100-18-56- 4 56
C7100-18-66- 4 66 4
C7100-18-76- 4 76
C7100-18-86- 4 86
C7100-18-96- 4 96
C7100-18-116 -4 116

7.07

ToOoOMOCO



C7100

B v
Surue bushing
Mat : 1.2344

Compability: HASCO Z511

|

Sle 1 <

58 = b g

& }7 |

f@
1.5
HS 8 \ L1
T
Code SR Code SR D L D1 D2 H

C7100-12-22-2.5-15.5 C7100-12-22-2.5-40 22
C7100-12-27-2.5-15.5 C7100-12-27-2.5-40 27 25
C7100-12-36-2.5-15.5 C7100-12-36-2.5-40 36
C7100-12-46-2.5-15.5 C7100-12-46-2.5-40 46
C7100-12-22-3.5-15.5 C7100-12-22-3.5-40 12 22 28 13
C7100-12-27-3.5-15.5 C7100-12-27-3.5-40 27
C7100-12-36-3.5-15.5 C7100-12-36-3.5-40 36 35
C7100-12-46-3.5-15.5 C7100-12-46-3.5-40 46
C7100-12-56-3.5-15.5 C7100-12-56-3.5-40 56
C7100-18-27-3- 15.5 C7100-18-27-3- 40 27
C7100-18-36-3- 15.5 C7100-18-36-3- 40 36
C7100-18-46-3- 15.5 C7100-18-46-3- 40 46
C7100-18-56-3- 15.5 C7100-18-56-3- 40 56
C7100-18-66-3- 15.5 15.5 C7100-18-66-3- 40 40 66 3
C7100-18-76-3- 15.5 C7100-18-76-3- 40 76
C7100-18-86-3- 15.5 C7100-18-86-3- 40 86
C7100-18-96-3- 15.5 C7100-18-96-3- 40 96
C7100-18-116 -3-15.5 C7100-18-116 -3-40 18 116 38 18
C7100-18-27-4- 15.5 C7100-18-27-4- 40 27
C7100-18-36-4- 15.5 C7100-18-36-4- 40 36
C7100-18-46-4- 15.5 C7100-18-46-4- 40 46
C7100-18-56-4- 15.5 C7100-18-56-4- 40 56
C7100-18-66-4- 15.5 C7100-18-66-4- 40 66 4
C7100-18-76-4- 15.5 C7100-18-76-4- 40 76
C7100-18-86-4- 15.5 C7100-18-86-4- 40 86
C7100-18-96-4- 15.5 C7100-18-96-4- 40 96
C7100-18-116- 4-15.5 C7100-18-116 -4-40 116

7.08 TMC

TOOMOCO




C7101

T
Surue bushing
Mat : 1.2344

Compability: HASCO 7512

“l T o
5 - ! * e
8 87 — — - o
8 f | e
M
IO 2 \ Lio?
T
Code D L D1 D2 H
C7101-12-27-2.5 27
C7101-12-36-2.5 36 05
C7101-12-46-2.5 46
C7101-12-56-2.5 56
C7101-12-36-3.5 12 36 28 13
C7101-12-46-3.5 46
C7101-12-56-3.5 56 3.5
C7101-12-66-3.5 66
C7101-12-76-3.5 76
C7101-18-46- 3 46 7
C7101-18-56- 3 56
C7101-18-66- 3 66
C7101-18-76- 3 76 ®
C7101-18-86- 3 86
C7101-18-96- 3 96
C7101-18-56- 4 18 56 % 18
C7101-18-66- 4 66
C7101-18-76- 4 76
C7101-18-86- 4 86 4
C7101-18-96- 4 96
C7101-18 -116-4 116

T™C 7.09

ToOoOMOCO



C7101

B
Surue bushing
Mat : 1.2344

Compability: HASCO Z512

sl |\ I
NI p— — °
ol g — -
© f T =Y
M
1.5 |
0.15 0.5
H:0,05 ‘ L:O.Z
I
Code D L D1 D2 H SR
C7101-12-27-2.5-15.5 27
C7101-12-36-2.5-15.5 36
2.5
C7101-12-46-2.5-15.5 46
C7101-12-56-2.5-15.5 56
15.5
C7101-12-36-3.5-15.5 36
C7101-12-46-3.5-15.5 46
C7101-12-56-3.5-15.5 56 3.5
C7101-12-66-3.5-15.5 66
C7101-12-76-3.5-15.5 76
12 28 13
C7101-12-27-2.5- 40 27
C7101-12-36-2.5- 40 36
2.5
C7101-12-46-2.5- 40 46
C7101-12-56-2.5- 40 56
40
C7101-12-36-3.5- 40 36
C7101-12-46-3.5- 40 46
C7101-12-56-3.5- 40 56 3.5
C7101-12-66-3.5- 40 66
C7101-12-76-3.5- 40 76

7.10 TMC

TOOMOCO




C7101
L

Surue bushing
Mat : 1.2344
Compability: HASCO 7512

®D2 g7
®D1
\
\
D
®D k6

5 01—
was | L3
I
Code D L D1 D2 H SR
C7101-18-46-3- 15.5 46
C7101-18-56-3- 15.5 56
C7101-18-66-3- 15.5 66
C7101-18-76-3- 15.5 76 ®
C7101-18-86-3- 15.5 86
C7101-18-96-3- 15.5 96
15.5
C7101-18-56-4- 15.5 56
C7101-18-66-4- 15.5 66
C7101-18-76-4- 15.5 76
C7101-18-86-4- 15.5 86 !
C7101-18-96-4- 15.5 96
C7101-18-116 -4-15.5 116
18 38 18
C7101-18-46-3- 40 46
C7101-18-56-3- 40 56
C7101-18-66-3- 40 66
C7101-18-76-3- 40 76 s
C7101-18-86-3- 40 86
C7101-18-96-3- 40 96
C7101-18-56-4- 40 56 “0
C7101-18-66-4- 40 66
C7101-18-76-4- 40 76
C7101-18-86-4- 40 86 !
C7101-18-96-4- 40 96
C7101-18-116-4- 40 116

T™C 7.10

ToOoOMOCO



55°

NPTHIBSPTHIBSPPE 3 o
- 2P —» T% § |1
NPT(Z):7F & £60°
& BYFH Kf&d=D | FR&d2=D2 | /I#&d3 25EP FREEH1 | EBARYT (#X)
1/16 27 7.894 7.142 6.389 0.941 0.752 7
1/8 27 10.242 9.489 8.737 0.941 0.752 8.8
1/4 18 13.616 12.487 11.358 1.411 1.129 12
3/8 18 17.055 15.926 14.797 1.411 1.129 15.5
1/2 14 21.224 19.772 18.321 1.814 1.451 19.5
3/4 14 26.569 25.117 23.666 1.814 1.451 25
1 11.5 33.228 31.461 29.649 2.209 1.767 31
1-1/4 11.5 41.985 40.218 38.451 2.209 1.767 40
1-1/2 11.5 48.054 46.287 44.520 2.209 1.767 46
BSPT(PT,ZG,R%\RcH ) : F&EMH55°
PR B FH K&d=D | H&d2=D2 NEd3 2P FHEEEH1 | RARS (#EX)
1/16 28 7.723 7.142 6.561 0.907 0.581 7
1/8 28 9.728 9.147 8.566 0.907 0.581 8.8
1/4 19 13.157 12.031 11.445 1.337 0.856 12
3/8 19 16.662 15.803 14.95 1.337 0.856 15.5
1/2 14 20.955 19.793 18.631 1.814 1.162 19.5
3/4 14 26.441 25.279 24.117 1.814 1.162 25
1 11 33.249 31.77 30.291 2.309 1.479 31.5
1-1/4 11 41.91 40.131 38.952 2.309 1.479 40
1-1/2 11 47.803 46.324 44.845 2.309 1.479 46
BSPT(BSP,BSPF,PS,PF,G,RP):5F & f355°
Mg BYTFH K#Bd=D | #42d2=D2 | /IRd3 125EP FEEEH1 | BARY (#X)
1/8 28 9.728 9.147 8.566 0.907 0.581 8.7
1/4 19 13.157 12.301 11.445 1.337 0.856 11.6
3/8 19 16.662 15.806 14.95 1.337 0.856 15
1/2 14 20.955 19.793 18.631 1.814 1.162 19
5/8 14 22.911 21.749 20.587 1.814 1.162 21
3/4 14 26.441 25.279 24117 1.814 1.162 24.5
718 14 30.201 29.039 27.877 1.814 1.162 28
1 11 33.249 31.77 30.291 2.309 1.479 30.5
1-1/8 11 37.897 36.418 34.939 2.309 1.479 35.5
1-1/4 11 41.91 40.431 38.952 2.309 1.479 39.5
1-3/8 11 44.323 42.844 41.365 2.309 1.479 415
1-1/2 11 47.803 46.324 44.845 2.309 1.479 45
1-3/4 11 53.746 52.267 50.788 2.309 1.479 51
2 11 59.614 58.135 56.656 2.309 1.479 57




BERER

hREE "
e AREE P (Hs)| HimAE
(HRC) | (HV) J 2] (OF 5L {ED)
= ol I - P I (P L e
BE | BE |-, Bl | o b D &= 0- gf/mm?
© R 3 ﬁgﬁfégf §§11.Og:ﬁ; ﬁgkﬁoﬁkgf ﬁggkgf ﬁiﬁ\agokgf ﬁ%%kgf B (2)
B 4 FE 3k (1/ 16in)Ek B 4 & sk
68 | 940 | — | — | 856 — 76.9 93.2 84.4 75.4 | 97 —
67 | 900 | — | — | 85.0 — 76.1 92.9 83.6 742 | 95 —
66 | 865 | — | — | 845 — 75.4 92.5 82.8 73.3 | 92 —
65 | 832 | — [(739)| 83.9 — 74.5 92.2 81.9 720 | 91 —
64 | 800 | — |(722)| 83.4 — 73.8 91.8 81.1 71.0 | 88 —
63 | 772 | — |(705)| 82.8 — 73.0 91.4 80.1 69.9 | 87 —
62 | 746 | — |(688)| 823 — 72.2 91.1 79.3 68.8 | 85 —
61 | 720 | — |(670)| 81.8 — 71.5 90.7 78.4 67.7 | 83 —
60 | 697 | — |(654)| 812 — 70.7 90.2 77.5 66.6 | 81 —
59 | 674 | — |(634)| 80.7 — 69.9 89.8 76.6 65.5 | 80 —
58 | 653 | — | 615 80.1 — 69.2 89.3 75.7 64.3 | 78 —
57 | 633 | — | 595 79.6 — 68.5 88.9 74.8 63.2 | 76 —
56 | 613 | — | 577 79.0 — 67.7 88.3 73.9 62.0 | 75 -
55 | 595 | — | 560 78.5 — 66.9 87.9 73.0 60.9 | 74 2075(212)
54 | 577 | — | 543 78.0 - 66.1 87.4 72.0 59.8 | 72 2015(205)
53 | 560 | — | 525 77.4 — 65.4 86.9 71.2 585 | 71 1950(199)
52 | 544 |(500) | 512 76.8 — 64.6 86.4 70.2 57.4 | 69 1880(192)
51 | 528 |(487) | 496 76.3 — 63.8 85.9 69.4 56.1 68 1820(186)
50 | 513 |(475) | 481 75.9 63.1 85.5 68.5 55.0 | 67 1760(179)
49 | 498 |(464) | 469 75.2 — 62.1 85.0 67.6 53.8 | 66 1695(173)
48 | 484 | 451 | 455 74.7 — 61.4 84.5 66.7 525 | 64 1635(167)
47 | 471 | 442 | 443 74.1 - 60.8 83.9 65.8 514 | 63 1580(161)
46 | 458 | 432 | 432 73.6 - 60.0 83.5 64.8 50.3 | 62 1530(156)
45 | 446 | 421 | 421 73.1 - 59.2 83.0 64.0 49.0 | 60 1480(151)
44 | 434 | 409 | 409 72.5 — 58.5 82.5 63.1 47.8 | 58 1435(146)
43 | 423 | 400 | 400 72.0 — 57.7 82.0 62.2 46.7 | 57 1385(141)
42 | 412 | 390 | 390 71.5 — 56.9 81.5 61.3 455 | 56 1340(136)
41 | 402 | 381 | 381 70.9 — 56.2 80.9 60.4 443 | 55 1295(132)
40 | 392 | 371 | 371 70.4 — 55.4 80.4 59.5 43.1 54 1250(127)
39 | 382 | 362 | 362 69.9 — 54.6 79.9 58.6 419 | 52 1215(124)
38 | 372 | 353 | 353 69.4 — 53.8 79.4 57.7 40.8 | 51 1180 (120)
37 | 363 | 344 | 344 68.9 - 53.1 78.8 56.8 39.6 | 50 1160 (118)
36 | 354 | 336 | 336 68.4 | (109.0) 52.3 78.3 55.9 38.4 | 49 1115 (114)
35 | 345 | 327 | 327 67.9 | (108.5) 51.5 77.7 55.0 37.2 | 48 1080(110)
34 | 336 | 319 | 319 67.4 | (108.0) 50.8 77.2 54.2 36.1 | 47 1055(108)
33 | 327 | 311 | 311 66.8 | (107.5) 50.0 76.6 53.3 34.9 | 46 1025(105)
32 | 318 | 301 | 301 66.3 | (107.0) 49.2 76.1 52.1 33.7 | 44 1000(102)
31 | 310 | 294 | 294 65.8 | (106.0) 48.4 75.6 51.3 327 | 43 980 (100)
30 | 302 | 286 | 286 65.3 | (105.5) 47.7 75.0 50.4 313 | 42 950 (97)
29 | 294 | 279 | 279 64.7 | (104.5) 47.0 74.5 49.5 30.1 | 41 930 (95)
28 | 286 | 271 | 271 64.3 | (104.0) 46.1 73.9 48.6 28.9 | 41 910 (93)
27 | 279 | 264 | 264 63.8 | (103.0) 45.2 73.3 47.7 27.8 | 40 880 (90)
26 | 272 | 258 | 258 63.3 | (102.5) 44.6 72.8 46.8 26.7 | 38 860 (88)
25 | 266 | 253 | 253 62.8 | (101.5) 43.8 72.2 45.9 255 | 38 840 (86)
24 | 260 | 247 | 247 62.4 | (101.0) 43.1 71.6 45.0 243 | 37 825 (84)
23 | 254 | 243 | 243 | 62.0 100.0 42.1 71.0 44.0 231 | 36 805 (82)
22 | 248 | 237 | 237 61.5 99.0 41.6 70.5 43.2 220 | 35 785 (80)
21 | 243 | 231 | 231 61.0 98.5 40.9 69.9 42.3 207 | 35 770 (79)
20 | 238 | 226 | 226 60.5 97.8 40.1 69.4 41.5 19.6 | 34 760 (77)
(18) | 230 | 219 | 219 — 96.7 — — — — | 33 730 (75)
(16) | 222 | 212 | 212 — 95.5 — — | 32 705 (72)
(14) | 213 | 203 | 203 — 93.9 — — | 3 675 (69)
(12) | 204 | 194 | 194 — 92.3 — — | 29 650 (66)
(10) | 196 | 187 | 187 — 90.7 — — | 28 620 (63)
(8) | 188 | 179 | 179 | — 89.5 — — | 27 600 (61)
6) | 180 | 171 | 171 — 87.1 = — | 26 580 (59)
(4) | 173 | 165 | 165 - 85.5 - — | 25 550 (56)
(2) | 166 | 158 | 158 — 83.5 — — | 24 530 (54)
(0) | 160 | 152 | 152 | —— 81.7 — — | 24 515 (53)

¥ 1 (1)1MPa=1N/mm?=1/9.80665kgf/mm?
QFRFES()FNAFRIER , NHSE.




CHN HEVHRELYKERMML WTHEVRASLAY LERHEWGT " hHESH BT X B

N:‘ OBV 108+ 0v8+ [ ooclonp
Sl | L Jsorfson fse- fos- [z9- feo- fos— [sv- feet | oo | e [0 [0 [0 o [0 |02+ 0ok |89+ 89+ [89+ |SEIHSELH[SE 14+]08T+HOETHOETH 08 L |SE9+] 0601+
991-lsr— |ss- |21- |zz- |0 |oi- |sl+ |s+ 0STHSS I+{26+ |€9+ |07+ [€8+ 09+ (59 L] LE L+|8OL+|06T+HZET+H 86 1+ 08V-+{SBE+ LLE+{0 7+ (0774 092+ | oey [0y
£oL- 069+/565+| 0101+
0s1- 007+/007+[ 089+ 10, ]cee
Dl | L leeefes- s fer- foa- fes- v o fezk | o0 o o o |0 el 8Lk [e9+ 29+ [294+ |STIHSTLH(STLH|0IZHOIZ+01Z+ g9+ 0rS+ 0L 6+
prily- 15— |ot- loz— |0 ot |z1+ |+ OSTHOV L+{68+ |5+ |96+ [SL+ |G+ |LS 1+ |6LL+[B6+ |S9THY LT+{T81+|OFP-+OSE+ 66T+ 09+ 096+ 009+ [ceole o
/8- 0654|005+ 0£8+
0s1- 08E+[08E+ 075+ |5 cloaz
Sl | L Ieeeee e (99 [es- fes v fos- |z | o2 [0 [0 o o |0 |zie |k |95+ 95+ [95+ |OLLHOLLHOL 1+]061+061+{06 L+]0r+ 09w+ 0 1+
9zi-l9g- |r- ri-Jsz- |0 |6- |91+ |+ OLT4+|0C 14| 18+ [c5+ |26+ |69+ |67+ |2€1+[801+|88+ |0vT+|1614[29 1+|00v+|0ze+ |1 L2+ [00e+|00E+| 08Y+
0sz|0se
v/- 015+ |0sr+| 069+
I-eLi- 08+|08C+| 02h+
cTl-|s9- sor+|see+|s09+ |O°¢|5%¢
C || L [estfeot-fes- for- fog- [1s— |ov— |ze [ee |2 |zl 50 [0 [0 |0 [0 |st+ |14 |05+ [0+ [0S+ |001+00L+001+ 0L 1+0Z 1+0z L+[092+[092+ 088+ [crzloog
cli-lgo- lec— - |pi- ez o |e- et |s+ SOLH(SLIHTL |97+ 62+ 19+ |pt (2214|964 |62+ |Sle+|esi+|9v 14 |sSe+|58T+ 2hes sy lsser|soot
1S1-901- 0V T+ OV e+ Oves
501-|09- B N N
VRIS 0E2+|0C2+| 0LE+
1SL-|g6— |g5— ose+|ose+|osre |084O%!
| festsei(os (89~ 9~ fes- [sv- o |ee- (82 |1zt | n lemyz 0 [0 [0 |0 |0 |pl+ frid [evt vt fert (584 o8+ [s8+ |syLtlsy L[Sy LH0IHOIEH 08T oo 00y
6l1-|ss- |os- sz [os- [c1- Joz- [0 |s— |ei+ |r 09 14{0014+[€9+ |[Ov+ [T+ [rS+ |65+ [901+[s8+ [89+ |S8L4+|8¥ I+|5T1+|508+H|SPT+|80e+|0se+ |01 e+ | Oprs
e AT 002+ 002+ 092+ [+ oz
L01-|22- |gv- 095+ 008+ 02+
9L—|9z1-[l0l-|9/- 08 1+[081+[0v%+ = o0,
_ lei=lis- |99 v Jss- s [sv- |se- [se- [se- [sz- fei- |, | o fo [0 |0 jo |0 [ei+ [oue fgek ook 96+ 2ok 24 [e4k 0214081+ 02 L+ ozet 52t 0BEt
ovi—|eli-|e6= [eZ= [vz- loe- |ot- 91— |0 |o- |oi+ |v+ 07 4|8+ |pS+ |Se+ |2z |7+ |vet |06+ |2+ |85+ |65 14|92 142014+ 092+ 202+ v £ 1+ (02 14102 L] 0Z2+
Li-{ez- |8s- |ge- ols+|sst+ o9er |201]08
Ci—|v6- |8s- |9 05 1+]06 L+ 002+
_ b= |- |gy- fze- |is- fsv- es- fee- joe- rz+ fiz- |5t | o, 2[00 |ot 01+ |0 foi+ [OL+ 08+ |08+ |08+ 09+ 09+ 09+ [00L+/001+{001+0LTHrEEH 0ZE+ 08 |59
0I=[58~ |- |09~ |ic- 92— |6- |ri- |o+ |+ |6+ |v+ OZU+L+ |97+ 05+ |6+ (Or+ |6+ (94 09+ |67+ 7S LH{90L+ 06+ |02+ L1+{97 14+{07 L+]07 L+ 061+ [ 7|
o~ |ss- |zv- |og- 092+ 7 L2+ 0les
08— (0= 0EL+[0E 1+[08 L+ [T
_ o= |sv- |6s- Jos- [zv- |z |ee- |sz- [sz- |oz- [ei- e+ | |oofo o o o o |6+ |6+ fso+ [sor |sT |05+ |05+ [0S+ |08+ 0B+ 0B+ |0gT+|z6 i+ 08T+
o= [y |ve- |sz- |z1- je- |a- [ei- o |r- |+ |es 00LHEo+ |68+ |5+ |91+ v+ (T4 [p9+ [0S+ |Lb+ [CLIH6S+ 5L+ 08Uy 1+{81 L[0T 1+/0C+[02T+ | ]
15— |6 02T+ (28 14| 0sT+
Z7- 9= |rs- o vz
95— |ov- lee— |gv- iy~ |se- 16~ (82~ [rz- fiz- |20 |si- |t |o ooz [0 o+ [0 Jo |0 | e+ |05+ |0+ 0o+ [or+ [ov+ (0v+ [s9+ |59+ [S9+ [OLLH{OLL+|09 L+
M? vS— | |z- |oz- |pi- fBi- |2- - fo fp- [o+ [o+ Y8+ oo+ (e84 LT [El+ 80+ 00+ |5+ |4 S8+ L6t |EL+ 19+ |6 LHLLIHBEH [P8L+[TILH v | [
y- |ec—
96 - 8l |vi
8e- |py- 6e- |ve- loz- |9z- |sz- |oz- |si-|si- zi- 6= | _ | _lo o Jo o |o |owr o+ |91+ [91+ |91+ |ce+ |eet [ee+ |os+ |os+ |05+ |se+ |se+ |05 1+
5 j9g- | |ie- or- ue- fsi- o= fe- Jo |ro for for (6T [T T oz ek [cok [8ik Ui ok [k ek frer |cok [sov 6o+ |05+ |0zlHeet |Lok [o91H[sel+ 0z [ o)
ge-
o Ze- (82- 2= |1e= [61= [9i= [Si- [Ci= [0l [Z= | _ |10 [0 [0 |0 [0 [o+ [5+ [+ [ci+ [Ei+ [ST+ [Sc+ [Sc+ |0v+ [Ob+ [Ov+ 08+ |08+ [0SI+
g lzz- | 7 lzi-let-Je- foi- - Jzi- o le= s+ Jek [T [SVTeck |oet |co |Si4 |6+ |0g+ v+ |56+ |82+ gt |19+ |20+ |ov+ |86+ |92+ |9+ |sel+|9ti+| g0zt [OF |7
9e- L= | _ |4&- [s¢- |02 |- |91 [6l- [ei- [6= (6= [9- |oz [,= [0 [0 [0 [0 [oF [+ |+ [0l+ [OL+ [OL+ |02+ [0+ [0+ 06+ 05+ 05+ 0L+ |04 [OVEF [o |
vz |61 - Gl-Jti- Js— l6= |- |5 o |- |e+ |o+ v+ |oc+ |81+ |zi+ |8+ |91+ [gi+ |so+ |co+ |si+ |05+ |se+ [ze+ |8+ 09+ |sv+ [8Li+|00L+| 881+
0s- (82~ | _ |72~ [0z~ [9L- ¢l [vi- 0L~ [¢l- (8- [Ol= [9- | |0 [0 |0 [0 |0F [gk [of |o+ |9k |9+ [viE [l 71+ (00F [0GF |00+ 09+ 09+ [Vl [ |
0c_ |sl- pi-lot- lo- lo- |v- |p— Jz- [z= [0 o Or+ |sze v+ o+ |9+ [ci+ |8+ |oz+ |91+ |1+ |6e+ |set vzt |09+ |sv+ |ret looi+|ss+ |osi+
IX |20 [ ZL | 2S | 29| Zd | 9d | IN | ON | ZIW | O | 21 | 9 | ZST|9ST|OWH| 6H | 8H | ZH | 9H | 2D | 99 | 84 | 24 | 94 | 63 | 83 | 23 |010] 6a | 84 |010| 60 | 01d | S £ ¥
(ww)
wr T} EE A E2a:]
RN E

EVHAS LY WU SHY R




WA HEVHELAYEFEMGY  HTHBVHASLYKEREMT  hEBMHhE ¥

Zelr 5691566 | oclooy

Sl D s fore | feew [see o [od | oo | log 5|SSU-|26- [€9- ov- | sz~ 09— |zv- |s91-[1e1- |80t |02~ |zez-| 861 -|58E | 2e-|osy - |ove-

9Z1+| 8014 08+ o+ |0o+ |av+ |ze+ o o fo |o Jo |og- |0z |89 |89- |89~ |sel-|sel-|sEl-|0eL-|0EZ -6 [SIe| I
9914 orv |09~
Vil 075~ 028 [y oo
b o] D Lesieleen [zek | e [z [ve (o s o s Leg (07t - 68 |45 98- |- |ps- |ev- fisi-|6ti- |86~ |s92-|viz-|281-|0se-|66z-|00 - |oBs -
80L+| 86+ | €L+ /o4 |ov+ |ov+ |ez+ o o Jo |0 Jo |si- |8l |e9- |z9- |29 |sei-|sTi-|sTl-|01Z- 01005~ [07L |oocle
vy L+ 09¢ - |009 -
86+ 097049 | elogz
b | o osese ver | foek foz v fur oo |0 o foy 5080 18 |25 [ze- |€2- v |ov- |r€1-|801- |88~ |ovz- |61~ [z9L-|0zs- |12~ |oge-ovs -
e+ |88+ |99+ zs+ |ev+ |9+ e+ o Jo fo jo [0 |zt- |zt~ [9s- |95~ |95~ [otL-|ott-|ot1-|061-|061-[08r =[O | ol
9zt 00¢ - |08 -
o L+| 8+ G6e-[ces -
691+ el L+ o8z |oer- |5
C| | Joswoss fosk [uek | o [k v (v | oo o st s o= (- |0z |vr- [se- [gzt-{96- (64 [s12-|esi-|9v1- 582~ |2ve-[sie- S6v|errloo
65 14| 6014 62+ | 09+ 9p+ |Le+ |ee+ | et o Jo Jo lo o lst-|st- |os- |os- |os- |oot-|oot-|00t-|0zL |0zt~ |09z - |oge -
T\ Lt 58— [56r—
1S 1+|901+ orz—|ore - [2%¢|%8!
97 14| 801+ |89+ 0ee-[olv-
LZ1+|se 1+ s+ osz-|otg- 842!
| [reoons[sor [evt | zza | [tk sie e e+ | oo | ol o [00L-|€9- ov- |sz- |81~ |eg- |ze- |901-|e8- |89 |s8L-|8ri-|5T1|sve-(80Z-[oLe~[08E |0 [
6514/ ST14| 06+ |89+ |25+ or+ |ec+ |se+ | Lzt o lo lo o |o |vi-|vi- |ev- |ev- |ev— lss— |s8- |s8- |svi-|svi-|oiz-|osz-
ZCi+| 6t |59+ 00€-]09¢-
Lr14+] 114|884 00z |09z [*7+|%¢
VUL | YOI+ 62+ |5+ £92-|2ee | oo

_ lovue|szie|tor|ose |se+ [sor | sor (et fev [er le+ |, o ls legs |48 |75 [sE- |2e- [si- |ve- |z Jos- |1L- |es- |ssi- |9zt~ |c01-| 0z |rs1-|ogL- |ove -

VCI+| Lo+ | L+ |G+ |65+ |Sv+ | 8S+ | se+ |se+ |Gz+ |8+ o lo Jo lo Jo |ei-|zi- |es- |oe- |9e- |ez- |ez- |zz- |ozi-|ozL-[z5c-[z08-
ovl+|eLiH S6t st o0s1-|ozz-[°!)08
20U+ |Si+ |65+ |evr v |viz-

_ [zte|ver [8ir 29+ |zer |0k | 0ok | Lk Lk fzx ov | o |o o gor |T4- |97 [08- [61- [e1- [6z- [s2- |9z~ |09~ |6r- |pel-|901-|06- |psL-|o¥L-|osi-|oog-|O® |57
18+ |99+ |5+ |Lv+ | IS+ |66+ | €6+ | 0B+ |2+ |12+ |Si+ o |o Jo |o [0 ot~ |ot- |oe- |og- |og= |09 |09~ |09~ |00L-[00L-[vIC-[r9T-|o oo
901+| 58+ |2/t |09+ orL-|0s1-
0L+ |vS+ 261-[eve- o [0y

lost ok |evt |ve+ |9zt |14 |21 |6+ e+ |+ |+ || _ | lz9- |es- |se- |ot- |11- |sz- |oz- [po- |os— |tv— |eit —jes- |sz- |eri-|sti-|ost - |osL-
09+ |av+ |65+ |06+ |zvs |set |ser |se |0zt |si+ i+ [CLFIBF 1SST g g o o |0 |e- |6~ |sec- |sz- |sz- |os- |os- |os- |os- |os- [z8l-|zEe- o loe
9L+ |vo+ ozl-|osL-

7or [ov+ |7+ h

L2+ |19+ |v5+ |oe+ [mg+ 2ot |Sit |G+ |8+ [8+ o+ o+ |2 leon [opg [25- |86~ |le- |et- |6- oz |91~ |es- |1p- |ee- |26~ |e£- |19~ |211-[86- [291-|zie- oe |re

o+ [Tt v+ |Lv+ [Se+ |82+ |VT+ | 1T+ |LL+ |SL+ | 1L+ o lo Jo |o Jo |z= |z= oz |oz- |oz- |ov— |ov— |ov- |s9- |s9- |oti-|ogi-

B vz |81

[9+ |v5+

v+ 8l |vt

o5+ |ee+ | |ser |ece |81+ |eia |ei |20 |ev | | | || - ler— |ze-|si- |t 8= |z1- |vi- |ev— |ve— |zz- |sz- |6s— |os— |ee- |cz- |sei-|ssl-

ort |t se+ |ve+ |6zt €2+ |02+ | 8L+ |si+ |2+ 6+ |6 1FSFITF lo oo o o o |o- |9 |91 |91 |91~ |ze- |ee- |ze- |os- |os- [s6- |osi-| ol

IS+

vER [8Th | _ [se+ (oLt [SUk [OLF |ObF |9+ [9F |1+ |tk |, || |96~ (€0 |5i- 8- |9- [vi- |11~ [se- [8C- [cc- |19~ |Zr— [Ov- 9= 29— [9Li-|98L-[ |5

vt | Lo+ ze+ |8+ |ve+ 614 |94 |S14 |21+ o1+ |o+ o Jo Jo lo lo s- |s- |ei- |et- |e1- [se- |sc- |sc- |ov— |ov- |os— |osi-

ST (60 | _ |61+ [Si+ [Tl 8+ |8 |#+ |vF 1 |[F |0 |p3 |ege |06~ |81 |C1- [8- |S= [¢i- 8= (8- [ce- [8l- [05- [se~ |ce- [09- |8¥~ [001-|0ZI-[, g

9e+ | le+ 2+ |ezt ozt |91+ |t |z |6+ |6+ |9+ o Jo |o Jo lo |r- |¥- |ot- |ot- |ot- |0z~ |oz- |oz- |os- |os- |oz- |ovi-

Oz+ [8L+ | _ [vir [0+ [ vk vk | GF [2r [0 [0 o |oo |ge 567 [PI-[01- [9- |v- [8- [9- [0¢- [91- [ei- |6 [8c- [ve- [Sv- [ve- [sa- |9 |

9T+ |vot oz+ |ot+ |zi+ |Ol4+ |8+ |8+ |9+ |o+ |v+ o o lo Jo lo le= lz= Jo- lo- o= i |vi- |vi- loz- |oz- 09— |ovi-

9x | on | 91 | 95 | 91 | od | OU | .GU| 9w | GWw | 94 | 94 | /s[ | oSl | GsI | 64 | 84 | ZU | 9U | U | 9b | ob | & | 4 | 9 | 6° | 80 | 2o | 6P | 8P | 60 | 64 | = £ ¥

(ww)
wr o) & Al EA
ISPV 6=y

EVHSLYWHGSHE R



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	2.pdf
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15

	3.pdf
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

	4.pdf
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23

	5.pdf
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18


